

SUTHERLAND DISTRICT CRICKET CLUB, INC

56TH ANNUAL REPORT & BALANCE SHEET 2020-21



SUTHERLAND DISTRICT CRICKET CLUB 4TH GRADE PREMIERS 2020-21

Back row: Jarrod Graham, Hayden Lindsay, Dominic Michalak, Tom Straker, Zac Philipson, Luke Ritchie, Tavish Humphreys-Jones Front row: Pat Driscoll, Luke Hawksworth, James Hawksworth (capt), Liam Hehir, Christian Bennett.

SUTHERLAND

DISTRICT CRICKET CLUB

INCORPORATED

56th ANNUAL REPORT and Financial Statements

SEASON 2020-21

FOURTH GRADE PREMIERS

FIRST GRADE T20 QUARTER-FINALISTS

NOTICE OF ANNUAL GENERAL MEETING

You are cordially invited to attend the 56th Annual General Meeting of Sutherland District Cricket Club, to be held in the Clubhouse at Glenn McGrath Oval, on Tuesday 7 December, 2021 at 7.00p.m.

BUSINESS

- 1. To confirm the minutes of the 55th Annual General Meeting.
- 2. To receive and consider the Annual Report of the Management Committee and the Financial Statements
- 3. To elect the Patron of the Club.
- 4. To elect the office-bearers of the Club and the other members of the Management Committee.
- 5. To elect one (1) delegate to the New South Wales Cricket Association.
- 6. To elect two (2) delegates to the Sydney Cricket Association.
- 7. To elect an auditor or auditors.
- 8. To deal with any general business.

Visitors are most welcome, but please note that only playing and non-playing members who are financial as at 30 April 2021, plus life members, are eligible to vote or nominate for office.

DAVID CUSH Secretary

18 November 2021

PHOTOGRAPHS

- Front Cover: The 4th Grade Premiership team after the presentations at Hurstville Oval (photo courtesy of Malcolm Trees)
- Back Cover: Zac Philipson, winner of the Ted Cotton Memorial Award for Players' Player of the Season (photo courtesy of Malcolm Trees)
- Inside Front: 4th Grade Premiers
- Inside Back: Tom Straker takes the final wicket of the 4th Grade Final and the celebrations commence (photo courtesy of Malcolm Trees)

OFFICE BEARERS

Patron

Bob Every

President Mathew Duff

Secretary David Cush **Deputy President** Paul Burg

Treasurer Tom Iceton

Committeemen

Roy Amos, Stuart Clark, Shane Duff, Brian Hall, Nathan Whittingham

Club Coach

Daniel Rixon

Assistant Coaches

Paul Burg, John Dyson, Adam Fleming, Scott Pickering, Steve Rixon, Jake Wilson

Poidevin-Gray Shield Coaches

Mathew Duff, Phil Weatherall

AW Green Shield Coach

Jake Wilson

Chairman of Selectors Phil Weatherall

Delegate to New South Wale	Tom Iceton		
Delegates to Sydney Cricket Association, Inc.		Evan Atkins, Tom Iceton	
Honorary Auditor		Adrian Craig	
Life Members, NSWCA	John Dyson (2002), Bryan Hazell (1977), Tom Iceton (2005), Glenn McGrath (2008), Steve Rixon (1996)		
Life Members, SCA	Tony Clark (2009), David Givney (2004)		
Life Members, SDCC (* Deceased)	Evan Atkins (2010), Grahame Barr Matthew Bradley (2015), Mark Ch Geoff Coleman (1998)*, Julia Coote Alan Cramond (1985), Barry Davise Mathew Duff (2009), John Dyson (Geoff Glover (1994), Bryan Hazell Tom Iceton (1988), Phil Jaques (201 Glenn McGrath (2018), Keith Mea Lee Prescott (2019), Steve Rixon (2 Kevin Tuite (2002), Phil Weatheral	apman (2015), Tony Clark (2002), e (1988), Ted Cotton (2000)*, on (1988)*, Bob Duff (2005), 2018), David Givney (1997), (1972)*, Matthew Hughston (2017), 15), Brett Johnson (2006), dows (2003), Harry Peters (2006)*, 2010), John Smythe (1972),	

Playing Members

Joel Almond	Cameron Goodger	Sam McCulloch	
Nick Amos	Fletcher Graham	Luke Mecham	-
James Arnold	Jarrod Graham	Dominic Michalak	1
Lachlan Ball	Justin Green	Steve Milliken	
Ronak Bedi	James Hawksworth	Lachlan Milmlow	
Christian Bennett	Luke Hawksworth	Javed Mohammed	
Jarryd Biviano	Liam Hehir	David Niumataiwalu	-
Tim Brandt	Dylan Holdstock	Richard Nolan	1
Reaf Bremer	Michael Holmes	Will Norris	
Jayden Brown	Josh Horner	Jake O'Connell	(
Richie Bull	Tavish Humphreys-Jones	Flynn Parker	
Ethan Deal	Josh Johnston	Cody Philipson	
Tom Doyle	Steve Kourouche	Zac Philipson	
Pat Driscoll	Luke Lawless	Brendon Piggott	
Ben Dwarshuis	Patrick Leate	Andrew Ritchie	
Daniel Fallins	Ben Letton	Luke Ritchie	(
Tushaar Garg	Hayden Lindsay	Pushpinder Singh	

Non-Playing Members

Roy Amos
Robert Archibald
Linton Ball
Ray Brennan
Paul Burg
Col Christie
Graham Chudleigh
Stuart Clark
Adrian Craig
David Cush
David Dillon

Peter Doherty Luke Dudman Shane Duff Gerry Dwarshuis Bob Every Greg Fitzgerald Nathan Fitzgerald Adam Fleming George Gazy Ron Gray Mark Green Lisa Griffiths Brian Hall Jamie Hall Geoff Hilzinger Greg Horner Ken Hudson Brett James Bob Jordan Lindsay Joyce Alex Mann Darrell Mann Bob Manning Bob Mills Grant Murphy Aaron Phillips Scott Pickering Mark Preddey Matthew Probert Daniel Rixon Mark Vandermaal Jake Wilson

Steve Smith Tom Straker Will Straker

Shaun Thornton Jackson Turner Ihsan Ul-Haq Tom Vandermaal Will Vandermaal Alex Watkiss

Callum Weatherall Kieran Weatherall Jamie Weaver Zac Whetters

Nathan Whittingham

Ben Williams Chris Williams

Cadet Members

Jared Ball Luke Cutcliffe Lyndon Coward Alec Dobson Sam FitzGibbon Ashton Frazer Kobey Freer Lachlan James Sam Niumataiwalu Aidan Rider Lachlan Ritchie Saul Spyrides Jake St.John Eden Winney

To the members of SUTHERLAND DISTRICT CRICKET CLUB, INC.

The Management Committee has much pleasure in presenting for your consideration and adoption the Fifty-Sixth Annual Report and Financial Statements.

SEASON SUMMARY

This was a very different season to what we consider normal. The lower grades started at the end of October, there were no catered afternoon teas, umpires carried the match ball onto the field in a plastic bag and did not hold bowlers' caps, players were not allowed to use saliva or sweat to shine the ball, everyone had to supply their own drink bottle and food and at times the social distancing rules prevented all 11 players from being in the dressing room at the same time. In spite of all this, the season was completed with only one COVID-related disruption (the abandonment of day two of round 8). In this different world in which we found ourselves, it was still an enjoyable season and everyone involved in administration, umpiring and playing should feel satisfied that we made it to the end!

The undoubted highlight of the season was the premiership won by 4th Grade. There were 12 L/O and three two-day matches scheduled. Round 1 was washed out and Round 8 was abandoned due to COVID (both L/O matches). Two of the three two-day matches had day one washed out, with day two becoming an all-day non-L/O match. In those matches, we batted for 50 and 62.4 overs. In the only two-day match with play on both days, we declared after 48 overs in pursuit of an outright win. Thus, we went into the finals series (two-day matches with a minimum of 96 overs each day) having batted for no more than 62.4 overs in an innings in the entire season! The qualifying finals weekend was completely washed out and we hosted the semi-final at Glenn McGrath Oval against Sydney University. After we sent Uni in, they declared at 4/315 with 17 overs left on day 1. Full details are set out in the 4th Grade report following, but the team batted for 122 overs to hold on for a remarkable draw and proceed to the final! The final was a war of attrition on a difficult pitch, but our boys prevailed amid scenes of great jubilation. It was our 10th premiership in 4th Grade, more than any other club.

1st Grade had a season of near misses that could have been much better. 2nd Grade was an inexperienced side that will have learnt a lot from the experience they gained during the season. 3rd Grade were in the hunt for the top six for much of the season, but fell away towards the end. 5th Grade struggled after three seasons of being around the top of the table. Poidevin-Gray Shield suffered from the points imbalance between 50-over and 20-over matches, but should be a better side next season. AW Green Shield also struggled but the boys once again enjoyed themselves and the competition continues to be a good introduction to grade cricket for our young players.

TEAIVI PUSITIUNS					
	2020-21	2019-20	2018-19	2017-18	2016-17
Club Championship	15th	14th	9th	16th	17th
First Grade	13th	16th	6th	4th	13th
Second Grade	19th	15th	8th	20th	20th
Third Grade	11th	16th	9th	20th	19th
Fourth Grade	PREMIERS	7th	11th	14th	18th
Fifth Grade	15th	3rd	PREMIERS	4th	9th
Poidevin-Gray Shield	7th in Conf	6th in Conf	19th	14th	5th
A.W.Green Shield	18th	18th	16th	9th	11th

TEAM POSITIONS

MILESTONES

A number of notable career milestones were achieved this season:-

Chris Williams	350 matches in all Grades	(3rd player to do so)
Daniel Fallins	200 matches in all Grades	(47th player to do so)
Tom Doyle	200 matches in all Grades	(48th player to do so)
Tom Doyle	100 matches in 1st Grade	(35th player to do so)
Tom Pinson	100 matches in 1st Grade	(36th player to do so)
Chris Williams	10000 runs in all grades	(5th player to do so)
Tom Doyle	6000 runs in all Grades	(27th player to do so)
Jarryd Biviano	4000 runs in all grades	(55th player to do so)
Jarryd Biviano	3000 runs in 1st Grade	(20th player to do so)
Tom Doyle	3000 runs in 1st Grade	(21st player to do so)
Ben Dwarshuis	2000 runs in 1st Grade	(30th player to do so)
Callum Weatherall	1000 runs in 2nd Grade	(48th player to do so)
James Hawksworth	1000 runs in 4th Grade	(25th player to do so)
Daniel Fallins	350 wickets in all Grades	(15th player to do so)
Ben Dwarshuis	200 wickets in all Grades	(55th player to do so)
Nathan Whittingham	150 wickets in 5th Grade	(4th player to do so)
Chris Williams	150 catches in all grades	(12th player to do so)
Daniel Fallins	100 catches in all grades	(25th player to do so)

Congratulations to all players on these outstanding achievements.

CLUB RECORDS

There were 4 Club Records broken or equalled during the season:

Chris Williams	80 matches captained in 1st Grade	(Equalled record held by John Dyson)
Luke Hawksworth	40 matches played in Poidevin-Gray Shield	(Record for most matches played in P-G Shield)
James Hawksworth) Zac Philipson)	137 for 9th wicket partnership vs Sydney University (4th Grade semi-final)	(4th Grade Partnership Record)
Ben Dwarshuis) Ethan Deal)	62 for 6th wicket partnership vs Randwick Petersham (1st Grade T20)	(1st Grade T20 Partnership Record)

NORM O'NEILL CUP

Following the passing of Norm O'Neill towards the end of the 2007-08 season, Sutherland and St.George resolved to play for the Norm O'Neill Cup each season in first grade matches only (excluding finals and T20 matches). In addition, it was decided that the player of the match would be awarded the Norm O'Neill Medal, with the decision made by the umpires.

This season, we played St.George in a Limited Overs match in Round 5 at Glenn McGrath Oval. St.George won the toss and batted first, making 207 off 44.5 overs. The main wicket-takers were Andrew Ritchie (3-33), Ben Dwarshuis (3-35) and Daniel Fallins (3-40). In reply, we were dismissed for 81 off 31 overs in a disappointing effort. Ben Dwarshuis top-scored with 23. Tom Engelbrecht (St.George) won the Norm O'Neill Medal for scoring 58 and taking 2-40.

COACHING AND PRACTICE FACILITIES

This season, Daniel Rixon was appointed head coach for the fifth season, with Paul Burg, Adam Fleming, Scott Pickering and Jake Wilson as assistant coaches. In addition, under the Australian Cricketers Association Premier Cricket scheme where the ACA funds the employment of ACA members, John Dyson and Steve Rixon were appointed as ACA coaches to help with the batting and wicketkeeping respectively. We are fortunate to have former players filling coaching roles within the club; it helps build a good culture and the experience they pass on is invaluable. Mathew Duff and Phil Weatherall were joint coaches of the Poidevin-Gray team, while Jake Wilson again coached the AW Green Shield team.

The nets at Glenn McGrath (along with the centre pitch square on the main oval) were disappointing this season, resulting in Sutherland Shire Council engaging the services of Green Options, a leading sports turf maintenance organisation, as consultants for the ongoing pitch preparation for the main oval and practice pitches. Considerable work was done at the end of the season and has been ongoing during winter in order to improve the standard of pitch preparation.

REPRESENTATIVE PLAYERS

Steve Smith	-	Australia, NSW
Ben Dwarshuis	-	Sydney Sixers

Steve Smith

Steve played the four Tests versus India in the home series. He scored 313 runs at 44.71, including 131 & 81 in the 4th Test at the SCG. His Test career now stands at 77 Tests with 7540 runs at 61.80 – the second highest average of all players who have scored over 2000 runs in Tests.

He also played 3 ODIs during the summer for 216 runs at 72.00, with a highest score of 105 at the SCG, and 3 T20Is for 82 runs at 27.33. He played three Sheffield Shield matches (scoring one century) for NSW.

Ben Dwarshuis

Ben played 13 matches for the Sydney Sixers in the BBL and took 24 wickets at an average of 16.79, with a strike rate of 11.3. He took 3-37 in the final when the Sixers won their second successive title.

SOCIAL MEDIA

The use of our Facebook, Instagram and Twitter pages continued to be very successful, again largely due to the efforts of Jarryd Biviano, with assistance from Ethan Deal. We continued with

the popular "This Week In History" feature, posted each Friday on the website and Facebook & Instagram pages. The various social media addresses are as follows:

Website – { HYPERLINK "http://www.sutherlanddcc.com" } Facebook – { HYPERLINK "http://www.facebook.com/sutherlanddcc" } Twitter – @sutherlanddcc Instagram – @sutherlanddcc

SUTHERLAND SHIRE COUNCIL

The Club is grateful to Council for its continued efforts in maintaining the three grounds we play on. We would like to thank each groundsman – Dean Leigh, Justin Bertovic and Scott Masman – for their preparedness to improve each ground and in particular for their efforts to enable us to be able to play when rain intervened.

We would particularly like to thank James Jackson (Team Leader, Sport & Community Services), Troy Harrison (Coordinator Sports Fields, Parks Operations) and Renee Bennett (Sport Services Officer) for all their assistance throughout the season.

NSWCA, SCA and NSWCUA

The Club is once again grateful to the staff of Cricket NSW for their guidance and assistance throughout the season. Roy Formica (NSW Premier Cricket Manager) and Bruce Whitehouse (Manager NSW Pathway Competitions) in particular were always available to assist us as required and are always looking for ways to improve the competition and standard of grade cricket in Sydney.

We are also most appreciative of the efforts of the NSW Cricket Umpires & Scorers Association who officiate in our matches each week. The standard remained high throughout the season and we appreciated the feedback they gave us.

DELEGATES TO NSWCA AND SCA

The Club's NSWCA delegate was Tom Iceton, while the SCA delegates were Evan Atkins and Tom Iceton. This was Tom's 37th year as a club delegate to NSWCA/SCA – covering 33 years as a club delegate to NSWCA and 35 years as a club delegate to SCA. Tom is now the only club delegate to the SCA who has been a delegate for all of the 35 years that the SCA has been in existence. It was Evan's tenth year as a delegate to SCA. In addition, Evan served his eighth year on the SCA Committee of Management.

THE LOCAL ASSOCIATIONS

The Club appreciates and acknowledges the work done by the Sutherland Shire Cricket Association (President Noel Taplin and Secretary Mike Mooney) and the Sutherland Shire Junior Association (President Chris Hewitt and Secretary Terry Spyrides). We enjoy good relationships with both local associations and they continue to be a good source of players for the Club. In particular, we are grateful to the SSJCA for their assistance with the Tradies Development Squad.

The Club continues to be focussed on providing pathways to local players and juniors into grade ranks and beyond. The trials are advertised on the website and through the local associations and we support and encourage as many shire cricketers to attend as possible.

SPONSORSHIP

We are again very appreciative of all the sponsors that support our Club – without your support we would not be able to provide the level of facilities and support to cricket in the Shire as we do.

Sutherland District Trade Union Club ("Tradies") continued to be a major sponsor, being sponsors of both our Poidevin-Gray Shield and AW Green Shield teams. They also continued their sponsorship of our Development Squad for Under 13 & Under 14 representative players. This was the 16th year that Tradies have been a sponsor. Their ongoing support of the development of elite youth cricket is most appreciated and we look forward to their continued support.

Sutherland Mazda were again a major sponsor, with their logo on the front of all playing, training and casual shirts. This continues to reflect a great relationship that has developed over the past 15 years and the fact that club members, family and friends have continued to actively support their business. We are most grateful to Phillip Diab (Dealer Principal) and Matt Burgess (Sales Manager) from Sutherland Mazda for their ongoing support.

Former player Daniel Simpson continued his sponsorship through his business Freshbuilt Constructions, a local building business. Another former SDCC player Bob Mills also continued as a sponsor through Torquay Hotel Hervey Bay. We are grateful to Daniel and Bob for their continued support – it is great to have former players being involved with the Club.

Miranda Hotel continued as a sleeve sponsor this year and we thank licensee Nathan Van Hoeck. Lanham Financial Advisory, JB Metropolitan Distributors, Real Play and JD's Bar & Grill Cronulla also continued as sponsors of the club this year. Jubilee Sports Physiotherapy continued as an associate sponsor providing discounted physiotherapy services to our players. X-Golf at Caringbah came on board as part of our Player of the Round awards.

We thank all our sponsors and ask that all members support their businesses wherever possible.

TED COTTON MEMORIAL AWARD FOR PLAYERS' PLAYER OF THE YEAR

This award was inaugurated in 2001-02. It perpetuates the memory of Ted Cotton, a life member of the Club who passed away in March 2002. It is voted on by each team after each round, on a 3-2-1 basis. Previous winners of the Award are listed in the Records section of the Annual Report.

This season, Zac Philipson comfortably won the award by seven points on 21 points from Chris Williams and Tom Straker on 14 points.

The full pointscore for 2020-21 was as follows:

- 21 Zac Philipson
- 14 Tom Straker, Chris Williams
- 13 Nick Amos, Daniel Fallins, Justin Green
- 12 Tom Doyle, Pat Driscoll, Will Straker
- 11 Joel Almond, Christian Bennett, Jarryd Biviano, Pushpinder Singh, Nathan Whittingham
- 10 Fletcher Graham, Jake O'Connell, Will Vandermaal

- 9 Tushaar Garg
- 8 Jayden Brown, Luke Cutcliffe, Callum Weatherall
- 7 James Hawksworth
- 6 Lachlan Ball, Ronak Bedi, Tavish Humphreys-Jones, Hayden Lindsay, Steve Milliken, Will Norris, Flynn Parker, Brendon Piggott, Andrew Ritchie, Ihsan Ul-Haq, Kieran Weatherall
- 5 James Arnold, Tim Brandt, Ben Dwarshuis, Luke Hawksworth, Liam Hehir, Josh Horner, Steve Kourouche, David Niumataiwalu, Ben Williams
- 4 Ethan Deal, Jarrod Graham
- 3 Reaf Bremer, Jason Holley, Michael Holmes, Ben Letton, Javed Mohammed, Richard Nolan, Tom Vandermaal, Alex Watkiss
- 2 Luke Lawless, Sam McCulloch, Cody Philipson, Daniel Rixon, Saul Spyrides, Jackson Turner
- 1 Richie Bull, Dylan Holdstock, Dominic Michalak, Aidan Rider

JAMES A. DALY MEMORIAL AWARD

This Award was inaugurated in 1974-75 to commemorate the work performed for Sutherland Shire cricket by the late Jim Daly. The Award is conducted during the regular season only (i.e. excluding performances in finals series, plus first grade L/O matches played on Sundays) – points are awarded for runs, wickets, catches and stumpings. The points system is on a sliding scale, to give more reward for better performances. For example, 50 runs scores 55 points, while 100 runs scores 115 points. Similarly, three wickets scores 45 points, while six wickets scores 120 points. Previous winners of the Award are listed in the Records section of the Annual Report.

This year's winner was Daniel Fallins, who scored 853 points to win his second successive award, from Chris Williams in second place on 790 points, with Jarryd Biviano third on 644.

The full pointscore for 2020-21 was as follows:

853	Daniel Fallins	354	Flynn Parker	170	Luke Cutcliffe
790	Chris Williams	347	Cody Philipson	154	Jackson Turner
644	Jarryd Biviano	336	Tavish Humphreys-Jones	147	Tom Vandermaal
633	Tom Doyle	316	Steve Milliken	144	Luke Lawless
536	Christian Bennett	311	Javed Mohammed	131	Dominic Michalak
522	Zac Philipson	307	Fletcher Graham	128	Josh Johnston
503	Callum Weatherall	306	James Arnold	121	Jason Holley
501	Tom Straker	304	Pat Driscoll	115	Luke Ritchie
499	Will Straker	303	Tim Brandt	107	Daniel Rixon
497	Joel Almond	297	David Niumataiwalu	55	Luke Mecham
481	Jayden Brown	292	Ben Dwarshuis	46	Sam McCulloch
459	Justin Green	275	Ronak Bedi	45	Saul Spyrides
450	Luke Hawksworth	274	Jamie Weaver	42	Richie Bull
439	Andrew Ritchie	260	Ben Letton	42	Aidan Rider
433	Tushaar Garg	259	Hayden Lindsay	36	Lachlan Milmlow
430	James Hawksworth	249	Jarrod Graham	35	Chad Gilmour
425	Josh Horner	249	Ben Williams	34	Patrick Leate
416	Pushpinder Singh	247	Steve Kourouche	33	Cameron Goodger
415	Jake O'Connor	242	Liam Hehir	31	Zac Franken
413	Nathan Whittingham	236	Michael Holmes	19	Zac Whetters
411	Kieran Weatherall	221	Richard Nolan	16	Alex Watkiss
393	Will Vandermaal	213	Will Norris	15	Sam FitzGibbon
389	Nick Amos	202	Dylan Holdstock	13	Ashton Frazer
372	Brendon Piggott	202	Shaun Thornton	0	Sam Niumataiwalu
371	Ethan Deal	194	Reaf Bremer		
370	Lachlan Ball	194	Ihsan Ul-Haq		

MARGARET MANN MEMORIAL AWARD

This Award was donated in 1994-95 by Claude Mann in memory of his late wife Margaret. The Award is for the Under 21 Player of the Year, based on performances in Grade and Poidevin-Gray Shield matches (excluding the matches referred to above). The points system is the same as that used for the James A. Daly Memorial Award. Previous winners of the Award are listed in the Records section of the Annual Report.

The winner of this season's Award was Justin Green on 725 points, with Luke Hawksworth in second place on 664 points and Andrew Ritchie third on 631 points.

The full pointscore for 2020-21 was as follows:

725	Justin Green	347	Cody Philipson	144	Luke Lawless
664	Luke Hawksworth	336	Tavish Humphreys-Jones	115	Luke Ritchie
631	Andrew Ritchie	330	Ronak Bedi	55	Luke Mecham
609	Nick Amos	307	Fletcher Graham	46	Sam McCulloch
556	Jake O'Connell	303	Tim Brandt	45	Saul Spyrides
522	Zac Philipson	297	David Niumataiwalu	42	Aidan Rider
510	Kieran Weatherall	274	Jamie Weaver	36	Lachlan Milmlow
501	Tom Straker	259	Hayden Lindsay	34	Patrick Leate
499	Will Straker	249	Jarrod Graham	33	Cameron Goodger
498	Ethan Deal	228	Reaf Bremer	31	Zac Franken
493	Flynn Parker	213	Will Norris	19	Zac Whetters
466	Brendon Piggott	170	Luke Cutcliffe	15	Sam FitzGibbon
433	Dylan Holdstock	154	Jackson Turner	13	Ashton Frazer
381	Lachlan Ball	147	Tom Vandermaal	0	Sam Niumataiwalu

KEN GARDNER MEMORIAL AWARD

This Award was donated in 1995-96 by the Gardner family in memory of the late Ken Gardner and the work he did for junior cricket in the Shire. The Award is for the Under 16 Player of the Year, based on performances in A.W. Green Shield matches. The points system is the same as that used for the James A. Daly Memorial Award.

This year's Award was won by Luke Cutcliffe, by one point from Aidan Rider in second place, with Kobey Freer third.

Previous winners of the Award are listed in the Records section of the Annual Report.

The full pointscore for 2020-21 is as follows:

172	Luke Cutcliffe	124	Ashton Frazer	60	Alec Dobson
171	Aidan Rider	123	Saul Spyrides	48	Lachlan James
155	Kobey Freer	120	Sam Niumataiwalu	38	Jared Ball
150	Tom Straker	88	Jake St.John	0	Lyndon Coward
142	Sam FitzGibbon	62	Lachlan Ritchie	0	Eden Winney

BOB EVERY ENCOURAGEMENT AWARD

The Bob Every Encouragement Award was introduced in 2007-08, following an offer from Bob Every (1st Grade player #22), with the recipient each year to receive \$1,000 from Bob. The award is decided by the Committee in conjunction with Bob. Factors to be considered include on-field performance, training attendance, involvement in off-field activities and any study or career development that the player may be undertaking.

Previous winners of the Award are listed in the Records section of the Annual Report.

After taking all of these factors into account, the Committee and Bob agreed that this year's winner of the Bob Every Encouragement Award would be Andrew Ritchie.

TOM ICETON CLUB PERSON OF THE YEAR AWARD

This award is determined by secret ballot election involving all Committee members. It is open to all players, volunteers, non-playing members and life members, being the Club's presentation for outstanding work other than the usual playing or administrative duties. Previous winners are listed in the records section of the Annual Report.

This year's winner was Malcolm Trees, for his superb service as the Club's photographer throughout the season, helping Jarryd Biviano with the high standard of our website and social media channels.

Other nominations for the award this year were Allison Brockley, Jarryd Biviano, Lee Prescott, Alex Watkiss and Ben Williams.

For and on behalf of the Committee of Management DAVID CUSH, Secretary

LEADING PERFORMANCES -- 2020-21

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
C.Williams	15	15	0	130	660	44.0
J.Biviano	15	15	1	88	584	41.7
T.Doyle	15	15	0	109	533	35.5
C.Weatherall	15	16	3	145	458	35.2
J.Hawksworth	15	13	7	110 *	436	72.7
D.Fallins	15	15	3	90	418	34.8
J.Horner	15	17	2	103 *	380	25.3
L.Hawksworth	14	14	1	95	361	27.8
N.Amos	10	11	1	72	339	33.9
B.Piggott	12	12	1	76	327	29.7
J.Almond	13	13	1	110	317	26.4
W.Vandermaal	12	11	1	82	313	31.3
Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
T.Straker	16	136.3	24	431	37	11.6
Z.Philipson	15	137.2	20	421	33	12.8
P.Driscoll	16	143.0	34	347	24	14.5
W.Straker	12	109.1	24	313	23	13.6
T.Garg	15	164.4	27	602	23	26.2
D.Fallins	15	197.5	17	726	23	31.6
A.Ritchie	15	137.5	17	551	22	25.0
K.Weatherall	13	94.1	11	368	20	18.4
F.Parker	15	101.4	8	451	20	22.6
D Cinah	1 -	140 4	26	E 2 4	20	267

20

26.7

15 15

149.4

26

534

P.Singh

SUTHERLAND DISTRICT CRICKET CLUB, INC.

BALANCE SHEET AS AT 30 APRIL 2021		
	2021	2020
	\$	\$
ACCUMULATED FUNDS	\$ 194,227 \$	168,508
Represented by :		
CURRENT ASSETS		
Cash at bank & on hand	43,839	17 <i>,</i> 497
Term deposit	123,567	122,416
Receivables Provision for doubtful debts	19,053 0	26,346 (6,091)
Inventory - caps, clothing & equipment - at cost	4,946	3,506
	191,405	163,674
NON-CURRENT ASSETS		
Plant & equipment - at cost	75,281	83,751
- acc. depreciation	(60,043)	(65,551)
	15,238	18,200
TOTAL ASSETS	206,643	181,874
CURRENT LIABILITIES		
Trade creditors	(12,163)	(8 <i>,</i> 095)
Provision for Federal Government grant expenditure	0	(5,000)
GST liability	(253)	(271)
	(12,416)	(13,366)
NET ASSETS	\$ 194,227 \$	168,508
	=====	=====
INCOME AND EXPENDITURE STATEMENT		
FOR THE YEAR ENDED 30 APRIL 2020		
	2021	2020
	\$ \$	\$
INCOME		
ACA premier cricket grant	6,500	6,500
CA club funding grant	16,220	16,220
Cap & clothing sales	1,919	2,325
Golf Day Government grants - Federal Government	3,233 0	2,606 5,000
- NSW Gov't (Grassroots Sports Fund)	1,000	10,485
Interest received	1,160	2,434
Membership subscriptions & playing fees	15,050	18,677
NSWCA grants - general	21,240	21,240
- coaching	19,675	19,675
Social activities & fundraising (net)	210	(297)
Sponsorship & donations	48,800	62,800
TOTAL INCOME	135,007	167,665

BALANCE SHEET AS AT 20 ADDI 2021

SUTHERLAND DISTRICT CRICKET CLUB, INC.

INCOME AND EXPENDITURE STATEMENT FOR THE YEAR ENDED 30 APRIL 2020 (Continued)

	\$	2021 \$	2020 \$
Less : CASH EXPENSES	Ą	Ç	ç
ACA grant expenditure	6,500		6,500
Bank fees	97		115
CA grant expenditure	16,220		16,220
Club functions	0		1,554
Coaching & development	31,447		46,710
Defibrillator for Tonkin Oval	557		0
Doubtful debts	0		6,091
Electricity	4,676		4,460
Federal Government grant expenditure	0		5,000
Foxtel, internet & website expenses	2,903		1,982
Grassroots Sports Fund expenses (COVID-19)	1,000		0
Indoor net hire	2,400		4,500
Insurance	500		500
Liquor licence expenses	113		110
Match expenses	290		560
Metro Cup expenses	0		1,532
NSW Government grant expenditure	0		10,485
Overseas player expenses	0		2,204
Postage & telephone	174		343
Presentation night	0		5,169
Printing & stationery	1,294		1,807
Purchases - caps & clothing	12,171		20,115
Purchases - cricket equipment	11,964		11,941
Repairs, maintenance & grounds	5,019		2 <i>,</i> 609
Sponsorship support	0		1,609
Statutory lodgement fees	75		47
Sundry expenses	525		775
Trophies & presentations	1,416		1,876
TOTAL CASH EXPENSES		99,341	154,814
NET CASH SURPLUS/(LOSS) FOR YEAR		35,666	12,851
Less : NON-CASH EXPENSES			
Depreciation		9,947	11,429
NET OPERATING SURPLUS/(LOSS) FOR YEAR		25,719	1,422
Accumulated funds 1 May 2020		168,508	167,086
ACCUMULATED FUNDS 30 APRIL 2021	:	\$ 194,227 ======	\$ 168,508 ======

SUTHERLAND DISTRICT CRICKET CLUB, INC.

STATEMENT BY THE COMMITTEE

In the opinion of the members of the Committee:

- (a) the accompanying income and expenditure statement is drawn up so as to give a true and fair view of the result of the Club for year ended 30 April 2021;
- (b) the accompanying balance sheet is drawn up so as to give a true and fair view of the state of affairs of the Club as at 30 April 2021; and
- (c) at the date of this statement there are reasonable grounds to believe that the Club will be able to pay its debts as and when they fall due.

Signed in accordance with a resolution of the Committee.

MATHEW DUFF

TOM ICETON

Dated at Caringbah this 10th day of June 2021.

SUTHERLAND DISTRICT CRICKET CLUB, INC.

AUDITOR'S REPORT TO MEMBERS FOR YEAR ENDED 30 APRIL 2021

I have audited the accompanying financial statements in accordance with Australian Auditing Standards.

The Club receives a proportion of its income from social activities and sale of goods, food and refreshments. Prior to the initial recording of such income in the accounting records, no accounting control can be practically established over the recording of or completeness of all income received. My examination of income has been restricted to amounts recorded in the accounting records of the Club.

Subject to the matter referred to above, in my opinion the accompanying balance sheet and income and expenditure statement are properly drawn up so as to give a true and fair view of the state of affairs of the Club at 30 April 2021 and the results of the Club for the year ended 30 April 2021.

ADRIAN CRAIG Chartered Accountant

Dated at Sutherland this 20th day of June 2021.

FIRST GRADE

The 2020-21 season was one of promise for the Sharks in 1st Grade. With last season's results putting us closer to the bottom than we would like, it meant there was much improvement needed and expected. With the uncertainty of COVID hanging around the start of the season, we were all nervously awaiting what the Sharks would produce.

With the addition of some players to the club, we showed that at times we were capable of a lot from our playing group in the top grade and won the matches we expected to, but unfortunately some inconsistencies and lack of converting opportunities with the bat and ball in matches meant that when push came to shove in pivotal moments, we invariably fell at the difficult hurdles of the eventual top four teams. This ultimately saw us finish mid-table, which perhaps is where we were at this season, but it bodes well for the future as we know when we are playing to our potential, we can match it with the best sides in the competition.

I must thank the playing group for their consistent effort this season. This team of men was a pleasure to lead and they always arrived to give an account of themselves with much enjoyment each week, the team as follows:

Jarryd Biviano

Jarryd had one of his most consistent seasons yet. Charrith played the role of middle order batsman this year and opener with a mature approach set an example. He put together a string of some of his best batting in the middle of the year, highlighting some great training work without reaching the triple figures he deserved. Rodney's highest score of 91* in a devastating innings at Chatswood was a real highlight!

Tom Doyle

Tom is one of the most attractive batsmen to watch in full flight in the whole of Sydney. The trick will be for Kingsley to put this on display more often. The Prince of Burraneer breezed two effortless 100s this season to highlight his quality and is a real all-round threat with fielding and handy bowling contributing to the package. I await the day we see Tom achieve his full potential and win multiple matches off his own back for the Sharks.

Andrew Ritchie

One of the real finds in the last 12 months, Lionel played his first full season in 1st Grade and showed he clearly belonged. Ritch proved a left-hander destroyer at times and has the handy knack of jagging a wicket first up in a spell. Will continue to improve and we will see a long-term 1st grader wicket-taker here!

Chris Williams

The skipper put together some consistent performances throughout the year. He is well versed at achieving scores in the 90s and occupying the crease around the talented youngsters. With two 100s and two 90s, there is still room to convert scores to bigger numbers – a hook shot for 6 off Morne Morkel was a real enjoyable moment if he does say so himself!

James Arnold

James was primed for a great season in 1st Grade following his debut the season before. He started off strongly in the season and was curtailed by a water-skiing accident. With regained fitness and his hard workman-like effort, I am sure we will see more improvement from Jimmy in the season ahead and some big numbers to complement.

Pushpinder Singh Jassal

Pushy slotted nicely into the spin twin role with Fallins in the middle of the year and became a real strike bowler by the end of the season, outwitting a strong Manly side with 4 wickets. Pushy has an infectious love for cricket that only comes second to his one True Love – the Star Casino. He provided many a classic moment in the Shark Suit and helped as Cultural Advisor to Tushaar throughout the season. Quick to learn about the requirements of 1st grade, I am sure Pushy have success in 2021-22.

Flynn Parker

Flynn-stagram showed some real improvement this season. The Kiama Tear-Away really benefited from his own hard work put in and started to believe and perform like he belongs in 1st Grade. Flynn's hard work with his action and fitness will see more wickets next season for The Sharks!

Ethan Deal

Ethan had a tough introduction to 1st Grade with the Sharks. Ethan would be the first to admit he under-achieved. He is keen to go on the journey for improvement and we will see a change in the season ahead.

Tushaar Garg

Tush was an excellent acquisition for the club this season, where Gargamel took a leading role in the pace attack. His dedication, competitiveness and willingness to learn earned him to role of opening the attack in his first season. Tush was an enthusiastic wearer of the Shark suit this season, coming a close 2nd to his 6fa against Campbelltown as highlights!

Ben Dwarshuis

Ben is absolute treat to watch in Grade Cricket with bat and ball. The ball-striking, pace, skill and consistency was all on display in Dwarsh's limited outings with the Sharks. At times, he was well out of reach for most batters and he was rewarded with consistent selection in the NSW Limited Overs side and Sydney 6ers BBL Champs again this season. Ben has the skills and thankfully now his injuries are managed where we will continue to see him thrive, he led the T20 side with aplomb to match!

Dan Fallins

SDCC Payer of The Year again in 20-21, Fish has the genuine all-rounder tag in the side now. Dan showed a great commitment to his batting and elevated himself comfortably to middle order player to match his bowling. He would be the first to admit he would have loved more with the ball but still showed his match winning potential throughout the season. A leader in the field with great set of hands and always pushing others for more.

Steve Milliken

Doc Brown showed his consistency and played the foil role early in the season with his ability to tie batters down. Stevie is another of the good guys who has worked hard and started to own his game. Suffered a hamstring injury that halted him mid-season, a crafty contributor to fines meetings also.

Callum Weatherall

Cal made his debut this season after a strong first half in 2nd Grade. Cal's personality carries many though a long day in the field and his commitment to improving his game showed glimpses of things to come without a big breakthrough in 1st Grade.

Also to play in 1st Grade this season: Luke Hawksworth, Justin Green and Nick Amos.

Thanks must go to Dan Rixon and his coaching group throughout the season. It is never a simple task to coach at club level and the standard of training and development throughout the club was evident. Well done to James Hawksworth and his team on taking out the 4th Grade title. A team of future players and some astute leadership represented the Sharks well and the scenes at the GF were of great clubmanship!

Thanks to Mat Duff and the committee for their support of me and the players. It makes things a lot easier to manage with the players and committee working together. Thanks to Phil 'Chunky' Weatherall for his unwavering commitment as Chairman of Selections, he just might have the biggest phone bill in Sydney.

Finally, thanks to all the family members, dedicated parents (we missed your afternoon teas this season), girlfriends, wives and pets for your support – and most especially Allison Brockley for her scoring each week. Al has no sons playing at the Sharks anymore, which makes her commitment all the more special, but she is a firm favourite amongst the players and it's great to share her wit and analysis of the joy of cricket and scoring each week!

Thanks to all for an enjoyable season, see you all again in 2021-22 to do it all again.

CHRIS WILLIAMS

1ST GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
C.Williams	15	15	0	130	660	44.0
J.Biviano	15	15	1	88	584	41.7
T.Doyle	15	15	0	109	533	35.5
D.Fallins	15	15	3	90	418	34.8
J.Arnold	12	12	2	77 *	271	27.1
L.Hawksworth	5	5	0	41	98	19.6
E.Deal	15	12	2	49	196	19.6
C.Weatherall	9	8	1	33	117	16.7
T.Garg	15	11	3	33 *	118	14.8
B.Dwarshuis	7	7	0	27	77	11.0
A.Ritchie	15	11	3	30 *	59	7.4
P.Singh	9	5	1	11	25	6.3

Also played : N.Amos 2-2-1-16*-25-25.0, S.Milliken 7-4-2-17-20-10.0, F.Parker 8-4-3-0-0-0.0, J.Green 1-1-0-0-0.0.

Highest scores : C.Williams 130 v.Penrith, 109 v.Randwick Petersham, 97 v. Manly-Warringah, 93 v.Bankstown, 51 v.Hawesbury; T.Doyle 109 v.Sydney, 102 v.Penrith, 91 v.Western Suburbs, 70 v.Hawesbury; D.Fallins 90 v.University of NSW, 74 v.Parramatta, 66* v.Gordon, 57 v.Sydney; J.Biviano 88 v.Randwick Petersham, 81 v.Hawesbury, 69* v.Penrith, 65 v.Blacktown, 61 v.Bankstown, 61 v.Campbelltown-Camden, 58 v.Gordon; J.Arnold 77* v.Blacktown, 69 v. Parramatta.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
B.Dwarshuis	7	92.5	23	251	13	19.3
P.Singh	9	87.4	13	334	14	23.9
A.Ritchie	15	137.5	17	551	22	25.0
T.Garg	15	164.4	27	602	23	26.2
F.Parker	8	45.0	4	241	9	26.8
D.Fallins	15	197.5	17	726	23	31.6

Also bowled : T.Doyle 26-2-155-2-77.5, S.Milliken 33-3-174-2-87.0, J.Green 3-0-9-0.

Best bowling figures : T.Garg 6-35 v.Campbelltown-Camden, 4-21 v.Blacktown; A.Ritchie 6-55 v.Penrith; B.Dwarshuis 4-43 v.Bankstown; D.Fallins 4-55 v. Parramatta; P.Singh 4-61 v.Manly-Warringah.

Wicketkeeping : E.Deal 23 catches, 1 stumping.

Catches : C.Williams 14; D.Fallins 12; J.Arnold, T.Doyle, T.Garg, A.Ritchie 4 each; J.Biviano, B.Dwarshuis, S.Milliken 3 each; L.Hawksworth, F.Parker, P.Singh, C.Weatherall 2 each; W.Straker 1.

LIMITED OVERS COMPETITION

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
J.Arnold	3	3	1	77 *	150	75.0
T.Doyle	5	5	0	109	179	35.8
D.Fallins	5	5	0	74	159	31.8
J.Biviano	5	5	0	65	158	31.6
N.Amos	2	2	1	16 *	25	25.0
A.Ritchie	5	4	2	30 *	45	22.5
L.Hawksworth	2	2	0	41	42	21.0
C.Weatherall	2	2	0	33	40	20.0
E.Deal	5	5	1	26	60	15.0
C.Williams	5	5	0	32	68	13.6
T.Garg	5	4	1	15	38	12.7
B.Dwarshuis	2	2	0	23	24	12.0
F.Parker	4	2	1	0	0	0.0

Also played : P.Singh 2-1-0-2-2-2.0, S.Millien 3-1-1-1*-1---.

Highest scores : T.Doyle 109 v.Sydney; J.Arnold 77* v.Blacktown, 69 v. Parramatta; D.Fallins 74 v.Parramatta, 57 v.Sydney; J.Biviano 65 v.Blacktown.

Bowling	Matches	Overs N	Maidens	Runs	Wickets	Average
B.Dwarshuis	2	14.5	1	68	4	17.0
P.Singh	2	18.0	1	98	4	24.5
D.Fallins	5	49.0	1	219	8	27.4
F.Parker	4	25.0	1	141	5	28.2
A.Ritchie	5	41.5	1	216	6	36.0
T.Garg	5	40.4	3	216	6	36.0

Also bowled : S.Milliken 17-1-71-1-71.0, T.Doyle 16-0-100-0.

Best bowling figures : T.Garg 4-21 v.Blacktown; D.Fallins 4-55 v.Parramatta; A.Ritchie 3-33 v.St.George; B.Dwarshuis 3-35 v.St.George; F.Parker 3-43 v. Sydney

Wicketkeeping : E.Deal 5 catches, 1 stumping.

Catches : A.Ritchie, C.Williams 4 each; J.Arnold, D.Fallins, T.Garg 2 each; T.Doyle, B.Dwarshuis, S.Milliken 1 each.

TWENTY20 COMPETITION

Batting	Mts	Inns	NO	H.Score	Runs	Ave	Balls faced	Strike rate
B.Dwarshuis	4	3	1	58 *	106	53.0	76	139.47
J.Arnold	4	2	1	26 *	47	47.0	50	94.00
J.Biviano	5	5	1	91 *	114	28.5	72	158.33
C.Williams	5	5	1	57 *	104	26.0	104	100.00
D.Fallins	5	4	0	32	75	18.8	64	117.19
E.Deal	5	4	1	33	50	16.7	53	94.34
T.Doyle	5	5	1	24 *	63	15.8	74	85.14
L.Hawksworth	2	2	0	14	22	11.0	23	95.65
A.Ritchie	5	2	1	3 *	6	6.0	7	85.71
C.Weatherall	2	2	0	7	11	5.5	15	73.33
T.Garg	5	2	0	6	6	3.0	13	46.15

Also played : J.Green 1-1-0-1-1-1.0, D.Rixon 1-1-1-22*-22- --, P.Singh 2-1-1-9*-9- --, T.Pinson 2-1-1-0*-0- --, S.Milliken 2-DNB, N.Amos 1-DNB.

Highest scores : J.Biviano 91* (50) v.Gordon; B.Dwarshuis 58* (45) v.Randwick Petersham, 33 (19) v.University of NSW; C.Williams 57* (51) v.St.George; E.Deal 33 (33) v.Randwick Petersham; D.Fallins 32 (34) v.St.George.

Bowling	Mts	Overs N	/ldns	Runs	Wkts	Ave	Econ rate
B.Dwarshuis	4	16.0	0	83	10	8.3	5.19
P.Singh	2	7.0	0	34	2	17.0	4.86
A.Ritchie	5	15.3	0	112	5	22.4	7.23
D.Fallins	5	20.0	0	113	5	22.6	5.65
T.Garg	5	17.0	0	122	5	24.4	7.18
T.Doyle	5	12.0	0	90	3	30.0	7.50

Also bowled : N.Amos 1-0-2-1-2.0, J.Green 2-0-12-1-12.0, J.Biviano 1.3-0-7-0, S.Milliken 4-0-25-0, T.Pinson 4-0-60-0.

Best bowling figures : B.Dwarshuis 4-23 v.University of NSW, 2-17 v.Randwick Petersham; A.Ritchie 2-23 v.St.George; D.Fallins 2-35 v.Gordon (quarter-final).

Wicketkeeping : E.Deal 5 catches.

Catches : D.Fallins 4; T.Doyle, B.Dwarshuis, T.Pinson 2 each; J.Biviano, T.Garg, S.Milliken, A.Ritchie, C.Williams 1 each.

SECOND GRADE

The 2020-21 season for 2nd Grade was on paper a year to forget, proving a challenging year on the field managing just two wins for the season. Although we did manage to win the small victory of avoiding the bottom of the table! The on field results aren't a true reflection of the quality of players, talent and potential within the 2nd grade playing group this season. We managed to use 25 different players throughout the year, many of which making their debuts. It was great to see many players young and old given opportunities at this level and to gain experience that will put the club and themselves in good stead for the future.

Results don't always speak for themselves and sometimes your best lessons are learnt from your losses, which we did quite a lot of! We were unlucky at times being on the wrong side of the weather and the toss more often than not but we did give ourselves a chance to win a lot of matches, but fell short. We developed a habit of losing close matches and I think that comes down to inexperience, not a lack of talent. Evidently, there were plenty of highlights throughout the season where players showcased just how much ability was amongst the side, which earnt some their 1st Grade caps and others firmly cementing their spots in 2nd Grade.

We started the season showing great promise, getting a tight win over Bankstown at GMO in round 2. They were the 2019-20 premiers, so it gave us reassurance that we can compete with the top teams in the competition. Batting first, Nick Amos and Callum Weatherall got us off to a nice start, putting on 50 for the opening stand but it was ultimately Ben Letton's innings of 89 that helped us get to a below par but defendable total of 225, after being bowled out after 70 overs. We knew this would be a hard total to defend but the bowlers all worked together and were able to build pressure from both ends which allowed us to get the better of the opposition. Ben Williams and Pushpinder Singh both bowled long spells, picking up a wicket each but it was their economy rates that were the most critical. They put the brakes on Bankstown's innings which set the platform for Flynn Parker to bowl with freedom, where he managed to go through the bulk of their lower order, picking up 4 wickets. Bankstown put up a fight with a decent partnership but Flynn was able to seal the win with a perfectly executed yorker to get our first win of the season.

The following round we found ourselves at Raby 1 against Campbelltown. This was our most comprehensive performance as a team but was bittersweet because the rain didn't allow us to complete what would have been a dominant win. We batted first with the opening pair (Nick Amos and Callum Weatherall) continuing their form and put on 114 for the opening stand, which set the match up for us. All in all, the day belonged to Callum Weatherall who dominated Campbelltown's attack all around the ground, which led to him bringing up his first ever ton! He took on their bowlers and showcased what a good player he has developed into, finishing on 145! In addition to Callum's hundred, the remainder of the top 4 (Nick Amos, Ben Letton, Josh Horner) were able to make half centuries which allowed us to set a mammoth total of 379. With a rainfilled week, everything was in our favour with the pitch being a lot more bowler friendly on day 2. We were forced to start late due to some stalling from Campbelltown, which ultimately proved costly. Flynn Parker continued his good form with the ball, picking up 3 wickets and with the help from the other bowlers we had them on the ropes at 7/133. The day was rain disrupted and we tried our best to play as long as we could but in the end the rain got the better of us and the match was cut short. We were robbed of a much-deserved win. Callum's innings along with his consistency across the first 6 rounds saw him earn a 1st Grade debut in round 7, which is always satisfying to see with Callum having been a local junior for the club who has progressed his way through the grades.

The rounds that followed consisted of a washout against Blacktown, a close loss to St George and a disappointing loss to Wests at home. The season started to feel like we had lost our momentum that we had built early on. Coming into round 7, we had Penrith away on one of the hottest days of the summer on day 1. We elected to bat first and lost early wickets and it felt as though we would be in the field before lunch. At 5/42, we needed something special to say the least. Reaf Bremer opened and managed to survive the early onslaught. Joel Almond joined him at the crease and the two got to work. The pair put on 158 and got us over 200, which seemed near impossible from where we were. Reaf played a supporting role, putting a high value on his wicket in scoring 79 on debut, whilst Joel played a coming of age innings and one that I think surprised himself. He dominated their attack and any field changes they made were met with a boundary in the spot they moved the fielder from. He ended up with 110, scoring his first ever century and announcing himself as a batsman at this level. Joel being such a good clubman and always being one of the first there to celebrate others' successes, it was great to see him do well and get lots of praise across the club. We managed to get 242 which was a huge effort but unfortunately wasn't close to enough on that pitch. On day 2, we weren't able to get early wickets and build pressure, which saw Penrith chase the total comfortably which was disappointing after such a big effort from Joel and Reaf.

A notable performance came about in round 9, which was a one-day match against Sydney. The match itself was a comprehensive loss but young Justin Green stepped up with both bat and ball to put some light on such a bad loss. The pitch offered some movement and Justin was able to take full advantage of that, beating the bat time after time. He took 4 wickets but was unlucky to not get more. His control and patience with the ball is beyond his years. Ben Williams was yet again consistent with the ball, going for only 24 runs off his 10 overs. Sydney set a solid chase of 265. The top order failed again, leaving Justin to come in at 4/47 where he batted with complete freedom and bullied the bowlers around for nearly a run a ball 59 which kept our run chase somewhat respectable. We fell a long way short, being bowled out for 146.

Round 10 against Fairfield went down to the last over and was way too close for comfort. A oneday match, we managed to put on a competitive total of 212 on a tough pitch. Justin Green stepped up again, taking 4 wickets and Ben Williams yet again starved them of runs going for just 12 runs off his 10 overs with 6 maidens. We felt in control of the match but some good partnerships by them kept us on our toes and made us fight until the very last over. Mr Reliable, Steve Milliken, had the duty of bowling the last over, Fairfield required 9 runs (not exactly sure) and we only needed 1 wicket. To our relief Steve executed a perfect yorker with his 4th ball to knock over the required 10th wicket. It was a sigh of relief to finally have a close match go our way.

We lost a close match to Randwick in Round 11 and Round 12 against Gordon we lost the toss which was a major advantage on the wet pitch, resulting in a disappointing loss. Round 13 against Hawkesbury at Bensons Lane, we were washed out the first week so that meant a 120 over match the following Saturday. We were sent in on a pitch that was incredibly wet but we did our best to salvage 120 thanks to a good cameo from Joel Almond 48. The match didn't go our way with the pitch drying out over the day and becoming increasingly easy for them to bat on compared to the conditions we had to endure. Hawkesbury had finals hopes and wanted to try and force an outright victory, which was very unlikely. Their intentions to score quickly and build a big score beyond our total came to a halt when our secret weapon Steve 'dini' Kourouche came into the attack. Steve, a seasoned veteran for the club getting his first bowl in second grade, produced a spell that left Hawkesbury with no answers. Steve picked up 5 wickets from his 7 overs and got

the first 5 wicket haul for a Sutherland player in 2nd Grade this season. Steve's spell lifted any sour taste from the loss and filled the team with pure happiness for Steve's achievement. He's no doubt one of the best clubmen and it was great to see him rewarded for all his efforts over the years and to prove how under-utilised he is with the ball! It will no doubt be a career highlight for Steve.

Round 14 saw us up against the competition leaders and eventual winners in Manly. This was definitely one of the most eventful matches of cricket I've played in. Yet again, we lost the toss and were sent in on a rain affected pitch and up against a quality bowling attack who used the conditions to their advantage. We scrambled to 86 which at least meant that we would get to bowl at them in the same conditions. Flynn Parker and Jayden Brown both grabbed early wickets and it was game on. Ben Williams and Steve Milliken both bowled big spells and enjoyed the seam movement on offer. Steve bagged 5 wickets and Ben 2, with Justin Green also proving handy going for 9 runs off his 8 overs. We felt as though the miracle was going to happen and we could knock off the competition leaders. We had them 9/76 but unfortunately their number 11 wasn't as bad as we could have hoped and they managed to hold on and we eventually bowled them for 88. With 20 wickets already falling in the day there, were still 18 overs to bat on a pitch that hadn't got any better. Safe to say, things didn't go to plan and we ended the day 8/38 in our second innings. It was a rollercoaster of a day, getting so close to beating the top of the table team to an almost certain outright loss, all in a day's play. The match was completed before lunch the following week and the team had a rare finish that was early enough to fit in a round of golf to ease the wounds of the loss.

The final round against North Sydney was disappointing. We managed to win a toss and send them in on a bowling friendly pitch and restrict them to a low total of 124, but yet again the batting let us down. We weren't able to build partnerships, falling 11 runs short of getting a win in our final match.

All in all, it was a privilege to be given the opportunity to captain this year. Despite the lack of success, it was still thoroughly enjoyable and that's a testament to the great playing group I had with me.

Thanks to Alex Watkiss and his efforts in scoring matches when he could, as well as Dan Rixon for running match day warm-ups and coordination of training sessions, all the boys and I greatly appreciate it.

Thank you to Mat Duff and the committee for your support throughout the year and belief in me as a captain.

Thanks to Phil Weatherall for all the phone calls and selection help, as well as Tom Iceton for all his extra efforts on match day as well as covers expertise.

Finally, thanks to the 2nd Grade boys this season, you were all a pleasure to play with. I will miss those of you not returning and look forward to seeing the rest of you next season.

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
C.Weatherall	6	8	2	145	341	56.8
N.Amos	7	8	0	72	282	35.3
S.Milliken	6	6	5	10	30	30.0
J.Horner	15	17	2	103 *	380	25.3
J.Almond	11	11	0	110	278	25.3
Lachlan Ball	10	11	1	57	192	19.2
Jayden Brown	15	15	2	3	236	18.2
B.Letton	14	15	1	89	240	17.1
J.Green	9	10	0	59	149	14.9
B.Piggott	6	6	0	34	76	12.7
W.Vandermaal	5	5	0	31	61	12.2
J.Johnston	6	6	2	14	42	10.5
D.Holdstock	8	10	2	30	74	9.3
J.Mohammed	5	6	0	25	46	7.7
B.Williams	14	10	3	14	24	3.4
F.Parker	6	5	1	4	5	1.3

Also played : R.Bremer 2-2-0-79-81-40.5, P.Singh 6-4-2-46*-71-35.5, W.Straker 2-1-0-17-17-0, R.Bedi 4-4-1-15-23-7.7, S.Kourouche 2-3-0-13-16-5.3, D.Rixon 2-2-0-6-9-4.5, K.Weatherall 1-1-0-3-3-3.0, J.O'Connell 1-1-0-1-1-1.0, R.Bull 2-1-1-26*-26- --.

Highest scores : C.Weatherall 145 v.Campbelltown-Camden, 69* v.Western Suburbs; J.Almond 110 v.Penrith; J.Horner 103* v.Fairfield-Liverpool, 60 v. Campbelltown-Camden; B.Letton 89 v.Bankstown, 59 v.Campbelltown-Camden; R.Bremer 79 v.Penrith; N.Amos 72 v.Western Suburbs, 57 v.Campbelltown-Camden; J.Green 59 v.Sydney.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
J.Green	9	78.5	17	287	16	17.9
F.Parker	6	56.4	4	210	11	19.1
S.Milliken	6	53.4	10	230	12	19.2
B.Williams	14	150.2	50	357	14	25.5
P.Singh	6	62.0	13	200	6	33.3
Jayden Brown	15	131.0	17	570	15	38.0

Also bowled : S.Kourouche 7.2-0-43-5-8.6, K.Weatherall 6-1-19-2-9.5, N.Amos 3-0-14-1-14.0, W.Straker 17.3-2-59-3-19.7, J.Mohammed 21.2-3-99-5-19.8, D.Holdstock 8-3-23-1-23.0, D.Rixon 18-3-47-2-23.5, J.O'Connell 10-2-40-1-40.0, J.Almond 58-5-206-5-41.2, R.Bedi 32-2-155-1-155.0, W.Vandermaal 2-0-15-0.

Best bowling figures : S.Milliken 5-22 v.Manly-Warringah, 4-72 vSydney; S.Kourouche 5-43 v.Hawkesbury; J.Green 4-39 v.Fairfield-Liverpool, 4-47 v.Sydney; F.Parker 4-44 v.Bankstown; P.Singh 4-101 v.Western Suburbs.

Wicketkeeping: Lachlan Ball 21 catches; J.Johnston 3 catches; R.Bull 1 catch.

Catches : J.Almond 6; J.Horner 5; Jayden Brown, D.Holdstock 4 each; J.Green, W.Vandermaal, B.Williams 3 each; F.Parker, C.Weatherall 2 each; N.Amos, R.Bedi, R.Bremer, B.Letton, D.Rixon, W.Straker, K.Weatherall 1 each.

2ND GRADE

THIRD GRADE

Measuring success in cricket is generally pretty simple, score more runs and take more wickets than the other team. Comparing ourselves to the previous season is also pretty important. This season, we won six, lost six and drew 3 (19/20 season won 4, lost 8, drew 3), so we saw an improvement. I am pleased to say there are a lot of positives to take out of this season, even given its abnormality from seasons gone past. Similar to the previous season, there were mixed results with our batting, some great performances with the ball and the fact that 3rd Grade success can be a week to week proposition. However, again, it was great to be part of a group with good energy and that we could create a very positive environment to spend some very long Saturdays.

Firstly, I'd like to congratulate James Hawksworth and his 4th Grade premiership winning side! What a massive effort. James knew throughout the season what he wanted in his side and between the both of us there were some long and, at times, fantastical conversations midweek about the makeup of our sides. When it came down to it, James showed phenomenal leadership to give his side a crack at winning the final. There are definitely players with very bright futures in that side and definitely ones to watch in the higher grades in years to come.

One of the bigger challenges for lower grade players this year was the fixture list. While the SCA did well to schedule a 15 round season (starting nearly a month after the top two grades), for some players, playing 12 limited over matches required a huge mindset change from playing longer form cricket. This suited some sides in the competition; however, I think for others the adjustment was challenging. I'm a strong believer of two-day cricket, and I think if we had played more of it, some of our results would have been different. The other major challenge this season was the weather. Weather affected rounds 1 vs Blacktown (wash out), 12 vs Gordon (day 1 wash out) and 13 vs Hawkesbury (4 overs played). Whilst we got a result in round 12, we missed 2 more bites of the apple that other clubs got.

For those reading this a few years down the track, Covid 19 played a large part in the season. Aside from how the lower grade competition was structured, a competition round was cancelled due to an outbreak on the Northern Beaches. There were some slight rule and game management changes which everyone did well to adapt to. As a bowler, not being able to use sweat to buff and shine the ball was an interesting change, but the all-important cordial mix ratios and tea spreads were abandoned for the year. The umpire tossed the coin, there were no handshakes or high fives to be seen, the ball was transported onto the ground in a plastic zip lock bag, and it was initially frowned upon to sing the team song inside the changerooms ... very strange season.

There were 26 players who made their way through 3rd Grade this season. It is sometimes difficult to build consistency with high turnover and this unfortunately was telling in some of our losses. However, I think some took their chance and cemented their spot, giving themselves every chance to play higher grade cricket in the future.

The Players

The discoveries of the year were Will Straker, Kieran Weatherall and Jake O'Connell. All shone with the ball at various times throughout the year and helped put us in winning positions and, on occasions, win us matches of cricket off their own back. Will and Kieran both took 7 wicket hauls this season and both ended on 18 wickets. A good debut season at the Sharks for Jake O'Connell, taking 15 wickets and scoring 144 with the bat. He showed his potential with the bat towards the end of the year after a slow start, and definitely has the potential to play higher grades. Cody Phillipson's emergence with the gloves and mature performances with the bat is very

encouraging. Ronak Bedi showed his potential this season. While only taking 8 wickets, he looked threatening when the ball was in hand.

When in 3s, both Will Vandermaal (252) and Brendon Piggott (251) did well with the bat, both averaging over 50. Both will want to play higher grade cricket in 2021-22. Fletcher Graham also played some vital innings with the bat throughout the season, which was his first consistent crack at 3rd Grade cricket – he was definitely not out of place. Javed Mohammed when in 3rds was always dangerous with the ball and chipped in with the bat, he knows his game and skillset. Dylan Holdstock, Richard Nolan and Shaun Thornton had frustrating seasons, but at times showed signs of the quality batting (and bowling in Richard's case) they're capable of. There were a lot of cameos throughout the year. Christian Bennett was great with the ball when the skipper finally threw it to him, as well as filling in to open the batting. Reaf Bremer was also solid at the top of the order before he vanished into the Covid 19 abyss. Josh Johnston didn't have quite the season he wanted, yo-yoing between grades, but batted well in some tough periods this season.

The Positives

Round 2 vs St. George – Why this fixture isn't in the draw every season continues to baffle me. The local rivalry is great to be part of. We restricted Saints to 182 and saw the formation of a strong attack boasting Straker, Weatherall, Mohammed and O'Connell. Wickets were shared with Straker and Mohammed the picks, both taking 3. A solid opening stand between Bremer and Nolan got us going and then we lost both in quick succession. Piggott and Vandermaal then put on 120 to put the match out of Saints' reach as we passed their score 4 down with 5 balls to spare.

Round 3 vs Parramatta – Stand in skipper, Joel Almond, won the toss and batted on another good pitch at Sutherland Oval. The openers missed out, but continuing their form from the previous week, Piggott and Vandermaal put on 145 for the 3rd wicket. Thornton, Mohammed and Almond bludgeoned us to 5/249, a very good score at Sutherland Oval. Parramatta were never really in the hunt, being well restricted by the bowlers and losing wickets consistently. The wickets were shared with all bowlers doing a great job!

Round 4 vs Wests – This match got closer than it should have. Again, we batted first and set a very competitive total of 254 – Bremer (60), Vandermaal (59) and Piggott (46) the chief destroyers of a fair attack. Wests started solidly, but at a slow pace. Wickets were hard to come by and we had to use 7 bowlers. Just when we thought the match was in hand, the skipper decided to bowl himself in the second last over, which was very expensive, setting up an interesting last over for Jake O'Connell to navigate. With skill and class, Jake got the job done and we restricted Wests to 249. Dishonourable mention: Sutherland taking 2 wickets from front foot no-balls, one was their skipper who then piled on another 30 odd after the reprieve to nearly get them over the line.

Round 9 vs Sydney – The first match back after Christmas, we needed to recover from our lean trot. We batted first on a decent cricket pitch, which probably favoured the seam bowlers before lunch. After they won the toss and fielded, Sydney bowled 46 overs of spin. Fletcher Graham played a very patient innings for 51, combining with Shaun Thornton for a 57-run partnership. Jake O'Connell hit three massive bombs in the dying overs to help us set a competitive 183. The day though was all about Kieran Weatherall... he claimed 7/43 off 9.1 (which was actually about 13 overs due to 15 wides and 8 no balls...). Kieran took the first 4 wickets then returned to clean up the tail. He was very well supported by an unlucky Will Straker, Richard Nolan and Christian Bennett. Sydney were rolled for 136 and we had our first win since round 4.

Round 10 vs Fairfield Liverpool – The bowlers continued their great form after Fairfield won the toss and batted. We had two guest fielders, one John Straker and the other Koby Freer, after Richard Nolan lost a fight with a pothole in the warm-up. Straker, Weatherall and O'Connell took three each in a clinical display, bundling Fairfield out for 92. We took 25 overs to chase the small total down – Dylan Holdstock and Christian Bennett the major contributors. Very comprehensive performance, and a very rare early mark.

Round 12 vs Gordon – This match will do down as one of the most extraordinary many have been involved in. Our first two-day match of the season and week one was washed out, luckily without needing to travel to Killara. Wet weather in the lead-up to week two didn't leave us with much confidence. We won the toss and batted, giving us the power of when to declare. Fletcher Graham again starred with the bat, as all batsmen got starts. After about three rain delays and a lunch break (reducing the day to 99 overs), we declared on 154, leaving Gordon 47 overs to bat. There were stages throughout their innings where neither team knew if a result would be possible. Bowling was made difficult with constant drizzle throughout the innings, but surprisingly no more delays. So, the stage was set, we'd rallied hard and wickets were hard to come by. Will Straker's second spell was impressive: wet ball, no movement off the pitch or in the air, but a funny deck all the same. Off the last over, we needed 3 wickets and Gordon needed 5 runs - Straker with ball in hand, a ring field set. The first ball, the batsman on 18 tried to heave it over the top, mis-hitting it straight to Jake O'Connell at mid-off. Second ball, short of a length, the batsman was caught on the crease, hitting him on the knee-roll, out lbw. 9/150, 5 required, 4 balls remaining...third ball (now this is possibly the worst cricket shot I've seen, given the circumstances), the batsman threw his hands at a wide-ish length ball, splaying it in the air to a diving Piggott in the covers. The slippery ball was held, hat-trick for Straker, 7 wickets for Straker, massive win for the Sharks! Credit here to all Sharks for doing covers all day, staying positive and fighting until the final over.

Missed Opportunities

Round 5 vs Bankstown – We won the toss and bowled on what was forecast to be a mid-40s day. We bowled very well to restrict the Dogs to a modest 150, on a good pitch. This was the first match our batting depth was really tested, with a few players moving up the grades, we were bundled out for 110 – very disappointing result considering the form we were in.

Round 6 vs Penrith – We boasted probably our strongest side of the season with the likes of Ball, Amos, Green and Milliken. A wicket early then a stubborn 45-run partnership before we took wickets in quick succession, leaving them 7/96. Their tail wagged and we dropped away in the field, expecting things to happen, resulting in a competitive 163 set by Penrith. A very strong start by the Sharks, posting 50 without loss before the wheels started falling off. We lost 5/20 before the lower order rallied a little. We were all out 131 and another huge opportunity missed to cement a spot in the 6.

Round 7 vs Campbelltown (18th on table) – Keen to get back on the winners list, we again put a very good side on the park, including special guest Daniel Rixon. Sitting well at 5/150, we eventually limped to 187 and were relatively confident given the experience in our attack. To the Ghosts' credit, they batted well; however, we missed some vital chances at big stages and again faded in the field. Our bowlers didn't quite have the penetration we needed and they passed us with 17 balls to spare.

Round 11 vs Randwick (20th on table) – One of the hardest losses in my recent memory. Pinned against a Randwick side who were winless, we didn't do much right all day. It must be mentioned that the previous week, we skittled Fairfield for 92. They posted 203 on a good pitch. We didn't

take our chances, there were also some questionable captaincy decisions made; however, for a side pushing to play finals, we should have come very close to their total. What happened in the next 27.1 overs is pretty hard to think about. Three scores in double figures and eight scores under 7. Understandably, there were reports of the Randwick song being heard in Wollongong.

Round 14 vs Manly – Sent in on a damp morning after rain in the lead up. We lost Fletcher Graham early and had a run of promising partnerships without blowing Manly away. We slumped to 5/75 then 6/96. Holmes and Straker combined for a 42-run partnership, but we again lost quick wickets to be bundled out for 164. Manly negotiated 23 overs without loss, taking honours for day 1. Manly started day 2 where they'd left off. Straker struck with the total on 88 with a great off-cutter, but there weren't really any highlights for the Sharks on day 2. Will bowled 27 overs, 12 maidens in taking 2/41 and was the pick of the bowlers. A credit to Manly's patience, it took 77 overs for them to pass our total, and 54 overs to reel in the remaining 97 runs required on day 2.

Round 15 vs North Sydney – Holmes finally won a toss and elected to bat, a decision that was not looking overly educated as the Sharks slumped to 5/32. Jake O'Connell and Cody Phillipson combined for an excellent 110-run stand, including one of the biggest sixes I have seen in grade cricket from Jake. Phillipson and Holmes added another 52 as we inched close to 200. After 50 overs, we ended on 8/202, a very competitive total. O'Connell finished with 78 and Phillipson 64. A fiery start with the ball from O'Connell, taking one in the first over, then debutant Tom Vandermaal struck twice in an over to have Norths 3/20. A 60-run stand before another debutant, Jarrod Graham, claimed his first 3rd Grade wicket. Jarrod showed no sign of nerves in his first spell, taking 1-15 off 8. Spinners Bedi and Will Vandermaal then bowled well through the middle overs to give us a good chance. O'Connell returned for his second spell, claiming the wicket of their set batsman, Will took his second and the scene was set for a thrilling finish. 14 needed off the final over. Norths got the job done in the end with a ball to spare; however, the young Sharks should be proud to have taken a stacked top 3 side down to the wire after the start we had.

Acknowledgements

Even though the terms 'pivot' and 'unprecedented' are on every 2020 Bingo card, I think they're pretty fitting descriptions of what the club was able to achieve this season. As always, thanks to the committee and coaching staff for their role in keeping the cogs moving (in no particular order):

- Dan Rixon and his coaching team again a difficult season to navigate with weather, facilities and pandemics. Always made the best of bad situations, stayed positive and gave all players the resources they need to succeed.
- Tom Iceton for his general management of all things operational, struggles with Sutherland Oval, gear, scores and everything else he does behind the scenes.
- Phil Weatherall for the entertaining mid-week conversations to get the teams locked away. One of the tougher jobs in the club and does it with a smile and positivity week in week out.
- Mat Duff, Dave Cush and Paul Burg for their great communication, support and advice throughout the season
- John Straker and Koby Freer for their fielding cameos in round 10
- The other skippers (Chris, Josh, James and Nathan). Always great to bounce ideas off, with some of us still learning about this captaincy stuff.
- Last but not least, the other 25 guys who played a game of 3rd Grade this season. We improved on the previous season and got very close to playing finals cricket. With talent coming through the grades and another year's experience under the belt, we will play finals in the near future!

3RD GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
W.Vandermaal	7	6	1	82	252	50.4
B.Piggott	6	6	1	76	251	50.2
C.Philipson	8	7	3	64	116	29.0
D.Holdstock	6	5	1	28 *	88	22.0
F.Graham	9	9	0	53	192	21.3
J.O'Connell	13	9	1	78	144	18.0
S.Thornton	13	13	1	35	182	15.2
J.Mohammed	7	7	3	22 *	55	13.8
R.Nolan	7	7	0	28	77	11.0
M.Holmes	12	8	0	35	86	10.8
K.Weatherall	12	7	3	9	23	5.8

Also played : J.Almond 2-2-1-25-39-39.0, N.Amos 1-1-0-32-32-32.0, R.Bremer 3-3-0-60-88-29.3, D.Rixon 1-1-0-21-21-21.0, Lachlan Ball 2-2-0-22-38-19.0, L.Hehir 2-2-0-16-2-12.0, J.Green 1-1-0-10-10-10.0, W.Straker 8-4-0-20-39-9.8, C.Bennett 4-4-0-21-38-9.8, R.Bedi 6-3-2-6*-7-7.0, J.Johnston 5-4-0-12-26-6.5, R.Bull 2-1-0-6-6-6.0, A.Watkiss 1-1-0-6-6-6.0, J.Graham 1-1-0-0-0-0.0, T.Vandermaal 1-1-0-0-0-0.0, P.Driscoll 1-1-1-7*-7- --, S.Milliken 1-1-1-6*-6- --, K.Freer 1-DNB.

Highest scores : W.Vandermaal 82 v.Parramatta, 59 v.Western Suburbs, 56* v. St.George; J.O'Connell 78 v.North Sydney; B.Piggott 76 v.Parramatta, 65 v.St.George; C.Philipson 64 v.North Sydney; R.Bremer 60 v.Western Suburbs; F.Graham 53 v. Gordon, 51 v.Sydney.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
C.Bennett	4	13.2	1	44	6	7.3
W.Straker	8	85.4	19	235	18	13.1
J.Mohammed	7	42.0	3	137	9	15.2
K.Weatherall	12	88.1	10	349	18	19.4
R.Bedi	6	48.0	7	165	8	20.6
J.O'Connell	13	99.3	11	344	15	22.9
M.Holmes	12	75.0	10	266	9	29.6

Also bowled : J.Green 7-2-11-2-5.5, S.Milliken 5-1-6-1-6.0, P.Driscoll 10-3-20-2-20.0, N.Amos 5-0-11-1-11.0, T.Vandermaal 6-0-23-2-11.5, D.Rixon 10-0-25-1-25.0, J.Almond 20-1-88-3-29.3, J.Graham 9-0-31-1-31.0, W.Vandermaal 16.2-2-76-2-38.0, R.Nolan 34-1-182-2-91.0.

Best bowling figures : K.Weatherall 7-43 v.Sydney; W.Straker 7-53 (incl hat-trick) v. Gordon.

Wicketkeeping : C.Philipson 8 catches; J.Johnston 7 catches; R.Bull 1 catch.

Catches : K.Weatherall 6; B.Piggott 5; J.O'Connell, W.Straker, S.Thornton 4 each; M.Holmes, W.Vandermaal 3 each; J.Almond, R.Bedi, F.Graham, L.Hehir, R.Nolan, A.Watkiss 2 each; N.Amos, R.Bremer, P.Driscoll, T.Vandermaal 1 each.

FOURTH GRADE

In summary, season 2020-21 for SDCC 4th Grade was of great success. After a hindered start to the season to the unprecedented pandemic 2020 encountered, the team quickly came together with unbelievable team chemistry. The season was unknown for me, being my first time captaining and having a very inexperienced team compared to other Sydney Grade clubs. The team throughout the season displayed great fighting spirit and camaraderie, winning tough matches. Through some momentum and some team belief, the next thing we knew we were headed to the Final. Fourth Grade were Premiers of 4th Grade for 2020-21.

Throughout the season, we were lucky in that we had a core playing group for the majority of matches. This allowed for a great camaraderie to occur, leading to a fighting mentality even when we looked out of matches. A strong leadership group of Christian Bennett, Liam Hehir, Patrick Driscoll, Luke Hawkworth and Cody Phillipson assisted me throughout the matches in leading the young players and reinforcing our fighting mentality throughout the season. In numerous matches, we bounced back when things got hard, showing a great personality trait for a team. Our mentality all year in 4th Grade was team-first mentality. This view allowed the 4th Grade team to succeed in my eyes.

Throughout the season, our core bowling group stood up, consistently bowling out teams for low scores. Statistics will show our dominance with the ball, led by Tom Straker, Zac Phillipson, Pat Driscoll and Christian Bennett; their consistency each week was incredible. I would like to thank all the players for such an enjoyable and memorable season. The journey of season 2020-21 will never be forgotten in my eyes, playing alongside great mates throughout the season. I would also like to give a special thank you to all of the parents and family members in supporting the team and assisting me in scoring, bringing equipment and allowing players to go to team-bonding functions.

Matches to remember:

Hawkesbury (Round 13 at Bensons Lane). A 2-day match changed to a 120 over all day match. A win was needed, as the ladder was really close. The match against an inferior opposition was an important match to stay in the 6. As we fought to 183 off 62.4 overs, this was due a great batting performance by Christian Bennett 43 and Hayden Lindsay 50. It was a match which needed vital decisions, weighing up time and runs to allow for victory to occur to allow us time to get 10 wickets. We declared on 183, giving us 55 overs to bowl out Hawkesbury for the win. As the pitch flattened out, it was going to be an incredible task but with all confidence in our bowling unit, we got the job done with all 11 players fighting hard and supporting each other. Great performances by Tom Straker 4-46 and Zac Phillipson 4-24 got vital wickets when time was running out to get an important victory away from home.

UTS North Sydney (Round 15 at Tonkin). A one-day match was the most vital round of the season as a win would put us into the top 2, earning a second chance in the finals series. As North Sydney batted first, they posted a total of 166 with Zac Phillipson again taking 4 wickets. Christian Bennett (2-22 off 10) and Patrick Driscoll (1-12 off 10) kept it tight, bowling great economical spells in the one-day format. We had to chase 166 to win. We had a collapse early, being 4/77. The nerves ran through all the players but Luke Hawksworth had other things on his mind, steering the team to a vital win, getting 95 not out.

Sydney University (Semi-Final at Glenn McGrath Oval). We progressed to the semi-final due to a washout in the Qualifying Final. We were playing against a hard experienced opposition in Sydney

University. Sydney University batted first and it was a hard slog in the field for us Sutherland boys, as Sydney University posted 4/315 where nothing went right. As a team, we were frustrated and down. But we still had to do a job with the bat. As we got through the night no wickets down, we were full of confidence to hopefully play out a draw on day 2.

Day 2 the boys knew their job. It was a simple job: bat all day on a slow low pitch. Next thing we knew, we were 6/31 - a long way from getting a draw or win to that exclusive Final. We were shocked and shattered, but there was still a glimmer or diminishing light of hope. As I walked to the crease, my heart sank but all I wanted myself and the boys to focus on was each individual ball. We celebrated each over we survived. As the hours passed, Zac and I just kept batting with this perception of celebrating each over we met each other in the middle. As we got to tea 8 down, we could see the finish line as a long last session occurred. We somehow bounced back from elimination. All credit to Zac Phillipson on an unbelievable performance of 51 runs off 195 balls. Also, Luke Ritchie who survived 40 minutes with me. We finished the day only 9 down, resulting in a draw. Still to this day, I do not know how we ended up getting through that match to go on to the big dance.

St George (Final at Hurstville Oval). As we ventured to Hurstville Oval for the Final, we were so excited but nervous. We lost the toss and were sent in to bat first on a wet slow pitch, run scoring was difficult. As we did consistently all season, we fought to 161. A total I never thought we would get after we were 7/87. Key performances by Dominic Michalak who got 52 runs off 59 balls in a winning batting innings, Luke Hawksworth in a very patient and valuable 35 runs off 138 balls and Luke Ritchie 21 off 25 balls allowed us to post a total of 161. The next day we turned up confident and nervous but the big man Patrick Driscoll calmed everyone's nerves by taking 3 wickets in the first over, as St George sunk to 3/2. The feeling in the huddle in that over was electric. Then entered Tom Straker, the young buck bowling fast and intimidating. The St George batsmen did not know what to do, resulting in Tom taking 6 wickets for 12 runs. The last wicket for victory was surreal.

We won the competition with such a young close talented team. It was an honour to lead these great mates throughout the season and get the big cup at the end of the season. What a performance. What a season by 4th grade.

Season Highlights/Statistics:

• Tom Straker – 37 wickets and great figures in the Final of 6-12 and a great bowling performance against Hawkesbury 4-46

• Zac Phillipson – 33 wickets and best figures of 4-24 against Hawkesbury and a great knock of 51 in the semi-final off 195 balls

• Patrick Driscoll – 22 wickets and best figures of 4-19 against St George and, in my personal opinion, his best performance 3-17 taking 3 wickets in the first over of day 2 in the Final

• Christian Bennett – 9 wickets and best bowling performance of 3-22 and batting runs 238 best score of 65 against Gordon

• Luke Ritchie – 8 wickets and best bowling of 2-10 and best batting was in the finals, a valuable 21 in the Final and amazing courage to block out 40 minutes in the semi-final for 9 not out off 41 balls

• Luke Hawksworth – 263 runs and best performance of 95 not out against North Sydney to place us in 2nd at the end of the season

• Tavish Humphreys-Jones – 143 runs and highest score of 82 runs against Western Suburbs

• Dominic Michalak – 84 runs but a high score and a valuable 52 runs in the Final and 4-21 against Manly

- Hayden Lindsay high score of 50 fighting runs against Hawkesbury
- Liam Hehir a quick 44 runs against Manly
- Richard Nolan 3-11 against Manly

JAMES HAWKSWORTH

Editor's Note: As James mentioned at the start of his report, he had no previous captaincy experience. His achievement in taking 4ths to the premiership was outstanding. He finished the season with 436 runs at an average of 72.67, winning the Club's batting average award. A number of his innings were crucial to the team winning matches, but his best innings was to save a draw. This is the report that I posted on the club website after that innings:

Yesterday, I watched one of the most remarkable cricket matches ever played by a Sutherland team in the 4th Grade semi-final at Glenn McGrath Oval. On Saturday, we sent Sydney Uni in to bat and they responded with 4/315 off 77 overs before declaring, leaving us 17 overs to negotiate at the end of the first day. At one stage, Uni were 1/231. A makeshift opening partnership of Pat Driscoll (who normally bats at no.11 and had only batted three times in 4ths this season, the last time on 9 Jan) and Tavish Humphreys-Jones (who last played 4ths on 23 Jan) took to the crease with the sole aim to survive for 17 overs. They almost made it, with Tavish being run out in a mixup shortly before stumps. Pat did his job perfectly, remaining not out on 8 off 56 balls. The other not out batsman was AWG captain Tom Straker (who had only batted four times in 4ths this season, the last time at no.9 on 16 Jan).

The equation on Sunday was to either score 292 runs off a minimum of 96 overs or bat the day out for a draw, in order to advance to next weekend's final. Pat was caught behind off the first ball of the day and, a few overs later, three wickets fell in one over to leave us reeling at 5/25. Tom was playing a resolute innings at the other end, playing straight and not taking any risks. At 11.16am in the 12th over of the day, the sixth wicket fell at 31 and captain James Hawksworth strode to the crease with a seemingly impossible task of steering his team through at least another 85 overs for a draw. Tom fell for 25 off 73 balls with the score on 70 and shortly after, the eighth wicket fell at 76. Zac Philipson joined James in the middle with 12 minutes remaining till lunch. I was at home at the time. When I saw the score, I thought I'd better get back to GMO quickly as the match mightn't last much past the lunch break!

James and Zac started after lunch with a fierce determination to stay at the crease for as long as possible. They played straight and only played attacking shots to bad balls. Gradually the overs ticked by and two hours later, they were still there when the teams trudged off for afternoon tea. Play resumed at 3.30pm and on they went. It was now apparent that Uni were going to bowl more than 96 overs in the day if the match went the distance. Zac brought up his maiden grade half-century and was finally out lbw at 4.53pm for a fine 51 off 195 balls (7 fours and 1 six). He and James had put on 137 off 390 balls for the 9th wicket – a new partnership record for 4th Grade.

Luke Ritchie joined James in the middle with a nerve-wracking 37 minutes still to go. Soon after, James brought up a magnificent century to the wild delight of the crowd that had steadily been building throughout the afternoon as word spread of the heroics that were unfolding. As each over passed, every ball was now being applauded! Finally, Luke blocked out the 105th over of the day and the match was drawn in scenes of great jubilation from players and supporters alike – Sutherland 9/231 off 122 overs!! As we placed higher on the ladder (both teams finished on 65 points but our quotient of 1.6377 narrowly pipped Uni on 1.4934), a draw was as good as a win to take us into the final.

James Hawksworth had just played what is most likely the greatest captain's knock under pressure by a Sutherland player in our 56-year history. He batted from 11.17am to 5.32pm – five hours 15 minutes – and faced 282 balls (hitting 17 fours). He was at the crease for 93.5 overs. When the eighth wicket fell, we could only afford to lose one more wicket for 77.5 overs – and we did! A measure of the concentration by James and Zac is that they played 238 and 175 dot balls respectively!

And so we head to Hurstville Oval on the Easter weekend to take on the minor premiers St.George in the local derby. There will be no playing for a draw this time!

The Final turned out to be another enthralling cricket match. This is the report I posted on the website:

St.George sent us in at Hurstville Oval on a tacky pitch on Saturday morning after the start of play was delayed by 30 minutes. It was slow going against their medium-paced but accurate attack. Their reading of the pitch resulted in the opening bowler starting the final without a slip, a policy that didn't change throughout his opening spell of 30 overs. Early wickets saw us on 3/3 after 12 overs. Luke Hawksworth and Liam Hehir steadied things and took us to lunch on 3/37 off 31 overs. After lunch, the score meandered to 4/45 off 44 overs and 5/61 off 55 overs, when Luke was dismissed for 35 off 138 balls, an indication of how difficult batting was. At tea, we were 5/70 off 64 overs. After tea, we were 6/71 off 69 overs, 7/87 in the 77th and 8/102 in the 82nd after the second new ball had been taken.

At this stage, Dominic Michalak decided enough was enough. He attacked the bowling at both ends, moving from 14 off 33 balls to 52 off 58 balls before he was caught in the deep off his 59th ball. He hit 8 fours and put on 50 off 44 balls for the 9th wicket with Luke Ritchie. Luke scored 21 off 25 balls, with 2 fours. Once again, the 9th wicket partnership was the crucial one in our innings, as the momentum swung slightly our way. We finished all out for 161 in the 92nd over. St.George had three overs to face and finished the day on 0/2. If we had been all out shortly after the 8th wicket fell, they would have had about 40 minutes to bat and things might have been quite different.

On Sunday morning, it was important for us to get off to a good start to be able to apply similar pressure to the St.George line-up. Pat Driscoll promptly delivered just about the perfect over for the first over of day two in a final: . W W . . W !! Three wickets in five balls and St.George's fate was just about sealed. Our pace attack of Philipson, Straker, Driscoll and Ritchie bowled with much more fire that the medium pacers we had struggled against on a tacky pitch on Saturday. Tom Straker took wickets with the last ball of his first over of the day and then the first ball of his next, to have St.George reeling at 5/23 in the 17th and himself be on a hat-trick. He took his third wicket in his third over of the day and they were 6/25 off 19. A fourth wicket in the final over of his spell had them 7/38 in the 25th and Tom had figures for the day of 6-1-7-4. At lunch, it was 7/53 off 30 overs.

Luke Ritchie struck in the second over after lunch and then Tom took the final two wickets to finish with the remarkable figures of 14-5-12-6. St.George were all out 45 minutes after lunch for 57 off 41 overs and the celebrations began! The umpires awarded the David Givney Medal for Player of the Final to Tom Straker, our AWG captain this season who had only turned 16 two weeks before the final. His 6-12 is the second-best bowling performance for Sutherland in a winning 4th Grade final (our 10th overall), behind Paul Lennon's 9-19 in 1965-66.

When we were 8/76 at 12.18pm on day two of the semi-final, it would have been a brave man to predict that we would go on to be premiers. When we were 8/102 in the 82nd over on day one of the final, it still looked a long way off. After playing 11 limited overs matches, two one day non-limited overs matches and only one two-day match during the competition rounds, we had only four 9th wicket partnerships in those matches for a total of 45 runs. The last time we required a 9th wicket partnership was on 9 January. The partnership of 137 off 390 balls in the semi-final between James Hawksworth and Zac Philipson in the semi-final was extraordinary and saved the match. The partnership of 50 off 44 balls between Dominic Michalak and Luke Ritchie was at the other end of the scale in terms of run-rate, but no less significant in the context of the match. It changed the direction of the final and ultimately the result.

James Hawksworth finished the competition with 436 runs at an average of 72.67, the leading average and second-best aggregate. Tom Straker took 37 wickets at 11.65, the leading aggregate in the competition. Zac Philipson had the second-best aggregate with 33 wickets at 12.76, while Pat Driscoll was equal 11th on the aggregate list with 22 wickets at 14.86.

Tom had the equal fifth-best aggregate across all five grades:

Smith Raval (Blacktown 1sts/2nds)	48 wickets at 17.29
Henry Clark (Sydney Uni 2nds)	45 wickets at 12.53
Ben Joy (Sydney Uni 1sts)	41 wickets at 17.00
Ryan Hadley (Manly 1sts)	39 wickets at 21.13
Tom Straker (Sutherland 4ths)	37 wickets at 11.65
James Shepherd (West Subs 2nds)	37 wickets at 15.23

It has been a very different season to what we consider normal. The lower grades started at the end of October, there were no catered afternoon teas, umpires carried the match ball onto the field in a plastic bag and did not hold bowlers' caps, players were not allowed to use saliva or sweat to shine the ball, everyone had to supply their own drink bottle and food and at times the social distancing rules prevented all 11 players from being in the dressing room at the same time. In spite of all this, the season was completed with only one COVID-related disruption (the abandonment of day two of round 8). In this different world in which we find ourselves, it has still been an enjoyable season and everyone involved in administration, umpiring and playing should feel satisfied that we made it to the end!

Tom Iceton



4TH GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
J.Hawksworth	15	13	7	110 *	436	72.7
L.Hawksworth	9	9	1	95 *	263	32.9
C.Bennett	12	11	1	65	238	23.8
Z.Philipson	15	11	3	51	181	22.6
L.Hehir	10	9	1	44 *	135	16.9
D.Michalak	7	6	1	52	84	16.8
T.Humphreys-Jones	10	9	0	82	143	15.9
C.Philipson	6	5	1	22	52	13.0
H.Lindsay	13	12	0	50	140	11.7
Luke Ritchie	16	11	3	21	79	9.9
T.Straker	16	7	1	25	58	9.7
P.Driscoll	15	5	2	8	20	6.7

Also played : S.McCulloch 3-2-0-37-66-33.0, F.Graham 5-4-1-54-89-29.7, D.Rixon 1-1-0-22-22-22.0, J.Weaver 4-3-1-26-35-17.5, J.Turner 3-2-0-28-32-16.0, R.Nolan T.Vandermaal 4-2-0-11-11-5.5, R.Bedi 2-1-0-0-0-0.0, I.Ul-haq 1-1-1-7*-7---.

Highest scores : J.Hawksworth 110* v.Sydney University (Semi-final), 61 v.Bankstown; L.Hawksworth 95* v.North Sydney; T.Huphreys-Jones 82 v.Western Suburbs; C.Bennett 65 v. Gordon; F.Graham 54 v.Western Suburbs; D.Michalak 52 v.St.George (Final); Z.Philipson 51 v.Sydney University (Semi-final); H.Lindsay 50 v.Hawkesbury.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
R.Bedi	2	20.0	5	43	6	7.2
T.Straker	16	136.3	24	431	37	11.6
Z.Philipson	15	137.2	20	421	33	12.8
P.Driscoll	15	133.0	31	327	22	14.9
C.Bennett	12	71.4	21	190	9	21.1
J.Hawksworth	15	59.1	11	165	8	20.6
Luke Ritchie	16	49.2	8	185	8	23.1

Also bowled : W.Straker 6-3-19-2-9.5, D.Niumataiwalu 19-4-50-5-10.0, D.Michalak 34-12-63-5-12.6, R.Nolan 26-7-53-4-13.3, I.Ul-haq 7-1-19-1-19.0, T.Vandermaal 19-3-80-2-40.0, D.Rixon 2-0-10-0, S.McClloch 5-3-12-0, L.Hehir 7-0-37-0, T.Humphreys-Jones 5-0-40-0.

Best bowling figures : T.Straker 6-12 v.St.George (Final), 5-39 v.Campbelltown-Camden, 4-41 v.Gordon, 4-46 v.Hawesbury; P.Driscoll 4-19 v.St.George; R.Bedi 4-21 v. St.George; D.Michalak 4-21 v.Manly-Warringah; Z.Philipson 4-24 v.Hawesbury, 4-34 v.Parramatta, 4-45 v.North Sydney.

Wicketkeeping : L.Hawksworth 16 catches, 1 stumping; C.Philipson 14 catches, 2 stumpings; J.Weaver 7 catches.

Catches : J.Hawksworth 9; C.Bennett 6; Z.Philipson 4; S.McCulloch, D.Michalak, T.Straker, T.Vandermaal 3 each; P.Driscoll, L.Hehir, T.Humphreys-Jones 2 each; F.Graham, H.Lindsay, D.Rixon, Luke Ritchie, W.Straker, J.Turner, I.Ul-haq 1 each.

FIFTH GRADE

Another year and another strange season that was interrupted by rain, heat and Covid-19. Add in 13 one-day matches and the season felt like it never really got going in any way, shape or form. After finishing 3rd the previous season, and making the finals for the third season in a row, we had reasonably high hopes going into the new season. However, we started the year with me as the only remaining player that finished the season last season and the majority of the team were very inexperienced. We were really outplayed for most of the season, finishing with only 4 wins, 4 draws and 7 losses. Most of the wins were tight and the losses heavy.

We debuted 12 players throughout the season and a large portion of the 32 players we used throughout the year will hopefully benefit from the return of the Metro Cup side next season to allow them to play consistent cricket on turf against adults. They will be much better for the experience and all matured a lot in their cricket as the season progressed. There wasn't a lot to write home about in the individual performances department, no player scored 200 runs and no player took 20 wickets.

The majority of the side was as follows:

Tim Brandt – Tumbles threatened to have a breakout season a number of times but just didn't quite crack it. Reliable with bat and ball and his fielding has improved a great deal the last couple of years. He is a player that got so much out of a full season of Metro Cup the previous season. Has other sporting interests, but I hope he doesn't give up on cricket just yet, he could be a handy middle grade all-rounder.

Steve Kourouche – The Magician opened the batting, opened the bowling, captained and kept wicket at various stages throughout the season and basically took on whatever role was needed in the side at any given week. His 68 in the oppressive heat at Bankstown was a key reason we won our first match of the year, more on that later. Ever encouraging to the younger players coming through and always on hand to assist in their development.

Jamie Weaver – Started the season in 4ths and then finished in 5ths. I was hoping for more from Jamie this season. Got a lot of starts but failed to go on with it. His keeping improved throughout the season and needs to continue to put in at training to make a fist of grade cricket. He is capable but just may require more time and hard work. Sported some very average haircuts throughout the season, and was put on mute multiple times in the field due to his terrible chat.

Luke Mecham – Another who is capable and talented but too often is looking for an excuse to fail and take the easy way out. Needs to accept that grade cricket is more than the half hour you may bat for every second Saturday. Would benefit greatly from a full season of Metros. He will get there but just needs time to mature in a cricket sense and would have learned a lot from batting with Flynn Parker to guide us home in the last match of the season. Along with Jamie, was muted a number of times in the field.

Will Norris – Great team man who continues to improve bit by bit. It can be a long road bowling finger spin in grade cricket and Will needs to take comfort in the fact that he is still very young and has plenty of time. I am sure in a couple of years he will be a handy middle grade cricketer who can bat in the middle order and bowl handy left arm. Better in the longer form and probably suffered a bit from us defending small totals all the time. Fields well and was a real leader in a very young and inexperienced team. His bowling may not have yet reached where he wants it to

be, but his understanding of the game has improved greatly and has a keen desire to win. All attributes that will hold him in good stead.

Ihsan Ul-Huq – In a side that lacked much firepower, Ihsan was basically it. Bowled some really good spells of fast bowling but just wasn't able to do it with enough consistency to see him progress through the grades. His batting was entertaining to put it mildly. Has a good pair of hands and provided a lot of spark in the field with his encouraging chat.

Jarrod Graham – on his day, Hood is better than a fifth grade bowler, the problem is that it only happens a few times a season. The difference between his best cricket and worst cricket is far too great. Got the yips a couple of times during the season and mostly this is down to how nervous he gets bowling. Of the 10 best spells bowled in fives this season, Jarrod would have featured 3 times, but also would have featured on the other end of the scale. Works really hard on his batting and fielding and they have improved a lot over the last couple of seasons. Dead ringer for Happy Gilmore's Caddy.

Dave Niumataiwalu – played a mix of 4ths and 5ths this season and was consistently good in his matches in 5ths. I think he is a better first change bowler than a new ball bowler. Sets high standards for himself which will hold him in good stead as he progresses through the grades. Like Jarrod, works really hard on his batting and fielding which will help him go through the grades. If he stays injury free, he won't play much fifth grade next season.

Luke Lawless – After seeing Lucy roll them out at the Green Shield trials over the last few years and then in the grade trials this season, I didn't see him playing much this year. He hardly missed a training session during the season and in the end was ultimately rewarded for his hard work and persistence. Tried his heart out in the first couple of matches no matter what situation he was in and continued to play the remainder of the season. Desperately needs to play some twoday cricket to get his rhythm going and hopefully will get that next season either in 5ths or Metros. I can see him developing into a handy lower grade cricketer with some more experience.

Tom Vandermaal – Didn't have his best season this season and is much better suited to the twoday stuff. Lacked the pace and penetration that he had the previous season and took less than half the wickets in the same number of matches. Even his application to his beloved score book was a bit out of sorts this season. Hopefully will be back next year and start again.

Luke Cutcliffe – Cutty came onto the scene late in the season after Greenies and bowled really well in the matches that he played. Will be a handy asset next season, still has a lot to learn about bowling spin against men but already possesses a good cricket brain and a competitive nature. Handy with the bat as well, would be great to see him next season with a full year of grade cricket under his belt.

Lachlan Milmlow – Minners was in and out of the team a lot this season and never really nailed down a spot. Still very green and has a few technical issues with his batting that make it hard for him against a moving ball. Like Lucy, he applied himself well at training and will continue to improve. He will benefit greatly from a full season of Metro Cup and learning to get through the early period of his innings and then bat time. Great team player with the smallest hands in grade cricket.

Tavish Humphreys-Jones – Dale was up and down between 4ths and 5ths through the season and always performed in some way when in 5ths. He has been around for near on 50 matches

now and is just starting to crack what grade cricket is about. Scored 82 in 4ths and took 5-24 in 5ths. His best returns to date in both aspects. Ended up being part of a premiership in 4ths and hopefully that will propel him forward.

Things that only happen in fifth grade:

- Steve Kourouche opened the batting against Bankstown and rocketed along to 68 with runs flowing behind point at a rate of knots. After attempting what must have been his 78th cut shot of the day, he managed to clean up all three stumps, he then turned around to the keeper and asked him if he did it.
- After a good bowling performance to restrict Penrith to 200, we were flying along at drinks and needed 60 off the last 12 overs with 6 wickets in hand and Hayden Lindsay spanking them to all parts not out on 71. The pitch was still quite tacky from rain in the lead up to the day and a couple of light showers throughout. Tumbles Brandt then tripped over midpitch and was run out, which in turn made the umpires deem the pitch unsafe to continue and subsequently packed up the stumps and called time, with us 3 runs behind on D/L. No consultation with either team had happened to this point about the state of the pitch and 90 overs had been played to this point without incident.
- With the match in the balance against Wests, Will Norris blocked a ball to mid-wicket and his partner Ihsan decided this was as good a time as any to walk down and do some gardening and offer some words of encouragement to his partner. The only issue was the ball was still live and Ihsan was run out at the non-striker's end whilst standing in the middle of the pitch.
- Chad Gilmour was the first of 2 former first grader cameos we had during the season, after he got stuck in NSW when Victoria closed their borders. Happy got a nose-bleed batting 9 and decided to have a sighter first ball he faced and watched it sail over middle and leg stump by a coat of varnish. He then proceeded to try and hit the next ball into the next postcode and missed. There was a hat-trick to finish the match at the other end, so his innings was short but as always entertaining.
- After a terrific spell to finish the season taking 5-24, Tavish went up to 4ths for their finals campaign and didn't bowl a ball in the remaining three matches.
- Cruising against Randwick, we needed 40 to win with 7 wickets in hand and 16 overs to get them. We were all out in the last over, falling 5 runs short and losing 7/35 across that period on as flat a pitch as we got during the season.
- Luke Lawless broke through for his first grade wicket, taking 3-7 to clean up the Gordon tail, the only issue was his old man had ducked up to the shops to get some lunch and missed all of it.
- Jay Holley was our next cameo and with us chasing 138 vs Gordon, and our batting order looking fragile as we were forced to reshuffle when day 1 was washed out leaving 120 overs and a 9.30am start at Gordon, we were unable to use any juniors and had to field a side that consisted of 7 bowlers, 2 keepers and 2 bats, Jay bashed 83* to see us home by 4 wickets. Only 1 other batsman scored double figures.
- Round 14 vs Manly, we won the toss and batted on a reasonably good pitch; however, after the first 12 overs, we were 6/20. A couple of small partnerships saw us creep to 71. In reply we had Manly 5/28, before their senior players got them over the line to be all out 84. We then walked off the field at what the umpires had told us was stumps and proceeded to pack up to leave, only for the umpires to come in and tell us that the Manly captain had called the competition manager, who had in turn spoken to the umpires and informed them that their call of stumps was incorrect, and that we had to play another 4 overs to complete the day. We restarted 35 minutes after the previous call of stumps in

farcical circumstances. Tavish started boundary, boundary, bowled which turned into ugly scenes between the two sides. We struggled along through the next day, losing wickets regularly before Alex Watkiss went ballistic, scoring 91 in no time and between himself, Dave Niu and Jarrod Graham, saw us leave Manly 160 to win off 24 overs and an outright victory would secure them a place in the finals. Manly got off to a flyer and we dropped catches at regular intervals, before Dave Niu struck twice and I struck once in the third last and second last overs, leaving Manly needing 7 off the last over with 3 wickets in hand. Dave Niu struck first ball of the last over then had the next batsman dropped first ball, a regulation chance behind the stumps. Manly then played out the remaining 4 deliveries, shunning the chance for outright victory, leaving them to finish short with 2 wickets in hand and miss the finals.

 That match was also unusual as we were forced to use 3 keepers in the first 25 overs after Jamie Weaver hurt his back batting. I started with the gloves, then had to give them to Watkiss when I needed to come onto bowl when our quicks were getting spanked around. Kisser then in his first 10 balls with the gloves, took 2 catches and dropped a sitter. Jamie then rose from the dead to take the gloves back over.

Inexperience cost us most of the time throughout the year, and although we finished with a last over victory against Norths in the final round, we limped home to finish 15th, which was probably the position that we deserved. We were unable to put together long periods of good cricket and after every match, we spoke about not giving momentum back to the opposition when we have it but inevitably we always did. There were times in every match where we were in it but would then compound the errors we made with more errors and ultimately beat ourselves before the opposition had the chance to.

As it stands, this will be my last season as skipper in fives. After four seasons, three finals campaigns and a premiership, it is time for someone else to take over and re-energise the role. I will also be taking a break from playing for the foreseeable future. After captaining various grades for the past 8 seasons, 8 years of committee duties, 6 seasons of Green Shield involvement, add in a newborn and a couple of businesses, it's time to take a break after 17 seasons of grade cricket. I will be continuing on the committee and look forward to watching a bit more cricket next season. I'm sure I will fill in for a match or two somewhere. Thanks to my fellow committeemen, the coaching staff and Chairman of Selectors for their assistance throughout the last few seasons.

See you around the grounds.

NATHAN WHITTINGHAM

5TH GRADE

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
N.Whittingham	9	8	0	37	162	20.3
J.Turner	5	6	0	45	117	19.5
T.Brandt	10	11	0	79	198	18.0
S.Kourouche	7	7	0	68	116	16.6
J.Weaver	7	8	0	38	128	16.0
W.Norris	11	11	1	30	132	13.2
D.Niumataiwalu	6	6	2	17	50	12.5
L.Mecham	6	7	1	17	58	9.7
J.Graham	11	8	4	21 *	36	9.0
T.Humphreys-Jones	4	5	0	18	44	8.8
L.Lawless	6	6	2	13 *	34	8.5
C.Goodger	5	5	0	11	25	5.0
I.Ul-haq	6	5	1	8 *	18	4.5

Also played : H.Lindsay 2-2-1-71*-109-109.0, J.Holley 2-2-0-84-86-43.0, L.Hehir 3-3-0-48-102-34.0, A.Watkiss 2-3-0-91-91-30.3, L.Cutcliffe 4-4-1-34*-85-28.3, A.Rider 2-2-0-31-42-21.0, D.Michalak 1-1-0-15-15-15.0, S.Spyrides 1-1-0-15-15-15.0, A.Frazer 1-1-0-13-13-13.0, L.Milmlow 4-4-0-24-36-9.0, T.Vandermaal 5-2-1-7-7-7.0, P.Leate 3-3-1-4-7-3.5, Z.Franken 2-2-0-5-5-2.5, R.Bull 1-1-0-0-0-0.0, S.FitzGibbon 1-1-0-0-0-0.0, F.Parker 1-1-1-24*-24- --, Z.Whetters 2-1-1-19*-19- --, S.Niumataiwalu 1-1-1-5*-5- --, C.Gilmour 1-1-10*-0- --.

Highest scores : A.Watkiss 91 v.Manly-Warringah; J.Holley 84 v.Gordon; T.Brandt 79 v. Randwick Petersham; H.Lindsay 71* v.Penrith; S.Kourouche 68 v.Bankstown.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
N.Whittingham	9	94.3	30	237	16	14.8
T.Humphreys-Jones	4	42.0	1	144	9	16.0
J.Graham	11	49.4	3	209	13	16.1
L.Lawless	6	25.2	1	121	7	17.3
I.Ul-haq	6	56.0	7	219	12	18.3
D.Niumataiwalu	6	57.2	11	206	10	20.6
W.Norris	11	57.0	3	239	9	26.6

Also bowled : S.FitzGibbon 4-0-12-1-12.0, S.Spyrides 10-3-30-2-15.0, C.Gilmour 10-0-34-2-17.0, J.Holley 7-0-22-1-22.0, L.Cutcliffe 47-4-129-5-25.8, P.Leate 14-2-58-2-29.0, T.Vandermaal 51-13-136-4-34.0, T.Brandt 48-3-183-5-36.6, Z.Franken 14-1-75-2-37.5, S.Kourouche 19-1-71-1-71.0, S.Niumataiwalu 9-1-21-0, D.Michalak 3-0-32-0.

Best bowling figures : T.Humphreys-Jones 5-24 v.North Sydney; N.Whittingham 4-21 v.Manly-Warringah; J.Graham 4-35 v.Penrith.

Wicketkeeping : J.Weaver 12 catches, 1 stumping; C.Goodger 2 catches; A.Watkiss 2 catches.

Catches : N.Whittingham 9; J.Graham 5; T.Brandt 4; L.Hehir, D.Niumataiwalu, I.Ul-haq, T.Vandermaal 3 each; L.Cutcliffe, J.Holley, T.Humphreys-Jones 2 each; S.Kourouche, L.Lawless, H.Lindsay, W.Norris 1 each.

POIDEVIN-GRAY SHIELD

PGs this season had yet another inconsistent season; however, it was filled with many positives that I'm sure the boys will learn from and take into their future matches. Starting the campaign off with a great win against UNSW gave us a good representation of what our team had to offer. Winning every T20 match that we played and being involved in a couple of last over narrow losses that could've swung our way, our season could've looked very different.

There was a lot of potential shown during this season, especially with a few of the youngsters showing great promise for the rest of their PG campaigns.

A massive thank you to Phil Weatherall and Mat Duff for coaching us this season, who provided us with a lot of knowledge and insight that I know each player will take into their future years, as well as plenty of laughs.

Ethan Deal: our resident keeper for the season, Ethan provided safe hands for the bowlers, with 7 dismissals for the season, as well as showing great talent with the bat.

Luke Hawksworth: Luke had a great start to his final season of PGs with solid performances with the bat, highlighted by his 63 off 48 against UNSW. It was unfortunate that he was unavailable for the second half of the season apart from the final round against Mosman, where he again showcased his skill with 46 off 83.

Justin Green: Greeny had a great season with both bat and ball, showing his talent as an allrounder. Despatching the St George bowlers over the fence at Hurstville Oval in round 4 being one of his highlights for the season.

Andrew Ritchie: the silent assassin, Andrew was our leading wicket-taker for the season and showed his ability with the bat, being lethal in all aspects of the game.

Dylan Holdstock: Dylan was our leading run-scorer this season with 186 runs at 37.2. Highlighting his good season with the bat was his gutsy 67 against Randwick Petersham.

Brendon Piggott: also his final season of PGs, you could always count on Marnus to give some encouragement in the field no matter the situation of the match. A very handy addition to the middle order and a constant in the high traffic areas in the field.

Flynn Parker: In his final season of PGs, Flynn has gone out with a bang, being our team's strike bowler who would always rush the batter with his pace. Also boasting a handy 34 runs at 34, only being dismissed once, showing his capability with the bat.

Jake O'Connell: in his first season at the Sharks, Jake has made a great impression, showing a lot of control and skill with the ball whilst also being a great left-hand option. His highlight being 3-28 against Randwick Petersham which almost got us over the line.

Kieran Weatherall: Kieran and had a great start to his PGs career, showing a lot of control with the ball. Finishing with 6 wickets at 15.67, he was always a reliable option.

Reaf Bremer: Reaf only played 2 matches for us this season, but he provided us with a great batting option, highlighted by his 20 against Randwick Petersham opening the batting.

Lachlan Ball: Always doing what the team needed of him, Bally spent time developing his fielding to allow him to fit into the team as a batter. Whilst he didn't quite get the opportunity to show his talent, he was a great member of the squad.

Richard Nolan: Rich provided a leg spin option for us this season and whilst only playing 3 matches, made an impact with the ball in each one. Finishing with 3 wickets at 19.33, he showed his capabilities as a wrist spinner.

Ronak Bedi: another leg spinner who showcased his skills this season, Ronak showed great promise with the ball. In the 2 matches he played, he got 3 wickets at 18. A lot of promise as a wrist spinner for future years.

NICK AMOS

Editor's Note: Nick did a fine job as captain in a difficult season. He finished with 145 runs at 24.2 and 4 wickets at 24.0. His higher grade experience enabled him to show the way to the younger players in the squad, who are sure to benefit from the experience.

POIDEVIN-GRAY SHIELD

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
D.Holdstock	6	6	1	67	186	37.2
F.Parker	6	4	3	22 *	34	34.0
L.Hawksworth	5	5	0	63	169	33.8
N.Amos	6	6	0	66	145	24.2
J.Green	6	6	0	50	136	22.7
J.O'Connell	4	3	1	24	41	20.5
E.Deal	6	6	0	36	92	15.3
B.Piggott	6	6	1	30	74	14.8
R.Bremer	2	2	0	20	29	14.5
Lachlan Ball	2	2	1	6	11	11.0
A.Ritchie	6	6	1	18	52	10.4
K.Weatherall	6	3	2	3 *	4	4.0

Also played : R.Bedi 2-1-0-0-0.0, R.Nolan 3-1-1-7*-7---.

Highest scores : D.Holdstock 67 v.Randwick Petersham; N.Amos 66 v.Sydney; L.Hawsworth 63 v.University of NSW; J.Green 50 v.Mosman.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
J.O'Connell	4	26.0	1	93	6	15.5
K.Weatherall	6	23.0	0	94	6	15.7
J.Green	6	39.1	3	135	8	16.9
R.Bedi	2	12.0	1	54	3	18.0
A.Ritchie	6	38.0	0	165	9	18.3
R.Nolan	3	11.0	2	58	3	19.3
F.Parker	6	27.3	1	136	6	22.7
N.Amos	6	18.0	1	96	4	24.0

Also bowled : D.Holdstock 8-0-37-1-37.0.

Best bowling figures : J.Green 3-20 v.Mosman; F.Parker 3-22 v.University of NSW; R.Bedi 3-23 v.St.George; A.Ritchie 3-24 v.St.George; J.O'Connell 3-29 v.Randwick Petersham; K.Weatherall 3-34 v.Randwick Petersham.

Wicketkeeping : E.Deal 7 catches.

Catches : L.Hawksworth 7; D.Holdstock 4; F.Parker 3; N.Amos, R.Bedi, J.O'Connell 2 each; R.Bremer, J.Green, A.Ritchie, K.Weatherall 1 each.

A.W.GREEN SHIELD

2020-21 will be a season that will go down as a learning experience for all players involved. A young squad, this season's team will look back on a series of opportunities in key moments which we failed to capitalise on, mixed with plenty of positive signs as we look towards next season and beyond.

Unfortunately having only 2 players score over 100 runs for the competition, one individual score of 50+ and no bowlers in the competition's top 50 wicket-takers, it was always going to make winning matches challenging, but the team always stuck at it and gave their all. A wonderful win against Hawkesbury at Glenn McGrath Oval was good reward for these efforts.

There can be absolutely no faulting the commitment and dedication of this playing group and it was incredibly pleasing to see the bulk of this side play key roles in Sutherland winning the U/15 Weblin Shield Final in February.

With these players returning and the addition of other talented players, season 2021-22 is shaping up to be a very successful one!

Tom Straker – A tremendous talent, Tom was appointed Captain and led the team superbly. Tom again bowled with great pace this season and caused opposition batsmen no end of trouble. Some of Tom's spells were a joy to watch, such as his 3-27 (10) v Penrith, 2-17 (9) vs Hawkesbury and his unplayable bowling against Wests going for only 6 in his 6 overs. A genuine all-round option, Tom capped off his season by taking 6-12 in the club's 4th Grade Final win against St George and claiming the player of the match award.

Saul Spyrides – After getting an opportunity last season, Saul returned this season as a top order bat, bowling option and part of the senior player group. A man of many nicknames, Saul showed his class with a tough 47 against Fairfield on a difficult Sutherland Oval pitch. Captain of Sutherland's successful Weblin Shield side, Saul also scored consistently throughout that

competition, including topping the runs in the Final with 38 in a tight low scoring affair. A player with enormous potential, Saul will once again be a key member of this side in 2021-22.

Lachlan Ritchie – A talented all-rounder, Lachlan impressed in both disciplines throughout the season. Playing a key role in the Weblin Shield Final with 2 big wickets and adding some large scores throughout that competition, Lachlan displayed his all-round ability. The youngest of the 3 very talented Ritchie cricketing brothers, I am very excited to see Lachie's continued development next season.

Lachlan James – A secnd year player, Lachie was both a batting and bowling option within the squad again this season. A left arm swing bowler and bat capable of hitting a long ball, Lachie showed maturity and good match awareness with a couple of determined innings. The highlight being top scoring with 26 against Wests in Round 5.

Eden Winney – A tall strong fast bowler, Eden bowled with good pace and always ran in hard for the team. Often bowling without luck while creating chances, Eden continued to give his all. Eden performed well in Watson Shield, taking regular wickets.

Sam Niumataiwalu – A great competitor and personality, Sam always provided energy, enthusiasm and leadership amongst the squad. Sam was outstanding with both bat and ball and dug the team out of more than a few tough situations with his lower order batting and skilful death bowling. Always putting a high price on his wicket, Sam played some key innings and finished with an average of 30 and a bowling average of 26 to claim genuine all-rounder status! Will be great to have Sam back again next season.

Sam FitzGibbon – Fitzy was a player who really capitalised and made the most of every opportunity he was presented with. Impressing in all preseason sessions, Sam bowled with good skill and control and finished the competition taking the new ball. Sam's batting was the same, coming in at No.11 vs Penrith at 9/124, Sam along with Sam Niu nearly guided us to a remarkable victory, putting on 58 for the last wicket. Sam earned promotion up the order and followed up with 28* in our win vs Hawkesbury.

Jared Ball – A stylish top order bat, Jared has all the skills and class required to progress into grade cricket. Jared scored well in Watson Shield throughout that competition, but unfortunately batted without much luck in Green Shield. A tremendous slips fielder, Jared's two sharp grabs, one off the genuine pace of Tom Straker and the other while up to the spin of Alec Dobson, showed his exceptional hands.

Aidan Rider – Aidan impressed from the very first preseason session and showed great maturity and leadership throughout. Top scoring in our trial match vs St George, Aidan was promoted to the top of the order against Hawkesbury where he scored the team's only half century with an impressive 53. Aidan kept well across all 7 matches and now has grade cricket experience to build on next season.

Ashton Frazer – Another first year player, Ashton who is also a talented wicket keeper was our opening bat in all 7 matches. Ashton displayed a good temperament and a wonderful cricket IQ. Ashton performed well, highlighted by a strong 3 matches stretch in which he scored 29,32,43 to finish as the team's leading run-scorer.

Jake St John – An organised top order bat with a great temperament and the ability to bat long periods, Jake showed his ability with a good innings of 31 in tough conditions against Fairfield, putting on a 72 run partnership with Saul Spyrides. Unfortunately, a shoulder injury limited his game time early in the competition, but Jake bounced back well and went on to be a wicket-taking option with a very respectable bowling average of 18.5

Kobey Freer – The youngest player in the squad still with two more seasons of Green Shield ahead of him, Kobey was a great presence around the side. Playing some good innings such as 29 v Penrith and a determined 36 v Mosman, Kobey showed enormous potential. However, perhaps his highlight was his spell of 10 straight overs opening the bowling vs Fairfield, where he turned the match in our favour, finishing with 3-21.

Alec Dobson – One of our two country players, Alec returned after being a development player last season. A talented bat / spin bowling all-rounder and excellent in the field, Alec's commitment to travel from Coolangatta (near Shoalhaven Heads) to training and matches was outstanding. Alec is constantly outstanding in country cricket competitions and with the ability to bat anywhere in the order and bowl key overs, it would be great to see more of Alec at Sutherland again next season

Lyndon Coward – A tremendous athlete, Lyndon suffered a blow with an injury interrupting his preparation for the competition. Once healthy, Lyndon bowled with great pace and was always making something happen with ball in hand. Bowling without much luck but always asking questions, Lyndon possesses the tools to progress into grade cricket next season. A handy batsman and blistering across the field, Lyndon will be an asset to any team.

Luke Cutcliffe – A very talented young leg spinner who bowls with great control, Luke finished as our leading wicket-taker with 7 wickets at a very respectable 21. Luke's spell of 2-22 off his 10 vs Hawkesbury was vital in helping the side secure victory. Also a talented bat, Luke has had success with both bat and ball at 5th Grade level and will continue to impress in grade cricket in the years to come.

I'd like to give a special mention to our Development Players – Koby Lillis, Max McCarron-Carr, Lachlan Clark, Cooper Jones, Thomas Sheehy and Josh Cameron who trained hard and turned up with the right attitude. You were fantastic to have around and we all look forward to seeing you involved again next season.

To Assistant Coach / Manager Ben Williams, thank you for the time and effort you put in to assist throughout not only the preseason, competition and selections but also for your countless hours of hard work behind the scenes that often goes unnoticed. The boys and I were very lucky to have you on board! Thank you.

A huge thank you also must go to all parents, family members and friends who came out to all the matches. It was great to see so many supporters on match days and I can say how much that was appreciated by everyone.

Looking forward to a successful 2021-22.

A.W. GREEN SHIELD

Batting	Matches	Innings	Not Out	H.Score	Runs	Average
S.Niumataiwalu	7	6	4	31 *	60	30.0
S.FitzGibbon	6	5	1	30	72	18.0
A.Frazer	7	7	0	43	119	17.0
K.Freer	7	7	1	36	95	15.8
J.St.John	4	4	0	31	58	14.5
A.Rider	7	7	0	53	101	14.4
L.James	6	4	1	26	43	14.3
L.Cutcliffe	7	6	2	16 *	57	14.3
S.Spyrides	7	7	0	47	98	14.0
T.Straker	7	6	2	25 *	50	12.5
Lachlan Ritchie	6	5	0	12	42	8.4
A.Dobson	4	3	0	10	15	5.0
J.Ball	5	5	0	12	23	4.6

Also batted : L.Coward 4-DNB, E.Winney 3-DNB. P.Leate 6-DNB.

Highest scores : A.Rider 53 v.Hawkesbury.

Bowling	Matches	Overs	Maidens	Runs	Wickets	Average
J.St.John	4	6.4	0	37	2	18.5
K.Freer	7	17.0	2	62	3	20.7
L.Cutcliffe	7	40.1	5	150	7	21.4
A.Dobson	4	14.0	0	72	3	24.0
S.Niumataiwalu	7	31.0	5	106	4	26.5
T.Straker	7	51.4	9	170	6	28.3
S.FitzGibbon	6	34.2	6	124	4	31.0

Also bowled : S.Spyrides 13-2-50-1-50.0, Lachlan Ritchie 18-1-76-1-76.0, J.Ball 0.1-0-4-0, L.James 13-1-55-0, E.Winney 10-0-60-0, L.Coward 21-5-76-0.

Best bowling figures : K.Freer 3-21 v.Fairfield-Liverpool; T.Straker 3-27 v.Penrith.

Wicketkeeping : A.Rider 9 catches.

Catches : J.Ball, K.Freer 3 each; L.Cutcliffe, S.FitzGibbon, S.Spyrides, T.Straker 2 each; A.Frazer, L.James, Lachlan Ritchie 1 each.

TEAM RECORDS

All Grades

Highest Team S Highest Individ Best Bowling Fi Highest Batting Highest Bowlin Most Wicketke Most Catches b	ual Score gures Aggregate g Aggregate eping Dismissals	7/585 321 10-115 975 73 52 20	D.Malo R.Davis		09-10 06-07 15-16 95-96 95-96 05-06 70-71
	Part	nerships			
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	R.Furner-T.Cadden J.Biviano-S.Watson D.Rixon-Jamie Brown S.McInnes-A.Phillips T.Brennan-G.Kenny S.Rixon-G.Horner J.Brockley-B.Marciante Dylan Smith-Shayne Smith J.Burnett-J.Bills A.Phillips-D.Marandola	255 300 347 252 234 261 179 147 183 , 195	AWG 1sts 2nds 3rds 4ths 1sts 2nds P-G * 2nds 3rds	 v. M&S Western v. St.George v. Hawkesbury v. Bankstown v. Campbelltown v. Campbelltown v. Parramatta v. Nthn Dist (Qual final) v. Gordon v. St.George v. Western Suburbs 	93-94 17-18 15-16 10-11 92-93 88-89 09-10 10-11 11-12 03-04
	Firs	st Grade			
Highest Team S Highest Individ Best Bowling Fi Highest Batting Highest Bowlin Most Wicketke Most Catches b	ual Score gures Aggregate g Aggregate eping Dismissals	6/500 321 9-24 975 60 52 17	v. Nort P.Jaque E.Cotto R.Davis J.Slatte D.Rixon M.D.O	on son ery n	06-07 06-07 68-69 95-96 70-71 05-06 04-05
	Part	nerships			
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	J.Biviano-C.Williams J.Biviano-S.Watson N.Maddinson-S.Cush R.Davison-S.Rixon P.Jaques-J.Young S.Rixon-G.Horner J.Steed-A.Clark R.Every-S.Gilchrist K.Brockley-J.Wilson K.Brockley-J.Wilson	206 300 219 247	v. Haw v. St.Ge v. Penr v. Penr * v. Penr v. Parra v. Ranc	ith ith ith amatta dwick man-Middle Harbour amatta	18-19 17-18 11-12 88-89 05-06 88-89 87-88 68-69 16-17 16-17
	Seco	nd Grade	e		
Highest Team S Highest Individ Best Bowling Fi Highest Batting	core ual Score gures	7/585 272 10-115 777		one son	09-10 15-16 15-16 85-86

Highest Batting Aggregate Highest Bowling Aggregate Most Wicketkeeping Dismissals Most Catches by Fieldsman

 51
 M.Black
 73-74

 50
 J.Brockley
 09-10

 18
 D.Celep
 01-02

TEAM RECORDS (cont'd)

Partnerships

		r ar an er sin ps	
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	D.Simpson-R.Davison K.Thessman-P.Lynam D.Rixon-Jamie Brown J.Packer-D.Rixon Jamie Brown-M.Hughston J.Burnett-B.Dwarshuis J.Brockley-B.Marciante J.Packer-M.Carroll J.Burnett-J.Bills G.Davies-C.Gilmour J.Arnold-E.Bagnall	 213 v. Mosman-Middle Harbour 202 v. Eastern Suburbs 347 v. Hawkesbury 199 v. Blacktown 199 v. North Sydney 196 v. Blacktown 179 v. Northern District (Qual final) 144 v. St.George (Final) 183 * v. St.George 71 v. Bankstown 71 v. Parramatta 	85-86 01-02 15-16 03-04 15-16 12-13 09-10 95-96 11-12 10-11 16-17
		Third Grade	
Highest Team So Highest Individu Best Bowling Fig Highest Batting Highest Bowling Most Wicketkee Most Catches by	ial Score gures Aggregate g Aggregate eping Dismissals	 391 v. Balmain 199 J.Holley 9-45 P.McCann 697 S.Wishart 57 M.Black 34 M.Morgan 15 A.Phillips 	87-88 92-93 70-71 77-78 84-85 06-07 11-12
		Partnerships	
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	D.Watson-K.Humphreys T.Woodhill-K.Humphreys B.Kirby-P.Bourke S.McInnes-A.Phillips A.Clark-J.Clark M.Condon-J.Clark A.Hale-D.Mann R.Shawl-D.Coots A.Kay-M.Ray A.Phillips-D.Marandola	 249 v. Parramatta 181 v. Hawkesbury 196 * v. Northern District 252 * v. Bankstown 204 v. Campbelltown 186 v. Manly-Warringah 141 * v. Petersham-Marrickville 128 v. Western Suburbs 95 v. Gordon 195 v. Western Suburbs 	86-87 89-90 91-92 10-11 86-87 84-85 87-88 83-84 69-70 03-04
		Fourth Grade	
Highest Team So Highest Individu Best Bowling Fig Highest Batting Highest Bowling Most Wicketkee Most Catches by	ial Score gures Aggregate g Aggregate eping Dismissals	7/465 v. Mosman 201 * T.Brennan 9-19 P.Lennon 807 B.Hazell 59 R.Longbottom 40 M.McLeay 40 B.Miller 17 A.Craig	10-11 92-93 65-66 71-72 65-66 66-67 06-07 01-02
		Partnerships	
FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH: TENTH:	A.Craig-M.Ridge A.Griffiths-K.Hatherly L.Dudman-D.Reynolds L.Malin-J.Burnett T.Brennan-G.Kenny D.O'Brien-G.Glover K.Lamb-J.Moffat L.Malin-D.Eaglesham J.Hawksworth-Z.Philipson C.McCarron-S.Hair	 219 v. Hawkesbury 191 v. Bankstown-Canterbury 173 * v. St.George (Final) 207 v. St.George 234 v. Campbelltown 136 * v. Bankstown-Canterbury 152 v. Petersham-Marrickville 143 v. St.George 137 v. Sydney University (Semi-final) 124 v. Penrith 	03-04 68-69 99-00 06-07 92-93 75-76 76-77 98-99 20-21 02-03

TEAM RECORDS (cont'd)

Fifth Grade

Highest Team S	core	8/401	v. North Sydney	15-16
Highest Individ	ual Score	197 *	[•] M.Hughston	16-17
Best Bowling Fi	gures	9-43	G.Geraghty	89-90
Highest Batting	Aggregate	699	K.Wilmott	06-07
Highest Bowlin	g Aggregate	73	P.Purcell	95-96
•	eping Dismissals	32	S.Gordon	97-98
		32	J.Wall	02-03
Most Catches b	y Fieldsman	20	S.Hall	70-71
	Par	tnerships		
FIRST:	A. Dibley-A. Watkiss	217	v. Northern District	13-14
SECOND:	R.Chivers-K.Wilmott	263	v. Campbelltown-Camden	06-07
THIRD:	Steven Smith-S.Duff	280 *	v. Western Suburbs	04-05
FOURTH:	M.Bradley-D.Givney	179	v. Mosman	10-11
FIFTH:	M.Condon-R.Duff	233	v. University of N.S.W.	92-93
SIXTH:	J.Green-Steven Oxley	163 *	[•] v. North Sydney	70-71
SEVENTH:	L.Miller-S.Kourouche	151	v. North Sydney	15-16
EIGHTH:	G.Horner-J.Beattie	141	v.Sydney	12-13
NINTH:	D.Eaglesham-C.Pendergast	89	v. Bankstown-Canterbury	00-01
TENTH:	J.Wagner-C.Lawton	101	v. Bankstown-Canterbury	74-75

Poidevin-Gray Shield

Highest Team Score	5/345	v. University of NSW	11-12
Highest Individual Score	180	T.Doyle	15-16
Best Bowling Figures	7-31	G.Barry	74-75
Highest Batting Aggregate	470	Jamie Brown	14-15
Highest Bowling Aggregate	28	N.Howard	88-89
Most Wicketkeeping Dismissals	22	G.Davison	88-89
Most Catches by Fieldsman	11	D.Holley	90-91

Partnerships

FIRST:	S.Peters-M.D.O'Brien	199	v. Waverley	94-95
SECOND:	R.Davison-P.Weatherall	234	v. University of N.S.W.	87-88
THIRD:	M.Probert-D.Godkin	157	v. Eastern Suburbs	98-99
FOURTH:	P.Clark-P.Wilson	123	v. Waverley	81-82
FIFTH:	Jamie Brown-J.Rose	134	v. North Sydney	14-15
SIXTH:	A.Fleming-R.Shepherd	129	v. Parramatta	02-03
SEVENTH:	T.Doyle-A.Whatley	148	v. Fairfield-Liverpool	13-14
EIGHTH:	Dylan Smith-Shayne Smith	147	v. Gordon	10-11
NINTH:	J.Ford-A.Humphries	114	v. St.George	70-71
TENTH:	M.Heslehurst-T.Moreland	75	v. Sydney University	00-01

A.W.Green Shield

Highest Team Score	2/325 v. M&S Western	93-94
Highest Individual Score	166 * C.D'Arcy	13-14
Best Bowling Figures	7-13 S.Woodley	81-82
Highest Batting Aggregate	490 C.Lake	93-94
Highest Bowling Aggregate	37 A.Hale	86-87
Most Wicketkeeping Dismissals	22 T.Moreland	97-98
Most Catches by Fieldsman	11 S.Peters	92-93

TEAM RECORDS (cont'd)

Partnerships

FIRST:	R.Furner-T.Cadden	255	v. M&S Western	93-94
SECOND:	M.Probert-C.Lake	192	v. Campbelltown	94-95
THIRD:	G.Marston-P.Venn	194	v. Western Suburbs	66-67
FOURTH:	T.Cadden-R.Furner	141	v. Bankstown-Canterbury	93-94
FIFTH:	J.Holley-J.Sheehy	131	v. Fairfield	91-92
SIXTH:	P.Fisher-P.Doherty	91	v. Western Suburbs	68-69
SEVENTH:	G.Lowy-M.Lans	126	v. Blacktown	16-17
EIGHTH:	J.Horner-J.Almond	120	v. Manly-Warringah	13-14
NINTH:	S.Newman-B.Dwarshuis	83	v. Fairfield-Liverpool	07-08
TENTH:	D.Niumataiwalu-W.Norris	70 *	* v. North Sydney	18-19

100 MATCHES IN ALL GRADES

527 D.Givney	229 G.Marston	166 B.Gorman	143 K.Rynne	114 C.Weatherall
383 A.Clark	225 S.Cush	164 P.Fisher	142 L.Hawksworth	113 W.Moodie
356 C.Williams	225 J.Dyson	163 A.Northridge	142 R.Shepherd	112 C.Lucas
348 M.Ridge	225 J.Zywietz	162 T.Pinson	139 K.Brown	112 Daniel Simpson
346 K.Meadows	223 G.Warry	161 J.Arnold	138 J.Rafique	110 T.Freeburn
344 D.Rixon	222 M.Carroll	161 A.Phillips	138 P.Saroukos	110 J.Sands
341 M.Bradley	218 Linton Ball	160 G.Bailey	138 Steven Smith	109 S.Khan
333 G.Barry	216 D.Fallins	160 M.Probert	137 S.Willis	109 D.Reynolds
327 M.Hughston	215 E.Atkins	158 L.Casey	136 C.Hockey	109 I.Stephen
327 P.Weatherall	215 G.Coleman	158 B.Hard	136 L.Malin	108 L.Ritchie
315 L.Dudman	208 T.Doyle	157 N.Loder	135 R.Mills	107 D.Celep
313 M.D.O'Brien	202 A.Hilditch	156 J.Clark	134 T.Harvey	107 P.Driscoll
311 J.Holley	199 B.Dwarshuis	156 J.Dunbar	133 C.Dodd	106 G.Davies
310 B.Davison	196 R.Davison	155 S.Dawes	132 L.Joyce	106 K.Symons
299 K.Tuite	192 S.Clark	153 P.Cox	130 Shayne Smith	106 W.Vandermaal
296 M.Duff	192 I.Everett	153 C.Parsons	130 H.Watson	104 N.Amos
287 J.Packer	190 A.Whatley	153 Dylan Smith	129 B.Hazell	104 M.Brown
271 Justin Kenny	189 J.Young	151 R.Bain	128 J.Slattery	104 M.Earley
270 N.Whittingham	188 J.Biviano	151 P.Clark	127 M.Jones	104 R.Gilmour
266 C.Macnamara	188 S.Duff	151 M.Gardner	126 M.Heslehurst	104 K.Hatherly
258 P.Jaques	185 G.Horner	151 B.O'Dowd	126 S.Milliken	104 Trent Smith
257 M.Chapman	183 J.Tuccia	151 R.Wade	126 K.Rose	103 G.Bannon
253 J.Burnett	181 A.Fleming	150 D.Eaglesham	126 T.Woodhill	103 A.Humphries
253 D.Mann	181 G.Murphy	150 J.Steed	125 G.Davison	103 M.Kelly
251 B.Johnson	179 T.Brennan	149 J.Derwent	125 B.Malbon	103 R.Rempt
247 M.Black	177 C.Christie	149 K.Lamb	124 A.Campbell	103 K.Richards
243 D.Holley	176 R.Archibald	148 J.Horner	123 D.Murphy	102 B.Miller
240 A.Craig	175 A.Mann	147 Jayden Brown	121 D.Russell	102 T.Reynolds
240 D.Watson	175 S.Pickering	147 N.Howard	119 G.Glover	101 G.Barron
238 K.Humphreys	174 J.Bills	147 C.Lake	119 S.Kourouche	101 M.Condon
237 N.Fitzgerald	172 M.Lumb	146 A.Watkiss	119 T.Moreland	101 B.Connell
237 T.Iceton	171 J.Brockley	145 D.McLauchlan	118 J.Almond	101 J.McInnes
236 Jamie Brown	170 H.Reus	144 Bryan Dawson	118 S.Newman	100 B.Pratt
235 L.Fleming	168 S.Manning	143 C.Gilmour	116 R.Chivers	100 J.Smythe
231 G.Hilzinger	168 P.Venn	143 K.Hudson	115 S.Hair	
230 G.Kenny	167 S.Boehm	143 I.Napper	114 M.Preddey	

50 MATCHES IN ONE GRADE

First Grade				
274 D.Rixon	149 D.Fallins	113 T.Doyle	90 A.Fleming	61 N.Maddinson
218 A.Clark	134 G.Warry	112 B.Gorman	89 Steven Smith	59 I.Napper
210 M.Bradley	131 P.Weatherall	108 D.Mann	84 E.Cotton	56 G.McGrath
210 P.Jaques	129 R.Bain	105 R.Wade	82 K.Tuite	55 R.Every
208 M.D.O'Brien	128 J.Tuccia	102 M.Brown	81 P.Saroukos	55 L.Fleming
203 M.Hughston	128 S.Cush	102 M.Brown 101 R.Davison	80 G.Bailey	54 G.Roden
197 L.Dudman	127 E.Atkins	101 T.Pinson	77 D.McLauchlan	54 A.Zampa
188 J.Young	127 B.O'Dowd	100 M.Ridge	75 I.Wilson	52 S.Duff
183 J.Holley	126 M.Black	99 A.Campbell	72 P.Clark	52 M.Gardner
181 Justin Kenny	124 Jamie Brown	99 A.Hilditch	69 G.Marston	51 G.Horner
173 N.Fitzgerald	123 S.Clark	96 Linton Ball	69 S.Rixon	51 N.Howard
171 C.Williams	122 J.Biviano	92 B.Davison	65 D.Murphy	51 J.Packer
166 M.Chapman	119 G.Barry	92 C.Dodd	63 J.Slattery	51 H.Reus
152 J.Dyson	114 B.Dwarshuis	91 L.Johns	62 G.Barron	01
102 9.0 (0011	111 0.0 Warshalo			
Second Grade				
167 K.Tuite	91 N.Whittingham	75 P.Fisher	61 C.Macnamara	52 M.Black
142 J.Packer	89 J.Burnett	75 N.Howard	57 S.Boehm	52 M.Bradley
139 G.Barry	88 M.Carroll	73 K.Humphreys	56 J.Derwent	52 M.Hughston
129 M.Ridge	86 L.Ball	69 H.Reus	56 C.Gilmour	52 F.Timbrell
121 D.Givney	85 G.Marston	65 R.Archibald	56 K.Williams	50 R.Cartwright
110 B.Johnson	83 S.Pickering	65 P.Venn	54 J.Bills	50 D.Russell
105 B.Davison	82 C.Williams	64 K.Brown	54 S.Manning	
99 G.Coleman	80 A.Clark	64 A.Northridge	53 T.Freeburn	
99 D.Holley	80 I.Everett	62 S.Duff	53 R.Waddington	
95 J.Brockley	78 D.Celep	61 L.Fleming	53 P.Weatherall	
Third Grade				
148 M.Duff	90 K.Humphreys	72 K.Meadows	59 C.Macnamara	52 K.Brown
137 G.Kenny	89 Bryan Dawson	71 J.Derwent	58 C.Lake	52 J.Burnett
136 J.Zywietz	87 G.Hilzinger	65 B.Johnson	55 A.Craig	51 C.Gilmour
121 G.Murphy	76 D.Holley	62 A.Mann	55 G.Davison	51 K.Hatherly
112 A.Phillips	75 B.Davison	59 N.Loder	53 L.Fleming	50 M.Condon
100 D.Watson	73 P.Weatherall	59 M.Lumb	53 J.Rafique	
Fourth Grade				
169 T.Iceton	77 R.Mills	68 L.Casey	59 J.McInnes	55 M.Lumb
124 A.Craig	76 M.Duff	66 K.Lamb	58 J.Dunbar	55 K.Meadows
93 D.Watson	73 D.Givney	65 B.Hard	58 M.Ridge	53 L.Maloney
90 C.Macnamara	71 R.Gilmour	62 J.Burnett	57 G.Glover	52 D.Lawrence
79 R.Chivers	70 G.Kenny	62 M.Jones	56 M.Burg	51 J.Bills
Fifth Grade				
290 D.Givney	113 S.Kourouche	72 N.Whittingham	58 J.Dunbar	51 R.Mills
161 K.Meadows	91 D.Eaglesham	63 G.Horner	55 S.Dawes	50 K.Lamb
130 C.Christie	74 K.Rynne	60 S.Hall	51 M.Jones	-
	· -			

20 MATCHES IN AGE COMPETITIONS

Poidevin-Gray Shield

Poidevin-Gray Shield	1			
40 L.Hawksworth	30 M.D.O'Brien	27 Dylan Smith	24 C.Parsons	21 N.Howard
37 J.Arnold	29 R.Davison	27 Shayne Smith	23 B.Dwarshuis	21 S.Manning
34 A.Whatley	29 D.McLauchlan	26 A.Hilditch	23 J.Dyson	21 G.Warry
33 L.Dudman	28 M.Bradley	25 D.Russell	23 D.Holley	21 A.Waugh
32 Jamie Brown	28 T.Brennan	25 R.Shepherd	23 D.Murphy	21 K.White
32 Jayden Brown	28 M.Hughston	25 L.Talay	23 D.Rixon	20 G.Davison
32 D.Fallins	28 P.Jaques	24 G.Bailey	23 Trent Smith	20 I.Everett
32 D.Mann	28 M.Probert	24 L.Fleming	22 G.Bannon	20 S.Khan
31 C.Williams	27 J.Holley	24 C.Hockey	22 S.Hair	20 D.Reynolds
30 J.Brockley	27 G.Marston	24 K.Hudson	22 B.Malbon	20 J.Sands
30 T.Doyle	27 T.Moreland	24 M.Lumb	21 K.Brockley	
A.W.Green Shield				
24 J.Horner	23 Jamie Brown	22 A.Whatley	20 L.Dudman	
24 M.Probert	23 D.Fisher	21 K.Hudson	20 Dylan Smith	
23 J.Arnold	23 J.Rose	21 D.Koprivec	20 Shayne Smith	
	CAPTAINE	D 50 MATCHES IN A	ALL GRADES	
275 D.Givney	91 N.Whittingham	75 A.Phillips	61 C.Macnamara	50 A.Campbell
142 T.Iceton	87 J.Dyson	73 C.Christie	60 G.Barry	50 R.Hobden
110 G.Murphy	84 I.Napper	73 G.Kenny	58 J.Packer	50 K.Tuite
103 B.Davison	83 J.Burnett	73 K.Lamb	57 P.Jaques	
99 B.Johnson	82 M.Hughston	66 M.Duff	54 J.Holley	
99 C.Williams	76 J.Young	66 B.Pratt	53 A.Clark	
95 B.Hazell	75 A.Craig	65 K.Hatherly	51 S.Hall	
	CAPTAINE	D 30 MATCHES IN C	ONE GRADE	
First Grade				
80 J.Dyson	64 M.Hughston	47 P.Jaques	39 S.Duff	30 J.Bolster
80 C.Williams	52 I.Napper	47 M.D.O'Brien	37 S.Rixon	
76 J.Young	47 E.Cotton	45 A.Campbell	33 G.Errington	
Second Grade				
60 J.Burnett	43 D.Givney	40 I.Everett	39 J.Packer	37 K.Tuite
52 G.Barry	40 A.Clark	39 B.Davison	38 N.Whittingham	30 G.Le Huray
48 B.Johnson				
Third Grade				
92 G.Murphy	60 A.Phillips	49 B.Davison	33 K.Hatherly	32 K.Humphreys
63 M.Duff	59 G.Kenny	41 J.Zywietz	32 B.Dawson	
Fourth Grade				
131 T.Iceton	51 C.Macnamara	42 L.Maloney	32 K.Hatherly	30 K.Lamb
74 A.Craig	42 B.Hard	41 D.Watson	30 B.Hazell	
Fifth Grade				
232 D.Givney	52 N.Whittingham	51 S.Hall	46 S.Kourouche	44 G.Horner
73 C.Christie				

CAPTAINED 15 MATCHES IN AGE COMPETITIONS

Poidevin-Gray Shield

15 Jamie Brown

LEADING SEASON PERFORMANCES (INCLUDING L/O & AGE COMPETITIONS)

BATTING (800 RUNS)

BATTING (800 RUNS)												
		1sts	L/0	T20	NPT20	2nds	3rds	4ths	5ths	P-G	AWG	Total
R.Davison	1995-96	975	171			-	-	-	-	-	-	1146
P.Jaques	1999-00	775				-	-	-	-	357	-	1132
Jamie Brown	2015-16	81	_	101		528	-	-	-	410	-	1120
A.Hilditch	1974-75	638	_	101		-	-	-	-	456	-	1094
Jamie Brown	2017-18	852	15	203		-	-	-	-	-	-	1070
J.Brockley	2011-12	71	-	200		536	-	-	-	413	-	1020
P.Jaques	1997-98	421	19			326	-	-	-	239	-	1005
M.Bradley	1996-97	170	118			544	-	-	-	165	-	997
P.Jaques	1998-99	731	57			-	-	-	-	208	-	996
Steven Smith	2005-06	429	-			232	155	-	-	180	-	996
K.Hudson	1975-76	-	_			- 252	433	75	-	59	390	957
Steven Smith	2006-07	796	_			_		-	-	155	-	951
M.Hughston	2009-10	964	-			_	_	-	_	-	_	964
Jamie Brown	2005-10	348	_	73		18	_	_	-	470	-	909
C.Williams	2014-15	814	_	79	16	10	_	_	_	470	-	909
P.Jaques	2018-13	902	_	75	10	_	_	_	_	_	_	902
R.Davison	1985-86	- 302	_			777	_	_	-	121	-	898
Steven Smith	2007-08	856	_			,,,,	_	_	_	42	-	898
M.Hughston	2007-08	876	-	3		_	_	_	_	42	-	838
M.Bradley	1992-93	870	-	5		-	-	281	277	_	320	879
C.Williams	2016-17	- 811	-	63		-	-	201	277	-	520	878
A.Whatley	2010-17	324	-	15		- 183	-	-	-	- 350	-	874
M.Bradley	2014-13	780	-	91		105	-	-	-	330	-	872
P.Clark	1981-82	723		91		-	-		-	- 144		867
P.Clark M.Brown	2015-16	723 754	-	108		-	-	-		144	-	862
			-	108		-	-	-	-	- 121	-	
A.Hilditch	1973-74	737	-			-	-	-	-		-	858
R.Davison	1988-89	563	-			-	-	-	-	292	-	855
Justin Kenny	1990-91	855	-			- 1 F F	-	-	-	-	-	855
M.Hughston	2005-06	695	-			155	-	-	-	-	-	850
P.Jaques	2006-07	849 722	-	22		-	-	-	-	-	-	849
M.Hughston	2008-09	733	-	22		93	-	-	-	-	-	848
Justin Kenny	1985-86	615	-	4.0		-	-	-	-	232	-	847
T.Doyle	2016-17	526	-	46		-	-	-	-	274	422	846
G.Marston	1966-67	-	-			138	132	111		31	432	844
D.Coots	1986-87	-	-			-	64	761	-	19	-	844
J.Young	1997-98	728	102			-	-	-	-	-	-	830
J.Young	2002-03	830	-			-	-	-	-	-	-	830
J.Horner	2013-14	-	-			-	-	43	323	-	463	829
S.Wishart	1977-78	-	-			49	697	-	-	77	-	823
P.Jaques	1996-97	-	-			593	-	-	-	223	-	816
M.Probert	1998-99	25	-			523	-	-	-	265	-	813
J.Young	1996-97	701	111			-	-	-	-	-	-	812
L.Dudman	2002-03	473	-			89	-	-	-	250	-	812
T.Doyle	2015-16	194	-	34		246	-	-	-	337	-	811
B.Hazell	1971-72	-	-			-	-	807	-	-	-	807
J.Biviano	2017-18	692	1	113		-	-	-	-	-	-	806
M.D.O'Brien	2004-05	800	-			-	-	-	-	-	-	800
D.Murphy	2006-07	53	-			391	112	-	-	244	-	800

LEADING SEASON PERFORMANCES (INCLUDING L/O & AGE COMPETITIONS)

BOWLING (60 WICKETS)

	WICKEI 5)	1		T 20	2l.a	2	4+1		A /D		ANA/C	Tatal
		1sts	L/O	T20	2nds	3rds	4ths	5ths	A/B	P-G	AWG	Total
A.Hale	1986-87	-	-		-	29	39	-		-	37	105
D.Malone	2015-16	32	-		24	-	-	-		19	-	75
P.Purcell	1995-96	-	_			_	-	73			-	73
S.Edmonds	1967-68					-	6	75	42	_	21	69
		-	-		-			20	42			
P.Mackey	1973-74	-	-		-	-	40	28		-	-	68
P.Byrom	1998-99	28	3		11	-	-	-		26	-	68
N.Fitzgerald	2012-13	59	-	8	-	-	-	-		-	-	67
A.Hale	1985-86	-	-		-	-	45	4		-	17	66
S.Clark	1995-96	45	3		-	-	-	-		18	-	66
A.Manzie	1969-70	-	-		14	39	-	-		8	-	61
E.Rollinson	1969-70	-	-		-	-	-	61		_	-	61
N.Howard	1988-89	13	_		20	-	-	-		28	-	61
			_					_				
J.Slattery	1970-71	60	-		-	-	-	47	-	-	-	60
S.Edmonds	1969-70	-	-		-	22	8	17		13	-	60
S.Edmonds	1970-71	-	-		-	43	4	-		13	-	60
WICKETKEEPI	NG (40 DISN	-		T 20		a 1	.		-	D C		-
		1sts	L/O	120	NPT20	2nds	3rds	4ths	5ths	P-G	AWG	Total
D.Rixon	2005-06	52	-			-	-	-	-	7	-	59
G.Bannon	1974-75	-	-			11	26	-	-	19	-	56
J.Brockley	2009-10	-	-			50	-	-	-	6	-	56
S.Duff	1996-97	6	5			38	-	-	-	-	-	49
G.Bannon	1975-76	-	-			38	-	-	-	10	-	48
S.Hair	1998-99	-	-			12	19	-	-	17	-	48
J.Brockley	2011-12	-	-			32	-	-	-	16	-	48
, L.Ball	1995-96	33	-			14	-	-	-	-	-	47
L.Ball	1998-99	43	4			-	-	-	-	-	-	47
S.Duff	2002-03	47	-			-	-	-	-	-	-	47
J.Brockley	2008-09	-	-	3		28	-	-	-	16	-	47
A.Bariol	2018-19	31	-	3	3	_	-	-	-	10	-	47
J.Ford	1970-71	7	-	•	•	21	-	-	-	18	-	46
G.Davison	1986-87	-	-			-	24	2	-	-	20	46
D.Rixon	2007-08	46	-			-	-	-	-	-	-	46
G.Davison	1988-89	1	-			2	14	6	-	22	-	45
L.Ball	1997-98	40	5			-	-	-	-		-	45
G.Goodman	1971-72	-	-			35	4	-	-	5	-	44
S.Hair	1996-97	-	-			6	28	-	-	10	-	44
D.Rixon	2006-07	35	-			-	-	-	-	9	-	44
D.Rixon	2009-10	44	-			-	-	-	-	-	-	44
D.Rixon	2008-09	36	-	7		-	-	-	-	-	-	43
A.Campbell	1973-74	31	-			-	-	-	-	11	-	42
D.Rixon	2012-13	38	-	4		-	-	-	-		-	42
R.Cartwright	1966-67	-	-	•	-	41	-	-		-	-	41
R.Bain	1965-66	34	_		_	-	_	-		6	-	40
M.Macleay	1966-67	-	_		_	_	-	40		-	-	40
A.Campbell	1900-07	-	-		-	- 19	- 8	40	_	- 13	-	40 40
L.Ball	1972-73	-	-			31	0 -	_	_	15 9	-	40 40
S.Hair		-	-			11	20	-	-	9	-	
	1997-98 2006 07	-	-			ΤŢ		- 40	-	9	-	40 40
B.Miller	2006-07	-	-			-	-	40	-	-	-	40

LEADING SEASON BATTING AVERAGES (Minimum 400 runs) - GRADE ONLY

	Season	Grades	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	2005-06	1	9	9	2	155 *	642	91.71
T.Brennan	1992-93	2,3,4,5	13	12	4	201 *	684	85.50
P.Jaques	2006-07	1	12	12	1	321	849	77.18
J.Rafique	2008-09	4,5	7	7	1	172	463	77.17
P.Jaques	2009-10	1	11	11	2	136	685	76.11
J.Hawksworth	2020-21	4	15	13	7	110 *	436	72.67
L.Johns	1985-86	1	10	11	1	164	726	72.60
R.Davison	1995-96	1	14	17	2	155	975	65.00
M.O'Brien	2004-05	1	17	18	5	118 *	800	61.54
Justin Kenny	1990-91	1	14	16	2	157	855	61.07
G.Horner	1986-87	2,3	16	17	6	111 *	663	60.27
J.Dyson C.Williams	1990-91	1 1	16 17	17 17	5 3	103 * 183 *	713 811	59.42
L.Dudman	2016-17 2008-09	1,2,3	17	17	3 2	183 *	455	57.93 56.88
M.Ridge	2008-09	4,5	10	10	6	85 *	720	55.38
B.Dwarshuis	2015-16	4,5	17	13	4	130 *	492	54.67
D.Rixon	2015-10	2	15	15	4	101 *	651	54.25
Steven Smith	2007-08	1	15	10	1	136	856	53.50
S.Wishart	1977-78	2,3	14	19	5	107 *	746	53.29
Jamie Brown	2017-18	,3	16	17	1	126	852	53.25
R.Davison	1996-97	1	12	14	2	142	632	52.67
R.Davison	1983-84	4,5	13	13	3	108	525	52.50
G.Coleman	1986-87	2,4	15	18	4	141	732	52.29
M.Ridge	1986-87	1	11	13	5	75	418	52.25
P.Jaques	2003-04	1	9	9	1	151	415	51.88
R.Davison	1985-86	2	15	15	0	122	777	51.80
N.O'Neill	1967-68	1	14	14	2	123	617	51.42
M.O'Brien	2000-01	1,2	10	12	4	95 *	410	51.25
S.Pratt	1993-94	2,3,4,5	13	13	3	111	511	51.10
M.Bradley	1996-97	1,2	14	17	3	151	714	51.00
C.Williams	2018-19	1	16	18	2	107	814	50.88
M.Hopkins	2010-11	1,2,3	14	15	3	150 *	610	50.83
J.Young	1996-97	1	14	16	2	143	701	50.07
S.Rixon	1980-81	1	9	11	2	110 *	449	49.89
M.Carroll	2001-02	1,2,3	14	17	2	141	746	49.73
K.Humphreys	1988-89	2,3	16	17	3	100 *	690	49.29
J.Holley	2008-09	1,2	16	16	6	139 77 *	492	49.20
A.Hilditch	1973-74 2009-10	1 1,2	17 18	21 16	6 2	173	737	49.13 49.07
J.Holley M.Hughston	2009-10	1,2 1,2	18	18	2	175	687 826	49.07
D.Coots	1986-87	3,4	15	18	1	126	825	48.53
P.Jaques	2004-05	3,4 1	8	9	0	133	436	48.44
P.Jaques	1999-00	1	17	17	1	100	775	48.44
J.Clark	1983-84	4,5	12	11	2	152 *	435	48.33
D.Givney	2004-05	5	14	13	1	135	578	48.17
D.Howard	1997-98	4,5	15	15	4	129	525	47.73
M.Hughston	2009-10	1	22	22	2	184	950	47.50
K.Tuite	1998-99	1,2	12	13	3	100 *	475	47.50
B.Hazell	1971-72	4	16	18	1	96	807	47.47
Steven Smith	2008-09	1	7	9	0	158	424	47.11
S.Cush	2005-06	2,3	16	17	2	131	706	47.07
C.Williams	2015-16	1,2	17	18	3	124 *	706	47.07
Steven Smith	2006-07	1	19	19	2	119 *	796	46.82
P.Weatherall	1990-91	1	16	16	5	103 *	515	46.82
M.Parker	2006-07	1,2	14	14	2	111 *	561	46.75
L.Dudman	2005-06	1	20	19	2	140	791	46.53
S.McInnes	2007-08	2,3,4	13	13	2	165 *	510	46.36
J.Young	2002-03	1	18	20	2	97	830	46.11
K.Brown	2008-09	2,3,4	12	13	3	98	460	46.00
G.Davies	2011-12	2,3	16 15	14	1	164 121 *	597	45.92
C.Williams	2008-09	2	15 12	17	3	121 *	640	45.71
M.Probert K.Humphreys	1998-99 1990-91	1,2 2,3	12 14	12 16	0 2	132 135	548 639	45.67 45.64
Kinampineys	1720-21	2,3	14	10	2	100	035	70.04

LEADING SEASON BATTING AVERAGES (Minimum 400 runs) - GRADE ONLY

	Season	Grades	Matches	Innings	Not Out	H.Score	Runs	Average
Steven Smith	2004-05	4,5	14	14	1	134 *	593	45.62
P.Jaques	2012-13	1	12	13	1	120	547	45.58
A.Clark	2001-02	1,2	19	17	6	74	500	45.45
C.Peck	1992-93	3	14	13	3	90	452	45.20
D.Rixon	2015-16	1,2	13	11	0	272	497	45.18
L.Johns	1977-78	1	14	19 10	3 3	99 152	721	45.06
D.Watson	1986-87 1992-93	2,3 1	16 13	19 16	3 6	153 73	716 447	44.75 44.70
J.Dyson D.Mitchell	1995-96	1	15	20	3	128	759	44.70
N.Bettiss	2002-03	2,3,4,5	10	20 14	2	120	535	44.58
M.Hughston	2015-16	1,2,3	15	17	3	126 *	623	44.50
K.Tuite	1988-89	1,2,3,5	15	17	2	123	667	44.47
M.Brown	2015-16	1	16	17	0	143	754	44.35
Shayne Smith	2014-15	1,2,3	17	16	3	93	576	44.31
N.Maddinson	2009-10	1	15	13	0	142	574	44.15
K.Wilmott	2006-07	4,5	15	17	1	164	704	44.00
C.Williams	2020-21	1	15	15	0	130	660	44.00
B.Dwarshuis	2014-15	1,2,3	14	12	2	110	440	44.00
J.Arnold	2019-20	1,2	14	15	4	103	482	43.82
P.Weatherall	2001-02	3	14	15	5	102 *	436	43.60
S.Khan	2013-14	4,5	15	16	2	138 *	606	43.29
G.Davison	1988-89	2,3,4	16	16	5	74	475	43.18
S.Rixon	1988-89	1	13	14	2	142	518	43.17
S.Duff B.Dwarshuis	1995-96 2012-13	2,3 1,2	14 19	16 18	6 5	108 162	431 557	43.10 42.85
R.Bremer	2012-13	3,4,5	19	18	1	102 *	469	42.65
B.Hard	1989-90	4,5	13	12	2	134 *	511	42.58
A.Hilditch	1974-75	ربہ 1	14	19	4	119	638	42.53
G.Horner	1987-88	1,2	15	17	4	150 *	551	42.38
L.Hawksworth	2019-20	1,2	14	13	0	161	550	42.31
L.Malin	1997-98	4,5	15	16	5	85	463	42.09
J.Hawksworth	2018-19	3,4,5	13	14	2	124	505	42.08
J.Packer	2003-04	1,2	16	18	2	163	669	41.81
P.Jaques	2013-14	1	15	17	2	114	626	41.73
M.Hughston	2012-13	1	20	23	2	144	876	41.71
J.Biviano	2020-21	1	15	15	1	88	584	41.71
T.Doyle	2018-19	1,2	17	16	1	129	625	41.67
L.Johns	1984-85	1	16	18	1	166	703	41.35
M.Brown	2014-15	1	18	17	1	129	660	41.25
J.Brockley	2008-09	2	15 13	14	2 2	79 120 *	493 524	41.08
J.Burnett M.Bradley	2013-14 2008-09	2,3 1	13	15 22	2	120	534 780	41.08 41.05
P.Jaques	2002-03	1	20	22	1	116	902	41.00
Justin Kenny	1985-86	1	14	17	2	128 *	615	41.00
A.Clark	1985-86	1,3,4	13	15	3	77	491	40.92
P.Atkins	1967-68	3	11	16	3	143 *	531	40.85
Steven Smith	2005-06	1,2,3	19	20	0	97	816	40.80
J.Dyson	1975-76	1	10	11	1	105 *	408	40.80
J.Burnett	2007-08	1,2,3	20	18	4	114	571	40.79
P.Saroukos	2016-17	1,2	17	17	3	85	570	40.71
N.Howard	1992-93	1,2	13	13	3	105	407	40.70
P.Jaques	1998-99	1	14	19	1	123	731	40.61
Jamie Brown	2015-16	1,2	17	19	4	172 *	609	40.60
M.Hughston	2005-06	1,2	20	22	1	155 *	850	40.48
M.Earley	2006-07	3,4,5	16 18	18	3	118	606	40.40
B.Roach	2002-03	1,2	18 17	18 16	1 2	130 98 *	685 564	40.29
K.Tuite Jamie Brown	1984-85 2011-12	1,2 2,3,4	17	16 13	2	98 * 80 *	564 443	40.29 40.27
R.Davison	1988-89	2,3,4 1	15	13	2	141	443 563	40.27 40.21
J.Packer	2006-07	3	13	17	3	141	563	40.21
B.Roach	2003-04	1,2	10	10	0	161	402	40.21
D.Givney	2001-02	5	15	15	4	134	442	40.18
,		-	-	-				-

LEADING SEASON BOWLING AVERAGES (Minimum 30 wickets) - GRADE ONLY

	Season	Grades	Matches	Overs N	laidens	Runs	Wickets	Average
R.Longbottom	1965-66	4	15	184	28	450	59	7.63
M.Black	1972-73	2,3	11	204	55	460	53	8.68
K.Meadows	1988-89	5	13	227	95	369	42	8.79
P.Lennon	1965-66	4,A	14	148	29	386	42	9.19
G.Chudleigh	1980-81	4	8	124	27	363	38	9.55
E.Rollinson	1969-70	4,5	10	167	31	584	61	9.57
J.Roy	2011-12	3,4	15	136	41	336	35	9.60
A.Northridge	1998-99	2,3	15	185	63	361	37	9.76
J.Bills	2007-08	3,4	14	141	42	325	33	9.85
P.Mullane	1973-74	4	17	190	34	564	56	10.07
K.Meadows	1998-99	4,5	8	182	59	345	34	10.15
M.McDonald	1973-74	3,4,5	16	151	23	463	45	10.29
A.Hale	1985-86	4,5	14	220	56	513	49	10.47
M.Black	1973-74	2	16	246	75	537	51	10.53
I.Napper	1970-71	4	16	104	15	360	34	10.59
J.Macdonald	1965-66	A	12	102	16	429	40	10.73
H.Watson	2008-09	4,5	15	168	40	453	42	10.79
K.Meadows	1999-00	5	14	186	71	339	31	10.94
M.Brennan	1988-89	2,3,4	14	181	52	439	40	10.98
J.Slattery	1970-71	1	16	219	43	662	60	11.03
P.Mackey	1973-74	4,5	15	194	20	758	68	11.15
N.Whittingham	2018-19	5	17	240	73	480	43	11.16
S.McGrath	1999-00	4	18	170	49	414	37	11.19
D.White	1980-81	4,5	15	146	37	384	34	11.29
J.Slattery	1974-75	3	11	166	39	448	39	11.49
D.Lawrence	1965-66	3,A	12	132	28	368	32	11.50
G.Murphy	1967-68	3,4,A	16	131	16	477	41	11.63
T.Straker	2020-21	4	16	137	24	431	37	11.65
B.Druery	1965-66	A,B	15	156	28	536	45	11.91
S.Dawes	2009-10	2,3,5	14	205	82	444	37	12.00
N.Whittingham	2019-20	5	12	188	60	397	33	12.03
J.Dunbar	1999-00	4,5	18	226	46	594	49	12.12
K.Hatherly	1967-68	4	16	150	29	548	45	12.18
А.Кау	1968-69	2,3	13	166	25	538	44	12.23
W.Straker	2019-20	4	12	166	43	380	31	12.26
R.Barton	1965-66	4	15	130	10	516	42	12.29
J.Hancock	2000-01	2,3	16	164	46	381	31	12.29
S.Clark	1999-00	1,5	19	173	45	470	38	12.37
D.Eaglesham	2001-02	5	16	162	18	644	52	12.38
M.Black	1975-76	1	13	158	32	384	31	12.39
S.Edmonds	1969-70	3,4,5	15	209	41	583	47	12.40
J.Smith	1986-87	5	10	193	69	373	30	12.43
C.Christie	1982-83	5	15	178	50	411	33	12.45
L.De Ville	1965-66	1,2,3	13	139	25	487	39	12.49
I.Scott	1968-69	A	11	111	13	375	30	12.50
G.Barron	1996-97	2,3	13	194	52	500	40	12.50
R.Mills	1980-81	5	13	238	82	513	41	12.51
R.Hobden	1968-69	4,B	9	110	17	417	33	12.64
M.Carroll	1989-90	4,5	13	138	25	393	31	12.68
A.Fleming	2010-11	1	17	217	56	700	55	12.73
Z.Philipson	2020-21	4	15	137	20	421	33	12.76
K.Meadows	1989-90	3,4	15	300	99	575	45	12.78
R.Noyes	1979-80	4,5	15	228	60	537	42	12.79

LEADING SEASON BOWLING AVERAGES (Minimum 30 wickets) - GRADE ONLY

	Season	Grades	Matches	Overs N	Maidens	Runs	Wickets	Average
E.Rollinson	1966-67	A,B	12	199	29	665	52	12.79
P.Burns	2011-12	4,5	14	157	41	412	32	12.88
C.Russell	1970-71	3,4	16	191	37	685	53	12.92
N.Whittingham	2017-18	2,5	15	184	46	428	33	12.97
M.Black	1976-77	1	15	149	26	418	32	13.06
E.Cotton	1968-69	1	16	245	60	630	48	13.13
J.Packer	1990-91	4,5	14	234	66	531	40	13.28
M.McDonald	1975-76	3	17	207	45	704	53	13.28
E.Cotton	1965-66	1	14	155	37	413	31	13.32
R.Waddington	1975-76	2	17	187	18	627	47	13.34
Brian Dawson	1972-73	4,5	15	140	29	468	35	13.37
H.Reus	1970-71	4,5	12	132	20	484	36	13.44
S.Edmonds	1970-71	2,3,4	16	173	26	635	47	13.51
P.Purcell	1995-96	5	14	318	71	991	73	13.58
P.Doherty	1969-70	5	16	141	19	584	43	13.58
P.Driscoll	2015-16	4,5	13	144	30	408	30	13.60
M.Black	1983-84	2,3	13	249	89	478	35	13.66
R.Malas	2001-02	3,4,5	17	235	62	630	46	13.70
I.Napper	1971-72	1,2	17	150	31	494	36	13.72
R.Longbottom	1966-67	4	13	168	10	577	42	13.74
D.Lawrence	1969-70	4	17	170	33	553	40	13.83
P.Byrom	1998-99	1,2	15	211	50	542	39	13.90
K.Meadows	2003-04	5	14	203	58	446	32	13.94
P.Lennon	1966-67	2,3,4	14	192	29	630	45	14.00
A.Clark	1995-96	1	16	248	74	560	40	14.00
J.Slattery	1968-69	1,2	14	235	52	701	50	14.02
D.Mann	1986-87	2,3,4	16	331	96	744	53	14.04
K.Rose	1980-81	2,3	15	249	38	801	57	14.05
S.Edmonds	1967-68	4,A,B	16	181	32	676	48	14.08
G.Glover	1969-70	4,5	14	119	20	438	31	14.13
G.Murphy	1974-75	3	16	110	16	440	31	14.19
R.Wade	1973-74	1	17	148	37	497	35	14.20
G.Scott	1966-67	A,B	12	118	28	442	31	14.26
P.McCann	1970-71	1,2,3	14	130	20	515	36	14.31
S.McGrath	1997-98	4,5 1	13 19	190 205	57	444 710	31	14.32
A.Adams	2009-10 1969-70		19	295 203	70 31	718 649	50 45	14.36 14.42
A.Kay G.Coleman	1987-88	2,3 4	10	338	115	739	43 51	14.42
Jayden Brown	2015-16	4 3,4	14	160	31	480	33	14.49
A.Clark	1993-94	3,4 1	14	261	77	627	43	14.55
K.Williams	1981-82	2,3	13	155	47	525	36	14.58
J.Philip	1965-66	1,2,3	15	232	46	774	53	14.60
R.Walls	1965-66	3,A	13	194	31	644	44	14.64
B.Stephen	1965-66	2,3	15	190	33	587	40	14.68
E.Rollinson	1965-66	3,A,B	11	144	25	529	36	14.69
S.Clark	1998-99	1	12	267	68	682	46	14.83
A.Mann	2001-02	3,4,5	16	206	42	623	42	14.83
D.Mann	1985-86	4,5	14	222	55	505	34	14.85
S.Newman	2007-08	4,5	16	194	38	551	37	14.89
D.Russell	1973-74	2	17	137	16	462	31	14.90
G.Barry	1989-90	2	14	239	72	462	31	14.90
E.Behl	1985-86	4,5	14	218	61	477	32	14.91
		,						

PARTNERSHIPS OF 200 RUNS OR MORE

- ·					
347	D.Rixon-Jamie Brown	2nds /3rd		v. Hawkesbury	2015-16
300	J.Biviano-S.Watson	1sts /2nd		v. St.George	2017-18
285	N.Maddinson-M.Hughston	-		v. Eastern Suburbs (Semi-final)	2009-10
284	D.Murphy-S.Pickering	2nds /3rd		v. Campbelltown-Camden	2009-10
280 *	Steven Smith-S.Duff	5ths /3rd		v. Western Suburbs	2004-05
263	R.Chivers-K.Wilmott	5ths /2nd		v. Campbelltown-Camden	2006-07
261	S.Rixon-G.Horner	1sts /6th		v. Parramatta	1988-89
255	R.Furner-T.Cadden	AWG /1st	wkt	v. Municipal & Shires Western	1993-94
252	S.McInnes-A.Phillips	3rds /4th	wkt	v. Bankstown	2010-11
249	D.Watson-K.Humphreys	3rds /1st	wkt	v. Parramatta	1986-87
247	R.Davison-S.Rixon	1sts /4th		v. Penrith	1988-89
241 *	K.Hudson-P.McMahon	AWG /1st	wkt	v. Nepean	1974-75
240	K.Thessman-B.Roach	2nds /3rd	wkt	v. Penrith	2002-03
236	R.Chivers-M.Elliott	5ths /2nd	wkt	v. Gordon	2004-05
234	R.Davison-P.Weatherall	P-G /2nd	wkt	v. University of N.S.W.	1987-88
234	T.Brennan-G.Kenny	4ths /5th	wkt	v. Campbelltown	1992-93
234	C.Williams-Jamie Brown	1sts /5th	wkt	v. Campbelltown-Camden	2016-17
233	M.Condon-R.Duff	5ths /5th	wkt	v. University of N.S.W.	1992-93
232	P.Jaques-M.Hughston	1sts /2nd	wkt	v. Blacktown	2005-06
230	R.Chivers-D.Givney	5ths /3rd	wkt	v. Randwick Petersham (Qual Final)	2004-05
230	D.Murphy-M.Parker	2nds /3rd	wkt	v. University of N.S.W.	2006-07
230	L.Hawkworth-Jamie Brown	2nds /3rd	wkt	v. Hawkesbury	2019-20
224	D.Wallace-B.Kirby	5ths /3rd	wkt	v. Campbelltown	1988-89
219	A.Craig-M.Ridge	4ths /1st	wkt	v. Hawkesbury	2003-04
219	N.Maddinson-S.Cush	1sts /3rd	wkt	v. Penrith	2011-12
217	T.Harvey-K.Lamb	5ths /5th	wkt	v. Balmain A (Semi-Final)	1984-85
217	A.Dibley-A.Watkiss	5ths /1st	wkt	v. Northern District	2013-14
213	D.Simpson-R.Davison	2nds /1st	wkt	v. Mosman-Middle Harbour	1985-86
211 *	S.Khan-C.D'Arcy	5ths /1st	wkt	v. Campbelltown-Camden	2013-14
210 *	C.Parsons-T.Young	5ths /5th	wkt	v. Mosman-Middle Harbour	1985-86
210	Justin Kenny-J.Dyson	1sts /4th	wkt	v. University of N.S.W.	1990-91
210	M.Bradley-J.Young	1sts /2nd	wkt	v. Gordon	1996-97
210	L.Casey-G.Davies	5ths /1st	wkt	v. Bankstown	2005-06
209	M.Brown-B.Dwarshuis	1sts /4th	wkt	v. North Sydney	2015-16
208	R.Davison-D.Mitchell	1sts /3rd	wkt	v. Gordon	1995-96
207 *	G.Horner-A.Quinn	5ths /5th	wkt	v. University of N.S.W.	1983-84
207	P.Prichard-Justin Kenny	1sts /3rd	wkt	v. Manly-Warringah	1985-86
207	L.Malin-J.Burnett	4ths /4th	wkt	v. St.George	2006-07
206	J.Biviano-C.Williams	1sts /1st	wkt	v. Hawkesbury	2018-19
205	M.Hughston-M.Parker	2nds /1st	wkt	v. Western Suburbs	2005-06
204	A.Clark-J.Clark	3rds /5th	wkt	v. Campbelltown	1986-87
203	N.O'Neill-C.Dodd	1sts /4th	wkt	v. Sydney	1967-68
203 *	P.Jaques-J.Young	1sts /5th	wkt	v. Penrith	2005-06
202 *	J.Dyson-P.Weatherall	1sts /5th		v. Campbelltown	1990-91
202	, E.Deal-J.Arnold	2nds /1st		v. Campbelltown-Camden	2019-20
201 *	P.Jaques-M.O'Brien	1sts /3rd		v. Hawkesbury	2005-06
200	J.Rafique-S.Cush	3rds /2nd		v. Hawkesbury	2005-06
	•			,	

LEADING ALL-ROUNDERS IN ALL GRADES (4000 runs/200 wkts/75 cts)

	Milestone	e Reached	Career Totals				
	Season	Season Matches		Runs	Wickets	Catches	
Steven Smith	2018-19	137	138	5619	202	92	
L.Dudman	2005-06	179	315	7742	376	180	
A.Clark	1993-94	203	383	8892	639	150	
G.Coleman	1996-97	203	215	5372	233	90	
J.Holley	2000-01	209	311	8165	324	160	
D.Mann	1996-97	238	253	4230	431	136	
J.Packer	2005-06	255	287	6956	327	120	
P.Weatherall	2002-03	263	327	7854	439	92	
G.Barry	1991-92	306	333	4421	608	154	

LEADING ALL-ROUNDERS IN ONE GRADE (2000 runs/100 wkts/50 cts)

	Milestone Reached					
	Season	Matches	Matches	Runs	Wickets	Catches
First Grade						
L.Dudman	2005-06	80	197	4709	247	115
Steven Smith	2018-19	84	89	4034	117	54
J.Holley	2002-03	107	183	4217	151	85
A.Clark	1998-99	147	218	4484	366	79
Second Grade						
J.Packer	2003-04	114	142	4036	131	61
G.Barry	1992-93	130	139	2145	253	81
Third Grade						
B.Davison	1987-88	73	75	2599	103	52
J.Zywietz	2015-16	118	136	2210	149	57

500 RUNS AND 40 WICKETS IN A SEASON

90-91	P.Weatherall	515 runs & 43 wickets	(1st Grade)
93-94	A.Clark	547 runs & 43 wickets	(1st Grade)
05-06	L.Dudman	791 runs & 41 wickets	(1st Grade)

500 RUNS AND 40 W/K DISMISSALS IN A SEASON

96-97	S.Duff	557 runs & 44 dismissals	(1st & 2nd Grades)
09-10	J.Brockley	567 runs & 50 dismissals	(2nd Grade)

CENTURY AND 10 WICKETS IN A MATCH

02-03	J.Rafique	5ths v.UTS-Balmain	121	&	11-32
-------	-----------	--------------------	-----	---	-------

CENTURY AND 5 WICKETS IN AN INNINGS

69-70	E.Cotton	1sts v.Western Suburbs	125 *	&	5-90
84-85	R.Davison	AWG v.Bankstown-Canterbury	112	&	5-28
86-87	G.Coleman	4ths v.Campbelltown	120	&	5-71
02-03	J.Rafique	5ths v.UTS-Balmain	121	&	8-17
08-09	L.Dudman	3rds v.Mosman	127 *	&	5-37
08-09	R.Shepherd	4ths v.Sydney University	102	&	5-52
08-09	J.Holley	2nds v.Manly-Warringah	139	&	6-83
09-10	N.Maddinson #	1sts v.Eastern Subs (Semi-final)	137	&	5-95

Nic Maddinson became the youngest player in 1st Grade history to do the double of a century and five wickets in an innings in a match, aged 18 years 96 days.

50 AND HAT-TRICK IN SAME MATCH

02-03	A.Clark	2nds v.Sydney University	54	&	6-71
18-19	W.Vandermaal	4ths v.Blacktown	71	&	4-70

CENTURY AND HAT-TRICK IN SAME SEASON

69-70	E.Cotton	125* v.West Subs (1sts) & 5-28 incl h-t v.Waverley (1sts)
16-17	S.Khan	131 v.Camp-Camden (2nds) & 3-8 incl h-t v Black (P-G)
18-19	W.Vandermaal	100* v.St.George (3rds) & 4-70 incl h-t v.Black (4ths)

BATSMEN WITH 3000 RUNS IN ALL GRADES

	Matches	Innings	Not Out	H.Score	Runs	Average	100	50
D.Givney	527	552	62	162	12559	25.6	11	52
P.Jaques	258	284	30	321	11512	45.3	25	64
M.Bradley	341	389	40	212 *	10723	30.7	17	53
M.Hughston	327	345	37	197 *	10540	34.2	19	52
C.Williams	356	366	43	183 *	10539	32.6	9	64
M.D.O'Brien	313	345	28	144	9181	29.0	6	54
A.Clark	383	400	50	118	8892	25.4	4	41
M.Ridge	348	381	60	104 *	8711	27.1	2	55
B.Davison	310	357	34	116 *	8561	26.5	7	46
Justin Kenny	271	312	22	157	8350	28.8	10	39
J.Holley	311	313	37	199	8165	29.6	11	37
K.Tuite	299	325	40	123	8076	28.3	9	39
P.Weatherall	327	336	58	173 *	7854	28.3	8	35
L.Dudman	315	315	39	144 *	7742	28.1	9	37
R.Davison	196	212	23	155	7401	39.2	14	43
J.Packer	287	276	50	163	6956	30.8	6	36
J.Dyson	225	249	51	106 *	6924	35.0	4	47
K.Humphreys	238	262	29	135	6864	29.5	7	29
M.Duff	296	299	19	147	6698	23.9	2	33
J.Young	189	211	25	143	6610	35.5	7	42
Jamie Brown	236	218	35	172 *	6523	35.6	12	35
S.Cush	225	235	16	149 *	6463	29.5	7	37
G.Hilzinger	231	276	21	120 *	6446	25.3	3	37
A.Craig	240	256	17	127	6145	25.7	3	35
J.Burnett	253	257	40	123	6079	28.0	8	31
A.Hilditch	202	219	26	127 *	6023	31.2	7	33

BATSMEN WITH 3000 RUNS IN ALL GRADES (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average	100	50
T.Doyle	208	207	15	180	6014	31.3	8	36
, D.Rixon	344	297	58	272	5947	24.9	2	33
G.Warry	223	268	15	98	5845	23.1	-	31
D.Watson	240	262	21	153	5843	24.2	5	25
G.Marston	229	275	22	139	5816	23.0	5	27
D.Holley	243	244	18	131	5666	25.1	3	29
, Steven Smith	138	142	18	171 *	5619	45.3	11	28
G.Coleman	215	238	45	145 *	5372	27.8	6	28
B.Johnson	251	259	20	114	5237	21.9	3	25
J.Brockley	171	169	9	151	4954	31.0	5	25
I.Everett	192	224	8	140	4920	22.8	2	24
P.Clark	151	187	15	129 *	4901	28.5	6	28
J.Biviano	188	175	11	143	4650	28.4	6	25
G.Horner	185	185	38	153	4638	31.6	8	16
T.lceton	237	264	6	179	4610	17.9	1	17
M.Probert	160	162	12	137 *	4514	30.1	4	31
G.Barry	333	316	71	103	4421	18.0	1	12
B.Dwarshuis	199	181	36	162	4297	29.6	4	22
T.Brennan	179	188	19	201 *	4284	25.3	4	17
D.Mann	253	234	56	100 *	4230	23.8	1	16
L.Fleming	235	240	33	109	4225	20.4	2	19
B.Hazell	130	158	7	141	4189	27.7	2	32
J.Clark	156	165	25	158 *	4151	29.7	5	17
S.Pickering	175	174	16	164	4120	26.1	5	13
J.Rafique	138	142	6	172	4108	30.2	5	22
G.Bailey	160	185	27	113	4093	25.9	5	18
J.Steed	150	172	15	121	4081	26.0	2	21
P.Venn	168	194	19	117	4055	23.2	5	15
A.Northridge	163	163	17	127 *	4018	27.5	4	16
P.Saroukos	138	139	15	147	3955	31.9	3	26
S.Duff	188	188	34	166 *	3944	25.6	3	20
J.Zywietz	225	204	27	158	3920	22.1	2	15
A.Phillips	163 190	157 172	18 8	154 115	3901 3877	28.1 23.6	6 5	17 17
A.Whatley	190	172	8 5	115 215	3728	23.0	5 5	21
D.Murphy K.Hudson	123	163	16	158 *	3697	28.7	5	14
C.Lake	143	151	22	119 *	3643	23.1	3	22
L.Casey	158	162	11	145 *	3605	23.9	3	16
T.Harvey	140	145	10	165	3557	26.3	3	15
B.Hard	158	164	9	134 *	3542	22.9	1	20
M.Lumb	172	179	12	102	3526	21.1	2	17
L.Johns	97	106	13	166	3501	37.6	6	21
G.Kenny	230	216	28	104 *	3487	18.5	2	15
C.Dodd	133	155	7	118	3482	23.5	4	16
L.Malin	136	143	33	102 *	3454	31.4	3	20
P.Fisher	164	179	17	115	3359	20.7	3	12
L.Hawksworth	144	139	15	173 *	3325	26.8	3	13
B.O'Dowd	151	168	21	108	3316	22.6	2	15
Shayne Smith	130	120	20	142	3292	32.9	2	19
K.Lamb	149	175	34	100	3291	23.3	1	14
C.Hockey	136	142	15	107	3200	25.2	1	20
J.Arnold	161	161	22	103	3153	22.7	1	12
I.Stephen	109	125	6	134 *	3130	26.3	5	15
A.Griffiths	97	133	6	146 *	3071	24.2	4	13
G.Davies	106	103	12	164	3042	33.4	7	13
P.Cox	153	170	25	117 *	3032	20.9	1	8
M.Brown	104	106	7	143	3029	30.6	3	18

BATSMEN WITH 1000 RUNS IN ONE GRADE

	Matches	Innings	Not Out	H.Score	Runs	Average
First Grade		U				0
P.Jaques	210	233	22	321	9566	45.3
J.Young	188	210	25	143	6530	35.3
M.Hughston	203	220	18	184	6523	32.3
Justin Kenny	181	211	13	157	6235	31.5
M.Bradley	210	247	20	212 *	6176	27.2
M.D.O'Brien	208	235	17	118 *	6050	27.8
C.Williams	171	176	21	183 *	5825	37.6
L.Dudman	197	198	24	140	4709	27.1
J.Dyson	152	166	42	105 *	4661	37.6
A.Clark	218	231	28	118	4484	22.1
J.Holley	183	196	20	129 *	4217	24.0
R.Davison	101	116	12	155	4121	39.6
Steven Smith	89	94	15	171 *	4034	51.1
S.Cush	128	135	12	149 *	3706	30.1
D.Rixon	274	226	49	98	3598	20.3
G.Warry	134	154	5	98	3415	22.9
J.Biviano	122	122	7	143	3409	29.6
L.Johns	91	98	11	166	3361	38.6
A.Hilditch	99	114	15	127 *	3318	33.5
T.Doyle	113	108	9	129	3115	31.5
Jamie Brown	124	114	16	126	3101	31.6
M.Brown	102	104	7	143	2993	30.9
P.Weatherall	131	140	24	103 *	2985	25.7
P.Clark	72	96	8	129 *	2900	33.0
B.O'Dowd	127	138	17	108	2602	21.5
C.Dodd	92	108	4	101 *	2425	23.3
M.Ridge	100	120	21	101 *	2241	22.6
S.Rixon	69	79	8	142	2210	31.1
P.Saroukos	81	81	8	103 *	2032	27.8
B.Dwarshuis	114	101	19	130 *	2003	24.4
B.Davison	92	107	9	111	1919	19.6
D.Fallins	149	109	24	111 *	1878	22.1
E.Cotton	84	92	16	125 *	1851	24.4
R.Bain	129	137	15	54	1844	15.1
A.Campbell	99	97	11	84	1816	21.1
G.Bailey	80	92	11	113	1802	22.2
N.Maddinson	61	62	2	225	1798	30.0
D.Mann	108	104	25	73	1631	20.6
G.Barry	119	122	27	103	1563	16.5
D.Murphy	65	72	2	125 *	1534	21.9
D.Mitchell	46	52	4	166	1469	30.6
R.Wade	105	101	22	76	1456	18.4
K.Tuite	82	92	9	80	1415	17.0
M.Chapman	166	139	51	53 *	1363	15.5
G.Marston	69	85	6	90 *	1284	16.3
S.Watson	25	27	2	184	1220	48.8
K.Richards	46	61	4	85	1183	20.8
G.Horner	51	52	7	153	1130	25.1
N.O'Neill	29	32	2	168	1105	36.8
A.Fleming	90	75	18	52 *	1094	19.2
E.Atkins	127	103	20	67	1084	13.1
S.Clark	123	104	14	64	1076	12.0
J.Leaning	42	43	8	92 74 *	1073	30.7
S.Duff	52	55	11	74 *	1069	24.3
J.Steed	46	57	6	113	1067	20.9
R.Every	55	61	9	124	1048	20.2

BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average
Second Grade						
K.Tuite	167	181	23	123	5059	32.0
J.Packer	142	149	21	163	4036	31.5
M.Ridge	129	136	14	94	3558	29.2
B.Davison	105	121	13	104	3342	30.9
J.Brockley	95	99	6	151	3177	34.2
D.Givney	121	134	11	162	3050	24.8
C.Williams	81	91	11	121 *	2797	35.0
D.Holley	99	106	6	105	2514	25.1
B.Johnson	110	114	10	101	2370	22.8
G.Coleman	99	110	26	118	2209	26.3
G.Marston	85	99	6	138	2191	23.6
J.Burnett	89	91	15	116 *	2177	28.6
G.Barry	139	129	33	67	2145	22.3
K.Humphreys	73	79	12	135	2106	31.4
A.Clark	80	79	12	91	2087	31.1
I.Everett	80	86	3	104	2013	24.3
J.Holley	48	46	10	183	1986	55.2
M.Hughston	52	57	8	162 *	1864	38.0
P.Fisher	75	82	6	107	1832	24.1
S.Pickering	68	70	3	164	1783	26.6
M.Bradley	52	59	6	151	1764	33.3
D.Celep	78	76	4	129	1748	24.3
A.Northridge	64	67	3	127 *	1737	27.1
S.Duff	62	66	13	114 *	1635	30.8
D.Rixon	40	42	6	272	1621	45.0
P.Venn	65	78	6	103	1608	22.3
M.Parker	37	41	3	111 *	1545	40.7
L.Hawksworth	47	47	5	173 *	1521	36.2
J.Clark	45	52	7	116 *	1416	31.5
M.Carroll	88	74	24	120	1372	27.4
G.Hilzinger	48	53	0	93	1362	25.7
K.Thessman	44	52	5	162	1330	28.3
P.Saroukos	42	42	4	123 *	1302	34.3
J.Arnold	48	53	5	103	1299	27.1
P.Weatherall	53	53	10	99	1291	30.0
K.Brown	64	68	9	123	1278	21.7
Jamie Brown	38	37	7	172 *	1268	42.3
N.Howard	75	65	15	105 *	1265	25.3
R.Neill	41	53	5	94	1257	26.2
N.Amos	43	46	1	129	1256	27.9
L.Fleming	61	60	7	86	1215	22.9
M.D.O'Brien	39	40	4	144	1192	33.1
J.Steed	36	39	3	121	1134	31.5
D.Murphy	31	36	2	215	1127	33.1
B.Roach	26	28	1	161	1108	41.0
C.Weatherall	36	42	3	145	1079	27.7
B.Hazell	39	48	2	100	1070	23.3
R.Davison	22	23	0	122	1040	45.2

BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average
Third Grade	140	1 4 7	10	100 *	2142	22.2
M.Duff	148 90	147 97	12 8	100 * 102	3142	23.3 30.7
K.Humphreys	90 75	97 85	8 7	102	2732	
B.Davison A.Phillips	75 112	85 106	13	112	2599 2595	33.3 27.9
D.Watson	112	108	15	154	2395	27.9
J.Zywietz	100	108	, 17	106	2498	24.7
G.Hilzinger	87	102	9	97	2210	21.5
P.Weatherall	73	75	13	173 *	1893	30.5
J.Burnett	73 52	56	7	120 *	1760	35.9
G.Kenny	137	127	20	72	1759	16.4
D.Holley	76	70	5	131	1671	25.7
Bryan Dawson	89	92	15	74	1628	21.1
G.Murphy	121	109	20	64 *	1486	16.7
J.Rafique	53	56	2	137	1485	27.5
M.Lumb	59	64	4	96	1452	24.2
T.Harvey	37	40	3	132	1418	38.3
, B.Johnson	65	65	4	114	1343	22.0
I.Stephen	40	47	1	103	1270	27.6
G.Davies	48	44	1	164	1244	28.9
B.Hopkin	49	66	10	105	1241	22.2
G.Davison	55	48	10	81	1240	32.6
C.Hockey	44	49	3	107	1201	26.1
K.Brown	52	51	5	98	1177	25.6
J.Packer	42	34	6	116 *	1163	41.5
B.Hazell	26	35	1	141	1142	33.6
P.Atkins	27	36	6	143 *	1107	36.9
I.Everett	42	51	2	91	1102	22.5
A.Northridge	34	36	6	126 *	1097	36.6
C.Lake	58	62	10	85	1084	20.8
A.Craig	55	57	3	97	1062	19.7
L.Fleming	53	59	3	82	1027	18.3
P.Clark	31	38	2	109	1013	28.1
T.Brennan	36	36	4	100 *	1004	31.4
B.Everett	26	41	2	75 *	1003	25.7

BATSMEN WITH 1000 RUNS IN ONE GRADE (cont'd)

	Matches	Innings	Not Out	H.Score	Runs	Average
Fourth Grade	124	120	0	107	2704	20.0
A.Craig	124	136	9	127	3784	29.8
T.Iceton	169	188	4	179	3514	19.1
D.Watson	93	104	11	114	2348	25.2
M.Duff	76	80	2	147	2045	26.2
G.Coleman	49	55	7	145 *	2016	42.0
L.Casey	68	69	3	109 *	1680	25.5
G.Kenny	70	70	4	104 *	1602	24.3
R.Gilmour	71	81	11	85 *	1580	22.6
R.Chivers	79	80	8	90	1574	21.9
M.Ridge	58	61	16	99	1505	33.4
D.Givney	73	77	12	120	1484	22.8
B.Hard	65	66	5	89	1465	24.0
K.Lamb	66	78	14	93 *	1343	21.0
J.Burnett	62	64	8	123	1244	22.2
L.Malin	47	48	11	102 *	1226	33.1
C.Macnamara	91	72	13	100 *	1218	20.6
B.Hazell	32	36	6	96	1204	40.1
M.Jones	62	59	10	100 *	1189	24.3
C.O'Hara	49	48	4	98 *	1121	25.5
M.Lumb	55	55	3	102	1112	21.4
J.Hawksworth	38	40	7	124	1100	33.3
A.Phillips	41	40	5	120	1094	31.3
G.Glover	57	62	16	82 *	1075	23.4
M.Graham	33	37	4	87	1063	32.2
G.Hilzinger	25	28	7	120 *	1034	49.2
-						
Fifth Grade						
D.Givney	290	297	36	135	7289	27.9
K.Rynne	74	80	12	123	1554	22.9
G.Horner	63	59	10	133 *	1476	30.1
K.Lamb	50	61	17	100	1405	31.9
L.Malin	40	45	16	102 *	1342	46.3
N.Whittingham	72	58	10	127	1325	27.6
K.Meadows	161	124	30	73	1278	13.6
L.Casey	46	50	3	145 *	1264	26.9
R.Chivers	29	32	4	150	1171	41.8
J.Dunbar	58	53	6	93	1070	22.8
"A" Shire						
R.Rempt	41	61	5	106 *	1268	22.6
		•=	-			

BATSMEN WITH 500 RUNS IN AGE COMPETITIONS

Polaques 28 27 5 170 * 1027 46.7 Jarnie Brown 22 21 5 170 * 1007 46.7 J.Brockley 30 30 2 109 998 35.6 R.Davison 29 29 2 112 944 35.0 A.Hilditch 26 27 1 113 928 35.7 T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 44.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Hughston 28 27 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 26.7 J.Dyson 23 28 4 92 674 28.1		Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques 28 27 5 170* 1027 46.7 J.Brockley 30 30 2 109 998 35.6 R.Davison 29 29 2 112 944 35.0 A.Hilditch 26 27 1 113 928 35.7 T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 44.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Hughston 28 27 2 102 852 34.1 J.Holksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107* 686 27.4 J.Dyson 23 23 3 75 644 32.2 P.Venn 18 18 2 103* 625 39.1	Poidevin-Gray Shield		• •				
J.Brockley 30 30 2 109 998 35.6 R.Davison 29 29 2 112 944 35.0 A.Hilditch 26 27 1 113 928 35.7 T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 41.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 106 737 30.7 LHawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107* 686 27.4 J.Dyson 23 28 4 92 674 28.1 J.Dyson 23 23 3 75 644 32.2 P.Ven							
R.Davison 29 29 2 112 944 35.0 A.Hilditch 26 27 1 113 928 35.7 T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 41.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 106 737 30.7 L.Hawksworth 40 38 2 63 71.7 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107* 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80* 649 36.1 D.Ri	•						
A.Hilditch 26 27 1 113 928 35.7 T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 41.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 150 787 35.8 M.Hughston 28 27 3 106 73 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107* 686 27.4 J.Dyson 23 28 4 92 674 28.1 J.Maston 27 32 3 75 644 32.2 P.Venn 18 18 203* 625 39.1 L.Dudman <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>							
T.Doyle 30 30 3 180 920 34.1 D.Murphy 23 23 1 85 910 41.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 150 787 35.8 M.Hughston 28 27 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 23 3 75 644 32.2 P.Venn 18 18 2 103 * 625 39.1 D.Buorn 23 22 1 92 588 27.0 J.Steed 19 19 0 86 587 30.9 K.Hudson							
D.Murphy 23 23 1 85 910 41.4 M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 106 737 30.7 L.Hawksworth 40 38 2 63 713 28.5 A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80 * 649 36.1 D.Rixon 23 23 75 598 24.9 Justin Kenny 18 18 2 92 581 27.7 J.Steed							
M.D.O'Brien 30 30 1 110 884 30.5 M.Probert 28 27 2 102 852 34.1 J.Holley 27 25 3 106 737 30.7 M.Hughston 28 27 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80 * 649 36.1 D.Rixon 23 23 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K							
M.Probert2827210285234.1J.Holley2725315078735.8M.Hughston2827310673730.7L.Hawksworth403826371719.9M.Bradley2828310871328.5A.Whatley34294107*68627.4J.Dyson232849267428.1G.Marston273218565121.0K.White2121380*64936.1D.Rixon232337564432.2P.Venn1818492*59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596*53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2M.Probert2421 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>							
J.Holley 27 25 3 150 787 35.8 M.Hughston 28 27 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80 * 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103 * 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Huds							
M.Hughston 28 27 3 106 737 30.7 L.Hawksworth 40 38 2 63 717 19.9 M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107* 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80* 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103* 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.0 D.Holley </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
L.Hawksworth403826371719.9M.Bradley2828310871328.5A.Whatley34294107*68627.4J.Dyson232849267428.1G.Marston273218565121.0K.White2121380*64936.1D.Rixon232337564432.2P.Venn18182103*62539.1L.Dudman332737559824.9Justin Kenny1818492*59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596*53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry21213137*67937.7G.Warston1416210866147.2T.Doyle1919	J.Holley						
M.Bradley 28 28 3 108 713 28.5 A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80 * 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103 * 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis	M.Hughston	28	27		106	737	30.7
A.Whatley 34 29 4 107 * 686 27.4 J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80 * 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103 * 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 568 27.0 D.Holley 23 22 1 92 568 27.0 D.Hann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96 * 535 48.6 C.Williams <td>L.Hawksworth</td> <td>40</td> <td>38</td> <td></td> <td>63</td> <td>717</td> <td>19.9</td>	L.Hawksworth	40	38		63	717	19.9
J.Dyson 23 28 4 92 674 28.1 G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80* 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103* 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92* 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96* 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey	M.Bradley	28	28	3	108	713	28.5
G.Marston 27 32 1 85 651 21.0 K.White 21 21 3 80* 649 36.1 D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103* 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92* 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96* 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey 24 27 2 100 519 20.8 D.Fallins	A.Whatley	34	29	4	107 *	686	27.4
K.White2121380*64936.1D.Rixon232337564432.2P.Venn18182103*62539.1L.Dudman332737559824.9Justin Kenny1818492*59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596*53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158*80244.6C.Lake17176119*69563.2M.Probert24213137*67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8 <t< td=""><td>J.Dyson</td><td>23</td><td>28</td><td>4</td><td>92</td><td>674</td><td>28.1</td></t<>	J.Dyson	23	28	4	92	674	28.1
D.Rixon 23 23 3 75 644 32.2 P.Venn 18 18 2 103 * 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96 * 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey 24 27 2 100 519 20.8 D.Fallins 32 24 4 63 508 25.4 T.Harvey 17 17 0 80 505 20.2 K.Hudson	G.Marston	27	32	1	85	651	21.0
P.Venn 18 18 2 103 * 625 39.1 L.Dudman 33 27 3 75 598 24.9 Justin Kenny 18 18 4 92 * 590 42.1 J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96 * 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey 24 27 2 100 519 20.8 D.Fallins 32 24 4 63 508 25.4 T.Harvey 17 17 0 80 505 29.7 G.Warry 21 26 1 93 505 20.2 M.Probert	K.White	21	21	3	80 *	649	36.1
L.Dudman332737559824.9Justin Kenny1818492*59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596*53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.	D.Rixon	23	23	3	75	644	32.2
Justin Kenny181818492 *59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596 *53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9 <td>P.Venn</td> <td>18</td> <td>18</td> <td>2</td> <td>103 *</td> <td>625</td> <td>39.1</td>	P.Venn	18	18	2	103 *	625	39.1
Justin Kenny181818492 *59042.1J.Steed191908658730.9K.Hudson242329258127.7D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596 *53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9 <td>L.Dudman</td> <td>33</td> <td>27</td> <td>3</td> <td>75</td> <td>598</td> <td>24.9</td>	L.Dudman	33	27	3	75	598	24.9
J.Steed 19 19 0 86 587 30.9 K.Hudson 24 23 2 92 581 27.7 D.Holley 23 22 1 92 568 27.0 D.Mann 32 29 6 70 538 23.4 B.Dwarshuis 17 16 5 96 * 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey 24 27 2 100 519 20.8 D.Fallins 32 24 4 63 508 25.4 T.Harvey 17 17 0 80 505 29.7 G.Warry 21 26 1 93 505 20.2 A.W.Green Shield K. K.Hudson 21 21 3 158 * 802 44.6 C.Lake 17 17 6 119 * 695 63.2 M.Probert 24 21 3 137 * 679 37	Justin Kenny	18	18	4	92 *		42.1
D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596 *53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9	-	19	19	0	86	587	30.9
D.Holley232219256827.0D.Mann322967053823.4B.Dwarshuis1716596 *53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9		24					
D.Mann322967053823.4B.Dwarshuis1716596 *53548.6C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *802M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
B.Dwarshuis 17 16 5 96 * 535 48.6 C.Williams 31 26 3 45 526 22.9 G.Bailey 24 27 2 100 519 20.8 D.Fallins 32 24 4 63 508 25.4 T.Harvey 17 17 0 80 505 29.7 G.Warry 21 26 1 93 505 20.2 A.W.Green Shield K.Hudson 21 21 3 158 * 802 44.6 C.Lake 17 17 6 119 * 695 63.2 M.Probert 24 21 3 137 * 679 37.7 G.Marston 14 16 2 108 661 47.2 T.Doyle 19 19 1 123 647 35.9 J.Horner 24 22 4 117 626 34.8 Shayne Smith 20 19 1 142 604 33.6	,						
C.Williams312634552622.9G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
G.Bailey2427210051920.8D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
D.Fallins322446350825.4T.Harvey171708050529.7G.Warry212619350520.2A.W.Green Shield </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
T.Harvey G.Warry17 2117 260 80 9380 50529.7 20.2A.W.Green ShieldK.Hudson21 2121 213 3158 * 158 * 193802 69544.6 63.2K.Hudson21 21 2121 213 3 137 * 679158 * 679802 63.2M.Probert24 24 2421 21 3 3 137 * 3 137 * 67937.7 679 37.7G.Marston14 16 1916 2 19 19108 123 123 647 647 644J.Horner24 24 22 22 4117 1626 63.8J.Horner24 22 20 20 1 105 * 31.3 3.8A.Whatley J.Rose22 23 21 212 6969 549 28.9	•						
G.Warry212619350520.2A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
A.W.Green ShieldK.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
K.Hudson21213158 *80244.6C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9				-			
C.Lake17176119 *69563.2M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9			_				_
M.Probert24213137 *67937.7G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
G.Marston1416210866147.2T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105*59531.3A.Whatley222208555625.3J.Rose232126954928.9							
T.Doyle1919112364735.9J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105*59531.3A.Whatley222208555625.3J.Rose232126954928.9							
J.Horner2422411762634.8Shayne Smith2019114260433.6L.Dudman20201105*59531.3A.Whatley222208555625.3J.Rose232126954928.9							
Shayne Smith2019114260433.6L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9	-						
L.Dudman20201105 *59531.3A.Whatley222208555625.3J.Rose232126954928.9							
A.Whatley222208555625.3J.Rose232126954928.9	-						
J.Rose 23 21 2 69 549 28.9							
	A.Whatley						
P.Venn 14 16 2 104 * 525 37.5							
	P.Venn	14	16	2	104 *	525	37.5

First Grade

65-66 E.Cotton 409; **66-67** Bryan Dawson 419; **67-68** N.O'Neill 617; **68-69** G.Bailey 406; **69-70** C.Dodd 633; **70-71** C.Dodd; **71-72** G.Warry 467; **72-73** G.Warry 425; **73-74** A.Hilditch 737; **74-75** A.Hilditch 638; **75-76** B.O'Dowd 479; **76-77** B.Davison 340; **77-78** L.Johns 721; **78-79** L.Johns 435; **79-80** A.Hilditch 311; **80-81** S.Rixon 449; **81-82** P.Clark 723; **82-83** P.Clark 591; **83-84** P.Clark 681; **84-85** P.Clark 715; **85-86** L.Johns 726; **86-87** P.Prichard 537; **87-88** P.Weatherall 413; **88-89** Justin Kenny 597; **89-90** R.Davison 471; **90-91** Justin Kenny 855; **91-92** Justin Kenny 536; **92-93** Justin Kenny 520; **93-94** A.Clark 547; **94-95** D.Mitchell 416; **95-96** R.Davison 975; **96-97** J.Young 701; **97-98** J.Young 728; **98-99** P.Jaques 731; **99-00** P.Jaques 775; **00-01** P.Jaques 548; **01-02** P.Jaques 717; **02-03** P.Jaques 902; **03-04** J.Young 522; **04-05** M.D.O'Brien 800; **05-06** L.Dudman 791; **06-07** P.Jaques 849; **07-08** Steven Smith 856; **08-09** M.Bradley 780; **09-10** M.Hughston 964; **10-11** S.Cush 631; **11-12** S.Cush 549; **12-13** M.Hughston 876; **13-14** P.Jaques 626; **14-15** M.Brown 660; **15-16** M.Brown 754; **16-17** C.Williams 811; **17-18** Jamie Brown 852; **18-19** C.Williams 814; **19-20** C.Williams 494; **20-21** C.Williams 660

Second Grade

65-66 C.Dodd 390; **66-67** R.Neill 379; **67-68** B.Davison 469; **68-69** K.Symons 378; **69-70** B.Hazell 554; **70-71** G.Marston 261; **71-72** J.Dyson 495; **72-73** B.Davison 448; **73-74** B.Davison 346; **74-75** G.Hilzinger 429; **75-76** B.Davison 488; **76-77** G.Coleman 525; **77-78** M.Ridge 446; **78-79** I.Everett 364; **79-80** S.Wishart 428; **80-81** I.Stephen 433; **81-82** B.Davison 453; **82-83** I.Everett 351; **83-84** K.Tuite 339; **84-85** A.Walsh 477; **85-86** R.Davison 777; **86-87** K.Tuite 523; **87-88** G.Horner 421; **88-89** K.Tuite 504; **89-90** M.Ridge 358; **90-91** D.Givney 664; **91-92** M.Ridge 387; **92-93** M.Ridge 365; **93-94** D.Givney 315; **94-95** J.Hall 355; **95-96** C.Hockey 421; **96-97** P.Jaques 593; **97-98** C.Lake 470; **98-99** M.Probert 523; **99-00** M.D.O'Brien 417; **00-01** A.Northridge 442; **01-02** J.Packer 512; **02-03** B.Roach 640; **03-04** J.Packer 562; **04-05** M.Parker 488; **05-06** M.Parker 541; **06-07** M.Parker 526; **07-08** J.Rafique 443; **08-09** C.Williams 640; **09-10** C.Williams 604; **10-11** J.Brockley 465; **11-12** J.Brockley 536; **12-13** M.Hopkins 433; **13-14** C.Williams 559; **14-15** J.Rose 396; **15-16** Jamie Brown 528; **16-17** L.Hawksworth 297; **17-18** C.Weatherall 467; **18-19** D.Rixon 650; **19-20** L.Hawksworth 410; **20-21** J.Horner 380

Third Grade

65-66 R.Green 362; **66-67** B.Davison 345; **67-68** B.Hazell 581; **68-69** B.Hazell 556; **69-70** B.Pratt 362; **70-71** J.Dyson 482; **71-72** I.Stephen 443; **72-73** S.Stewart 265; **73-74** Bryan Dawson 387; **74-75** B.Handley 347; **75-76** I.Everett 562; **76-77** M.Ridge 255; **77-78** S.Wishart 697; **78-79** P.Clark 340; **79-80** P.Clark 530; **80-81** B.Everett 422; **81-82** C.Maggs 342; **82-83** K.Lamb 294; **83-84** P.Weatherall 343; **84-85** B.Davison 679; **85-86** B.Davison 436; **86-87** D.Watson 650; **87-88** D.Coots 368; **88-89** K.Humphreys 528; **89-90** T.Woodhill 297; **90-91** D.Holley 417; **91-92** P.Bourke 404; **92-93** C.Peck 452; **93-94** A.Craig 284; **94-95** D.Costigan 283; **95-96** C.Lake 316; **96-97** M.Lumb 291; **97-98** M.Probert 479; **98-99** A.Northridge 513; **99-00** D.Dillon 388; **00-01** M.Carroll 395; **01-02** P.Weatherall 436; **02-03** P.Weatherall 511; **03-04** M.Duff 300; **04-05** L.Malin 422; **05-06** S.Cush 525; **06-07** J.Packer 563; **07-08** B.Marciante 469; **08-09** S.McInnes 378; **09-10** A.Phillips 347; **10-11** A.Phillips 445; **11-12** G.Davies 571; **12-13** J.Zywietz 279; **13-14** J.Burnett 453; **14-15** J.Burnett 477; **15-16** K.Brown 300; **16-17** A.Watkiss 260; **17-18** K.Medway 371; **18-19** E.Deal 412; **19-20** S.Thornton 383; **20-21** W.Vandermaal 252

Fourth Grade

65-66 G.Bailey 357; **66-67** R.Barton 336; **67-68** A.Griffiths 431; **68-69** K.Hatherly 576; **69-70** I.Stephen 558; **70-71** G.Hilzinger 476; **71-72** B.Hazell 807; **72-73** R.Rempt 311; **73-74** B.Handley 527; **74-75** D.O'Brien 370; **75-76** R.Handley 352; **76-77** K.Lamb 251; **77-78** K.Lamb 303; **78-79** K.Humphreys 368; **79-80** R.Gilmour 450; **80-81** B.Roberts 265; **81-82** R.Rose 309; **82-83** P.Welch 345; **83-84** R.Davison 422; **84-85** T.Iceton 397; **85-86** T.Iceton 502; **86-87** D.Coots 761; **87-88** M.Duff 495; **88-89** T.Iceton 284; **89-90** T.Brennan 365; **90-91** C.O'Hara 376; **91-92** A.Craig 280; **92-93** A.Craig 460; **93-94** M.Duff 430; **94-95** D.Watson 285; **95-96** G.Kenny 414; **96-97** A.Craig 532; **97-98** W.Cary 366; **98-99** B.Hard 375; **99-00** L.Dudman 513; **00-01** J.Burnett 266; **01-02** A.Craig 578; **02-03** A.Craig 515; **03-04** A.Craig 347; **04-05** Steven Smith 279; **05-06** D.Studholme 349; **06-07** J.Burnett 453; **07-08** A.Phillips 357; **08-09** M.Pulella 384; **09-10** L.Casey 375; **10-11** L.Casey 419; **11-12** M.Rice 341; **12-13** D.Grant 260; **13-14** B.Drury 346; **14-15** J.Arnold 300; **15-16** M.Parker 355; **16-17** J.Johnston 259; **17-18** A.Ritchie 229; **18-19** W.Vandermaal 272; **19-20** L.Maloney 282; **20-21** J.Hawksworth 436

Fifth Grade

69-70 M.Gillam 384; **70-71** John Green 348; **71-72** D.Kanard 394; **72-73** C.Radford 244; **73-74** G.Fletcher 275; **74-75** B.Hazell 438; **75-76** P.McMahon 258; **76-77** D.Ferguson 171; **77-78** D.Steed 388; **78-79** K.Lamb 507; **79-80** P.Welch 297; **80-81** K.Lamb 388; **81-82** K.Tuite 425; **82-83** C.Grimble 297; **83-84** D.Givney 506; **84-85** K.Rynne 440; **85-86** C.Holden 358; **86-87** C.Holden 380; **87-88** A.Craig 300; **88-89** B.Kirby 269; **89-90** J.Packer 291; **90-91** D.Wallace 401; **91-92** M.D.O'Brien 229; **92-93** A.Northridge 385; **93-94** R.Duff 334; **94-95** D.Givney 396; **95-96** D.Givney 490; **96-97** D.Givney 358; **97-98** L.Fleming 516; **98-99** D.Reynolds 366; **99-00** C.Brownscombe 353; **00-01** R.Trevillion 530; **01-02** D.Givney 442; **02-03** J.Rafique 568; **03-04** D.Givney 443; **04-05** D.Givney 568; **05-06** L.Casey 467; **06-07** K.Wilmott 699; **07-08** M.Pulella 362; **08-09** D.Givney 333; **09-10** G.Horner 409; **10-11** D.Givney 280; **11-12** M.Burg 269; **12-13** G.Horner 274; **13-14** S.Khan 376; **14-15** W.Vandermaal 375; **15-16** L.Miller 420; **16-17** D.Croker 226; **17-18** E.Deal 518; **18-19** N.Whittingham 388; **19-20** D.Michalak 225; **20-21** T.Brandt 198

Poidevin-Gray Shield

65-66 G.Parker 131; **66-67** G.Bailey 195; **67-68** C.Dodd 273; **68-69** B.Davison 189; **69-70** G.Warry 147; **70-71** A.Humphries 160; **71-72** Graham Goodman 132; **72-73** P.Venn 299; **73-74** A.Campbell 140; **74-75** A.Hilditch 456; **75-76** D.Russell 175; **76-77** A.Hilditch 131; **77-78** K.Hudson 272; **78-79** B.Johnson 104; **79-80** K.Hudson 102; **80-81** K.Humphreys 142; **81-82** P.Clark 144; **82-83** M.Dibley 108; **83-84** K.Tuite 125; **84-85** J.Steed 127; **85-86** Justin Kenny 232; **86-87** Justin Kenny 215; **87-88** R.Davison 270; **88-89** R.Davison 292; **89-90** T.Harvey 197; **90-91** T.Woodhill 265; **91-92** D.Mann 201; **92-93** B.Kirby 213; **93-94** J.Holley 321; **94-95** M.D.O'Brien 332; **95-96** M.D.O'Brien 289; **96-97** P.Jaques 223; **97-98** P.Jaques 239; **98-99** M.Probert 265; **99-00** P.Jaques 357; **00-01** M.Heslehurst 259; **01-02** B.White 257; **02-03** L.Dudman 250; **03-04** L.Dudman 195; **04-05** M.Hughston 302; **05-06** T.Bresnan 297; **06-07** D.Murphy 244; **07-08** D.Murphy 231; **08-09** D.Murphy 232; **09-10** D.Murphy 203; **10-11** J.Brockley 200; **11-12** J.Brockley 413; **12-13** B.Dwarshuis 242; **13-14** A.Whatley 214; **14-15** Jamie Brown 470; **15-16** Jamie Brown 410; **16-17** T.Doyle 274; **17-18** A.Waugh 235; **18-19** A.Bariol 152; **19-20** E.Deal 205; **20-21** D.Holdstock 186

A.W.Green Shield

65-66 G.Bailey 317; **66-67** G.Marston 432; **67-68** P.Venn 233; **68-69** I.Stephen 231; **69-70** J.Dyson 333; **70-71** I.Everett 233; **71-72** I.Everett 211; **72-73** B.Handley 289; **73-74** G.Beames 184; **74-75** K.Hudson 351; **75-76** K.Hudson 390; **76-77** J.Heath 188; **77-78** P.Bishell 175; **78-79** Michael Ritchie 247; **79-80** M.Gardner 179; **80-81** J.Steed 244; **81-82** K.Tuite 263; **82-83** C.Grimble 229; **83-84** M.Condon 128; **84-85** J.Hennessy 320; **85-86** D.Holley 244; **86-87** T.Woodhill 278; **87-88** D.Wallace 137; **88-89** T.Brennan 225; **89-90** M.Lumb 211; **90-91** M.D.O'Brien 264; **91-92** J.Sheehy 174; **92-93** M.Bradley 320; **93-94** C.Lake 490; **94-95** M.Probert 358; **95-96** M.Probert 297; **96-97** M.Culkoff 234; **97-98** G.Morriss 182; **98-99** L.Dudman 403; **99-00** M.Hughston 299; **00-01** M.Elliott 286; **01-02** C.McCarron 350; **02-03** S.Cush 377; **03-04** J.Zywietz 253; **04-05** L.Casey 131; **05-06** G.Davies 316; **06-07** B.Marciante 278; **07-08** M.Rice 334; **08-09** A.Whatley 312; **09-10** Shayne Smith 322; **10-11** Jamie Brown 180; **11-12** A.Gersbach 272; **12-13** T.Doyle 415; **13-14** J.Horner 463; **14-15** C.Weatherall 166; **15-16** N.Amos 274; **16-17** C.Maddinson 173; **17-18** D.Holdstock 251; **18-19** S.McCulloch 232; **19-20** H.Lindsay 217; **20-21** A.Frazer 118

BATSMEN WITH 500 RUNS IN ONE SEASON (GRADE)

66-67 A.Griffiths 692 (3-56, 4-246, A-188, B-202); R.Neill 512 (1-133, 2-379); 67-68 N.O'Neill 617 (1-617); B.Hazell 581 (3-581); G.Hilzinger 580 (A-391, B-189); P.Atkins 531 (3-531); G.Warry 510 (2-227, 3-184, 4-99); 68-69 B.Hazell 691 (2-135, 3-556); A.Griffiths 654 (2-252, 3-268, 4-134); K.Symons 616 (1-238, 2-378); K.Hatherly 576 (4-576); B.Hopkin 554 (2-33 3-521); 69-70 C.Dodd 633 (1-633); I.Stephen 558 (4-558); B.Hazell 544 (2-544); G.Warry 521 (1-185, 2-66, 3-270); 70-71 J.Dyson 572 (2-90, 3-482); G.Hilzinger 506 (3-30, 4-476); 71-72 B.Hazell 807 (4-807); 72-73 A.Hilditch 504 (2-246, 3-258); 73-74 A.Hilditch 737 (1-737); B.Davison 540 (1-194, 2-346); B.Handley 540 (3-13, 4-527); 74-75 A.Hilditch 638 (1-638); G.Warry 589 (1-589); 75-76 I.Everett 562 (3-562); K.Hudson 508 (3-433, 4-75); 76-77 G.Coleman 525 (2-525); G.Marston 501 (1-170, 2-158, 3-173); 77-78 S.Wishart 746 (2-49, 3-697); L.Johns 721 (1-721); 78-79 K.Lamb 507 (5-507); 79-80 P.Clark 555 (2-25, 3-530); 80-81 B.Everett 503 (2-81, 3-422); K.Humphreys 501 (1-12, 2-273, 3-216); 81-82 P.Clark 723 (1-723); C.Maggs 535 (2-19, 3-342, 4-174); B.Davison 518 (1-65, 2-453); G.Gazy 518 (2-177, 3-341); P.Somerville 513 (3-148, 4-160, 5-205); 82-83 G.Hilzinger 600 (1-497, 2-103); P.Clark 591 (1-591); M.Dibley 581 (3-231, 4-255, 5-95); D.Faidley 502 (3-10, 4-218, 5-274); 83-84 B.Davison 694 (1-140, 2-289, 3-265); P.Clark 681 (1-681); D.Givney 553 (2-26, 4-21, 5-506); P.Weatherall 535 (1-13, 2-91, 3-343, 4-88); R.Davison 525 (4-422, 5-103); 84-85 P.Clark 715 (1-715); L.Johns 703 (1-703); B.Davison 679 (3-679); K.Tuite 564 (1-188, 2-376); G.Hilzinger 540 (2-7, 3-533); A.Walsh 517 (1-40, 2-477); T.Harvey 506 (3-8, 4-173, 5-325); 85-86 R.Davison 777 (2-777); L.Johns 726 (1-726); Justin Kenny 615 (1-615); D.Simpson 532 (1-80, 2-452); T.Iceton 502 (4-502); 86-87 D.Coots 825 (3-64, 4-761); G.Coleman 732 (2-2, 4-730); D.Watson 716 (2-66, 3-650); G.Horner 663 (2-155, 3-508); B.Johnson 633 (1-146, 2-487); M.Graham 597 (2-597); A.Clark 544 (2-33, 3-511); P.Prichard 537 (1-537); K.Tuite 523 (2-523); Justin Kenny 507 (1-507); 87-88 G.Horner 551 (1-130, 2-421); 88-89 K.Humphreys 690 (2-162, 3-528); K.Tuite 667 (1-49, 2-504, 3-113, 5-1); Justin Kenny 597 (1-597); ; R.Davison 563 (1-563); S.Rixon 518 (1-518); 89-90 B.Hard 511 (4-247, 5-264); 90-91 Justin Kenny 855 (1-855); J.Dyson 713 (1-713); R.Davison 700 (1-700); D.Givney 664 (2-664); K.Humphreys 639 (2-615, 3-24); P.Weatherall 515 (1-515); 91-92 Justin Kenny 536 (1-536); 92-93 T.Brennan 684 (2-3, 3-393, 4-201, 5-87); M.Bradley 558 (4-281, 5-277); Justin Kenny 520 (1-520); 93-94 A.Clark 547 (1-547); S.Pratt 511 (2-103, 3-129, 4-200, 5-79); 95-96 R.Davison 975 (1-975); D.Mitchell 759 (1-759); W.Cary 512 (3-123, 4-356, 5-33); 96-97 M.Bradley 714 (1-170, 2-544); J.Young 701 (1-701); R.Davison 632 (1-632); P.Jaques 593 (1-593); D.Holley 582 (1-53, 2-529); K.Tuite 564 (2-564); S.Duff 557 (1-88, 2-469); A.Craig 532 (4-532); 97-98 P.Jaques 747 (1-421, 2-326); J.Holley 730 (1-426, 2-304); J.Young 728 (1-728); M.Bradley 612 (1-612); Justin Kenny 578 (1-578); M.D.O'Brien 528 (1-418, 2-110); L.Fleming 536 (4-20, 5-516); D.Howard 525 (4-316, 5-209); M.Probert 514 (3-479, 4-35); 98-99 P.Jagues 731 (1-731); J.Young 637 (1-637); M.Bradley 611 (1-611); A.Northridge 575 (2-62, 3-513); M.Probert 548 (1-25, 2-523); 99-00 P.Jaques 775 (1-775); L.Dudman 578 (3-65, 4-513); M.Bradley 544 (1-544); 00-01 P.Jaques 548 (1-548); J.Young 539 (1-539); R.Trevillion 530 (5-530); 01-02 M.Carroll 746 (1-93, 2-398, 3-242, 5-13); M.Ridge 720 (4-366, 5-354); P.Jaques 717 (1-717); J.Young 606 (1-606); J.Packer 586 (1-27, 2-512, 3-47); A.Craig 578 (4-578); S.Duff 561 (1-561); M.D.O'Brien 548 (1-548); P.Lynam 533 2-470, 3-63); M.Hughston 531 (2-337, 3-194); A.Clark 500 (1-45, 2-455); 02-03 P.Jaques 902 (1-902); J.Young 830 (1-830); B.Roach 685 (1-45, 2-640); J.Rafigue 581 (4-13, 5-568); M.Bradley 569 (1-569); L.Dudman 562 (1-473, 2-89); M.D.O'Brien 557 (1-557); D.Givney 549 (5-549); N.Bettiss 525 (2-16, 3-329, 4-40, 5-140); A.Craig 515 (4-515); P.Weatherall 511 (3-511); 03-04 J.Packer 669 (1-107, 2-562); J.Young 522 (1-522); M.Bradley 500 (1-416, 4-84); 04-05 M.D.O'Brien 800 (1-800); Steven Smith 593 4-279, 5-314); D.Givney 578 (5-578); M.Parker 503 (1-15, 2-488); 05-06 M.Hughston 850 (1-695, 2-155); Steven Smith 816 (1-429, 2-232, 3-155); L.Dudman 791 (1-791); S.Cush 706 (2-156, 3-525, 4-25); M.D.O'Brien 655 (1-655); P.Jaques 642 (1-642); M.Parker 591 (1-50, 2-541); P.Dugmore 579 (1-380, 2-199); P.Jaques 849 (1-849); Steven Smith 796 (1-796); K.Wilmott 704 (4-5, 5-699); M.Bradley 659 (2-161, 3-498); J.Rafique 630 (2-144, 3-457, 4-29); M.Earley 606 (3-27, 4-373, 5-206); C.Williams 585 (1-413, 2-172); J.Packer 563 (3-563); M.Parker 561 (1-45, 2-516); D.Murphy 556 (1-53, 2-391, 3-112); R.Chivers 552 (4-206, 5-346); L.Dudman 522 (1-522); M.Ryder 506 (4-57, 5-449); 07-08 Steven Smith 856 (1-856); J.Burnett 571 (1-134, 2-206, 3-231); D.Murphy 540 (1-533, 2-7); G.Richards 535 (3-112, 4-175, 5-248); M.Bradley 533 (1-368, 2-165); S.McInnes 510 (2-186, 3-159, 4-165); 08-09 M.Hughston 826 (1-733, 2-93); M.Bradley 780 (1-780); C.Williams 640 (2-640); S.Cush 589 (1-589); D.Murphy 516 (1-516); B.Marciante 510 (1-6, 2-504); 09-10 M.Hughston 964 (1-964); J.Holley 687 (1-135, 2-552); P.Jagues 685 (1-685); C.Williams 604 (2-604); M.Bradley 580 (1-580); N.Maddinson 574 (1-574); S.Pickering 572 (1-61, 2-511); J.Brockley 567 (2-567); D.Murphy 547 (1-148, 2-399); L.Casey 514 (3-139, 4-375); S.Cush 500 (1-354, 2-146); 10-11 S.Cush 631 (1-631); M.Hopkins 610 (1-194, 2-319, 3-97);

BATSMEN WITH 500 RUNS IN ONE SEASON (GRADE) (cont'd)

10-11 (cont'd) M.Hughston 598 (1-598); **11-12** J.Brockley 607 (1-71, 2-536); G.Davies 597 (2-26, 3-571); S.Cush 549 (1-549); **12-13** M.Hughston 876 (1-876); S.Cush 663 (1-663); M.Hopkins 597 (1-164, 4-433); P.Saroukos 594 (2-141, 3-221, 4-232); B.Dwarshuis 557 (1-325, 2-232); P.Jaquea 547 (1-547); M.Brown 540 (1-540); **13-14** P.Jaques 626 (1-626); S.Cush 612 (1-612); S.Khan 606 (4-230, 5-376); C.Williams 604 604 (1-45, 2-559); J.Burnett 534 (2-81, 3-453); P.Saroukos 529 (1-340, 2-189); J.Brockley 517 (1-73, 2-444); **14-15** M.Brown 660 (1-660); M.Hughston 589 (1-589); Shayne Smith 576 (1-154, 2-320, 3-102); M.Hughston 565 (2-88, 3-477); A.Whatley 507 (1-324, 2-183); Dylan Smith 506 (1-67, 2-266, 3-28, 4-145); **15-16** M.Brown 754 (1-754); C.Williams 706 (1-628, 2-78); M.Hughston 623 (1-44, 2-373, 3-206); Jamie Brown 609 (1-81, 2-528); **16-17** C.Williams 706 (1-628, 2-78); M.Hughston 623 (1-44, 2-373, 3-206); Jamie Brown 609 (1-81, 2-528); **16-17** C.Williams 706 (1-628, 2-78); M.Hughston 623 (1-44, 2-373, 3-206); Jamie Brown 609 (1-81, 2-528); **16-17** C.Williams 811 (1-811); Jamie Brown 575 (1-575); P.Saroukos 570 (1-387, 2-183); T.Doyle 526 (1-526); J.Biviano 522 (1-522); **17-18** Jamie Brown 852 (1-852); J.Biviano 692 (1-692); P.Saroukos 624 (1-624); E.Deal 542 (4-24, 5-518); C.Williams 534 (1-534); D.Rixon 517 (1-236, 2-281); **18-19** C.Williams 814 (1-814); D.Rixon 650 (2-650); T.Doyle 625 (1-470, 2-155); E.Deal 517 (3-412, 4-115); J.Hawksworth 505 (3-101, 4-227, 5-177); L.Hawksworth 502 (1-62, 2-440); **19-20** L.Hawksworth 550 (1-140, 2-410); **20-21** C.Williams 660 (1-660); J.Biviano 584 (1-584); T.Doyle 533 (1-533)

CENTURIES

First Grade

65-66 N.O'Neill 168, G.Le Huray 101; 67-68 N.O'Neill 123, C.Dodd 101*; 68-69 R.Every 124, G.Bailey 113; 69-70 E.Cotton 125*, A.Griffiths 102, L.Ritchie 101, C.Dodd 101; 71-72 G.Bailey 100*; 74-75 A.Hilditch 118, B.O'Dowd 108, J.Dyson 100*; 75-76 J.Dyson 105*, B.O'Dowd 102*; 76-77 A.Hilditch 103*; 77-78 A.Hilditch 127*; 79-80 W.Larkins 104, A.Hilditch 100; 80-81 S.Rixon 110*, S.Rixon 100; 81-82 P.Clark 123*, G.Barry 103; 82-83 B.Davison 111, P.Clark 109; 83-84 P.Clark 129*; 84-85 L.Johns 166, P.Clark 123, P.Clark 112, L.Johns 103; 85-86 L.Johns 164*, Justin Kenny 128*, Justin Kenny 119, L.Johns 117, L.Johns 111, M.Ridge 101*, L.Johns 101, P.Prichard 101; 86-87 J.Steed 113; 87-88 P.Weatherall 101; 88-89 G.Horner 153, S.Rixon 142, R.Davison 141, R.Davison 136*, S.Rixon 130; 90-91 Justin Kenny 157, R.Davison 153, Justin Kenny 134, Justin Kenny 116, Justin Kenny 104, J.Dyson 103*, P.Weatherall 103*; 91-92 Justin Kenny 104*; 92-93 A.Clark 113, Justin Kenny 107; 93-94 A.Clark 118; 94-95 D.Mitchell 166, D.Coots 105; 95-96 R.Davison 155, R.Davison 149, D.Mitchell 128, M.D.O'Brien 110, D.Mitchell 101; 96-97 J.Young 143, R.Davison 142, J.Young 139, R.Davison 112, R.Davison 105; 97-98 Justin Kenny 107, J.Young 106; 98-99 J.Young 124, P.Jaques 123, M.Bradley 117*, J.Holley 116, M.Bradley 106, P.Jaques 104, J.Holley 102; 99-00 M.Bradley 212*, J.Young 102, P.Jaques 100; 00-01 M.Bradley 157*, J.Holley 129*; 01-02 P.Jaques 151, J.Young 141, M.Bradley 121*, P.Jaques 100*; 02-03 P.Jaques 116, M.Bradley 114, P.Jaques 100*; 03-04 P.Jaques 151, M.Powell 109; 04-05 P.Jaques 131, M.D.O'Brien 118*, M.D.O'Brien 111*; 05-06 M.Hughston 155*, P.Jaques 155*, P.Jaques 144, L.Dudman 140, P.Jaques 128*, M.Hansen 113, P.Jaques 108, L.Dudman 105, J.Young 102; 06-07 P.Jaques 321, P.Jaques 183*, P.Jaques 131, Steven Smith 119*, Steven Smith 116, M.Hughston 100*; 07-08 Steven Smith 136, Steven Smith 134, D.Murphy 125*; 08-09 Steven Smith 158, S.Cush 149*, M.Hughston 131, M.Hughston 124, Steven Smith 115, M.Bradley 106; 09-10 M.Hughston 184 (QF), Steven Smith 171*, M.Hughston 166 (SF), N.Maddinson 142, N.Maddinson 137 (QF), P.Jaques 136, Steven Smith 134*, P.Jaques 128, P.Jaques 114*, A.Adams 105*, L.Dudman 101; 10-11 M.Hughston 121, L.Dudman 117, M.Hopkins 101*; 11-12 N.Maddinson 225; 12-13 M.Hughston 144, P.Jaques 120, S.Cush 120, M.Hughston 107, N.Maddinson 107 (F), P.Jaques 105*; 13-14 S.Cush 125, P.Jaques 114, M.Hughston 102; 14-15 M.Brown 129*, M.Hughston 126, Jamie Brown 122*, M.Brown 104; 15-16 M.Brown 143, B.Dwarshuis 130*, C.Williams 124*, Shayne Smith 118, P.Saroukos 103*; 16-17 C.Williams 183*, J.Biviano 143*, Jamie Brown 114, T.Doyle 108, K.Brockley 100; 17-18 S.Watson 184, Jamie Brown 126, J.Biviano 122, L.Hawksworth 119*, Jamie Brown 109, Jamie Brown 106 (QF), J.Biviano 102 (QF), Jamie Brown 101; 18-19 T.Doyle 129, J.Biviano 114, Steven Smith 112*, C.Williams 107, T.Doyle 100; 19-20 S.Watson 141, D.Fallins 111*, C.Williams 104*, S.Watson 101*; 20-21 C.Williams 130, T.Doyle 109, T.Doyle 102, C.Williams 102

Second Grade

65-66 G.Chudleigh 153*, C.Dodd 118, S.Toolin 110*; 67-68 J.Philip 115*; 68-69 K.Symons 109, L.Ritchie 102*; 69-70 G.Marston 138, B.Hazell 100*; 71-72 P.Venn 103; 72-73 P.Cox 117*, B.Davison 103; 73-74 B.Davison 104; 74-75 G.Marston 100*; 75-76 P.Venn 103*; 76-77 G.Coleman 118, A.Daley 109*; 77-78 P.Fisher 107; 78-79 K.Hudson 105; 80-81 I.Stephen 128; 81-82 D.Pratt 116; 82-83 I.Everett 104; 84-85 A.Walsh 144*, S.Funnell 108*; 85-86 David Simpson 131, R.Davison 122, J.Steed 121, D.Givney 102; 86-87 David Simpson 135, K.Tuite 121*, G.Fitzgerald 111, R.Davison 111, B.Johnson 101, K.Tuite 100; 87-88 D.Givney 162, G.Horner 150*; 88-89 K.Tuite 123, J.Clark 116*, K.Tuite 100; 90-91 K.Humphreys 135, K.Humphreys 132, D.Givney 106, D.Givney 100*; 92-93 N.Howard 105*; 93-94 J.Holley 101*; 94-95 M.Bradley 119; 95-96 J.Packer 135 (F), S.Duff 108; 96-97 M.Bradley 151, M.Bradley 127, S.Duff 114*; 97-98 P.Jaques 208, J.Holley 183, J.Holley 121, 121, K.Tuite 103; 98-99 M.Probert 132, D.Celep 102*, J.Packer 102, K.Tuite 100*; 99-00 M.D.O'Brien 144, A.Northridge 127*, D.Holley 105; 00-01 J.Packer 115; 01-02 P.Lynam 125, M.Carroll 120, M.Hughston 114*, J.Packer 108, M.Carroll 104, K.Thessman 103*, T.Brennan 101*, P.Lynam 100*; 02-03 M.Hughston 162*, K.Thessman 162, K.Thessman 131*, B.Roach 130, M.Hughston 110, B.Roach 106; 03-04 J.Packer 163, B.Roach 161; 04-05 D.Celep 129, M.Parker 100; 05-06 S.Cush 131, M.Hughston 116, A.Fleming 109*; 06-07 D.Murphy 158, M.Parker 111*, M.Parker 109, D.Murphy 102; 07-08 S.Pickering 164, J.Rafique 136, M.Bradley 129; 08-09 L.Dudman 144*, J.Holley 139, C.Williams 121*, B.Marciante 121, C.Williams 116; 09-10 D.Murphy 215, J.Holley 173, J.Brockley 151 (QF), S.Pickering 121, J.Holley 119 (QF), K.Brown 107 (QF), S.Pickering 100; 10-11 M.Hopkins 150*, J.Brockley 138; 11-12 J.Brockley 123, J.Burnett 109*, J.Bills 108*, K.White 105; 12-13 B.Dwarshuis 162, K.Brown 123, J.Burnett 116*, N.Loder 107; 13-14 J.Brockley 150, D.Maddinson 125; 14-15 A.Whatley 115, B.Dwarshuis 110; 15-16 D.Rixon 272, Jamie Brown 172*, M.Hughston 126*, J.Biviano 107, Jamie Brown 105*, Jamie Brown 100*; 16-17 S.Khan 131, R.Darkins 110*, A.Whatley 110; 18-19 L.Hawksworth 173*, P.Saroukos 123*, D.Rixon 101*, N.Amos 100; 19-20 L.Hawksworth 161, E.Deal 110, J.Horner 106, J.Arnold 103, J.Arnold 101*, Jamie Brown 101; 20-21 C.Weatherall 145, J.Almond 110, J.Horner 103*

Third Grade

65-66 B.Teague 114; 67-68 P.Atkins 143, B.Hazell 141, L.Ritchie 126*; 68-69 G.Marston 139, A.Griffiths 106; 69-70 B.Pratt 112*, P.Atkins 105, B.Hopkin 105; 70-71 I.Stephen 103; 71-72 G.Chudleigh 110*; 72-73 A.Hilditch 102; 75-76 K.Hudson 104; 76-77 M.Ridge 104, A.Daley 102*; 77-78 S.Wishart 107*, S.Wishart 102*, S.Wishart 102; 79-80 B.Johnson 113, P.Clark 109; 81-82 C.Maggs 107 (SF); 82-83 G.Errington 116; 83-84 P.Weatherall 173*, B.Davison 103*; 84-85 J.Clark 114, B.Davison 112, M.Condon 111, R.Davison 107, B.Davison 104; 85-86 T.Harvey 132; 86-87 D.Watson 153, G.Horner 111*, A.Clark 110 (SF), J.Clark 105, A.Clark 104; 87-88 T.Harvey 132, G.Fitzgerald 120, B.Johnson 114, K.Humphreys 102, D.Mann 100*; 88-89 K.Tuite 113, K.Humphreys 100*; 89-90 T.Woodhill 135; 90-91 D.Holley 113, T.Brennan 100*; 91-92 B.Kirby 138*, P.Bourke 100*, K.Humphreys 100; 92-93 J.Holley 199, T.Brennan 100 (SF); 93-94 D.Holley 131, M.Bradley 100*; 95-96 W.Cary 123; 98-99 A.Northridge 126*, C.Hockey 107, A.Northridge 105; 00-01 M.Carroll 102*; 01-02 M.Carroll 141, M.Probert 103, P.Weatherall 102*, M.Duff 100*; 02-03 P.Weatherall 129, P.Weatherall 111; 03-04 A.Phillips 154; 05-06 J.Rafique 137, S.Cush 103, A.Phillips 101*; 06-07 S.Cush 117, J.Packer 116*, D.Murphy 112, M.Bradley 100*; 07-08 M.Earley 134*, B.Marciante 116, J.Burnett 114; 08-09 L.Dudman 127*, A.Phillips 124*, S.McInnes 116; 09-10 M.Kelly 104, Dylan Smith 102; 10-11 A.Phillips 154, S.McInnes 116, M.Bradley 112; 11-12 G.Davies 164 (SF), G.Davies 133; 12-13 R.Almond 118, R.Maguire 105*, D.Maddinson 102, L.Maddinson 102; 13-14 J.Burnett 120*, M.McCrea 107; 14-15 J.Burnett 110, J.Burnett 101*; 16-17 J.Zywietz 106, A.Watkiss 102; 17-18 S.Thornton 103*; 18-19 E.Deal 136, K.Medway 113*, W.Vandermaal 100*; **19-20** B.Piggott 120, S.Thornton 104

Fourth Grade

65-66 G.Bailey 110*; **67-68** B.Webster 110*; **68-69** A.Griffiths 115, G.Coleman 114*, S.Boehm 112, G.Hilzinger 102*, K.Hatherly 101; **69-70** I.Stephen 110; **70-71** M.Thompson 130*, G.Hilzinger 120; **73-74** B.Handley 161, B.Handley 131*, D.O'Brien 120; **74-75** D.O'Brien 104*; **75-76** D.O'Brien 122*; **77-78** K.Humphreys 128; **78-79** J.Prendergast 105, K.Humphreys 102*; **80-81** P.Welch 103; **81-82** P.Somerville 103, D.Watson 100; **83-84** J.Clark 152*, R.Davison 108; **84-85** T.Iceton 179, D.Givney 120, D.Watson 107; **85-86** G.Coleman 145*, G.Coleman 109; **86-87** G.Coleman 141, D.Coots 126, G.Coleman 120, K.Richards 111*, D.Coots 105, D.Coots 104 (SF); **87-88** M.Duff 147; **88-89** C.Parsons 116; **90-91** A.Craig 127, B.Kirby 114, D.Watson 114, M.Jones 100*; **91-92** A.Duffy 100; **92-93** T.Brennan 201*, D.Costigan 101; **93-94** S.Pratt 111, G.Kenny 104*, M.Lumb 102; **95-96** W.Cary 120, S.Peters 111, G.Kenny 102*; **96-97** R.Fenech 109; **97-98**

CENTURIES (cont'd)

R.Fenech 151, M.Lumb 101*, D.Watson 101*; **98-99** L.Malin 102*, D.Howard 100; **99-00** L.Dudman 142* (F), L.Dudman 124; **00-01** J.Burnett 100*; **01-02** A.Phillips 120; **02-03** M.Elliott 100; **03-04** A.Craig 105; **05-06** D.Studholme 111, M.Earley 102, D.Studholme 101; **06-07** J.Burnett 123, M.Earley 118, C.Lewis 102*, A.Phillips 101*; **07-08** S.McInnes 165*; **08-09** J.Rafique 172, M.Pulella 151, J.Rafique 127, R.Shepherd 102; **09-10** L.Casey 101, C.Macnamara 100*; **10-11** M.Rice 164, B.Gilbert 112, G.Davies 103; **11-12** M.Rice 115, M.Rice 106; **12-13** P.Saroukos 147, D.Grant 113*, L.Casey 109*, A.El-Daher 103, M.Kelly 102; **13-14** B.Drury 106, B.Drury 100; **14-15** Dylan Smith 145; **15-16** M.Parker 124*; **18-19** J.Hawksworth 124, J.Green 106*, A.Grinham 104, J.Green 100*; **19-20** R.Bremer 103*; **20-21** J.Hawksworth 110* (SF)

Fifth Grade

70-71 P.Venn 117; 71-72 K.Hatherly 152*; 75-76 J.Wagner 122, P.Stewart 118; 77-78 D.Steed 151, D.Givney 101*; 78-79 P.Bishell 124 (SF), C.Tomko 117*; 81-82 M.Chapman 125, K.Tuite 112*, K.Tuite 109; 82-83 K.Rynne 123, C.Grimble 105*; 83-84 A.Quinn 134*, G.Horner 133*, D.Givney 113*; 84-85 T.Harvey 165 (SF), J.Clark 158*, G.Horner 100*, K.Lamb 100 (F); 85-86 D.Coots 116, C.Parsons 112*, C.Meichen 110, T.Young 100*; 87-88 S.Funnell 120, C.O'Hara 104; 88-89 D.Wallace 145*, B.Kirby 121; 89-90 B.Hard 134*, D.Wallace 123; 90-91 D.Wallace 134; 91-92 A.Craig 123, M.D.O'Brien 101; 92-93 M.Condon 125*, R.Duff 115, A.Northridge 111*; 93-94 C.Lucas 118*; 95-96 D.Givney 105; 97-98 D.Howard 120, L.Fleming 109, L.Fleming 107*; 98-99 T.Owsnett 127; 01-02 D.Givney 134, D.Givney 114*, D.Reynolds 105, L.Malin 102*, L.Malin 100*; 02-03 N.Bettiss 140, J.Rafique 121, S.Pickering 100; 03-04 C.McCarron 101*; 04-05 S.Duff 166*, R.Chivers 150, D.Givney 135 (QF), Steven Smith 134*, M.Elliott 121*, Steven Smith 121, R.Chivers 100 (QF); 05-06
G.Davies 121, G.Davies 102*; 06-07 K.Wilmott 164, J.Zywietz 158, K.Wilmott 137, R.Chivers 108, K.Wilmott 108; 07-08 C.Lewis 154, G.Richards 142, M.Kelly 107*; 08-09 B.Seville 145; 09-10 G.Horner 127, P.Weatherall 104, G.Horner 102, A.Whatley 101*; 10-11 M.Bradley 174, B.Dwarshuis 116*; 11-12 M.Burg 176*; 12-13 G.Horner 112; 13-14 C.D'Arcy 169, L.Casey 145* (QF), A.Watkiss 143, S.Khan 138; 14-15 W.Vandermaal 134*; 15-16
L.Miller 157; 16-17 M.Hughston 197*; 17-18 E.Deal 101* (QF); 18-19 R.Bremer 116

Poidevin-Gray Shield

66-67 G.Bailey 100; **67-68** C.Dodd 111*; **68-69** B.Davison 116; **72-73** A.Campbell 124*, P.Venn 103; **74-75** A.Hilditch 113, B.Handley 103; **87-88** P.Weatherall 128, R.Davison 112*; **93-94** J.Holley 150; **94-95** M.D.O'Brien 110; **96-97** P.Jaques 108*, M.Bradley 108; **98-99** M.Probert 102; **99-00** P.Jaques 170*; **03-04** M.Hughston 106; **04-05** M.Hughston 105; **11-12** J.Brockley 109 (F); **14-15** Jamie Brown 109, A.Whatley 107* (QF), A.Whatley 106; **15-16** T.Doyle 180, Jamie Brown 113*; **16-17** T.Doyle 103

A.W.Green Shield

65-66 G.Bailey 109; **66-67** G.Marston 108, P.Venn 104*, G.Marston 103; **68-69** I.Stephen 134*, P.Fisher 102; **69-70** I.Stephen 110, J.Dyson 106*; **71-72** I.Everett 140, A.Hilditch 100*; **73-74** B.Handley 116; **74-75** K.Hudson 151; **75-76** K.Hudson 158*, K.Hudson 111; **76-77** J.Heath 120*; **77-78** P.Bishell 105*; **82-83** C.Grimble 105; **84-85** R.Davison 112*; **93-94** T.Cadden 150, C.Lake 119*, R.Furner 114, T.Cadden 113*, C.Lake 113*; **94-95** M.Probert 137*, C.Lake 103*; **98-99** L.Dudman 105*; **02-03** S.Pickering 141 (QF), J.Davis 100*, C.Williams 100*, S.Cush 100; **05-06** G.Davies 121*, G.Davies 101*; **07-08** M.Rice 116; **09-10** Shayne Smith 142; **11-12** T.Doyle 123, N.Marciante 117; **13-14** C.D'Arcy 166*, J.Horner 117, J.Horner 108* (SF)

SCORES OF 99

68-69 G.Coleman (4ths), C.McGinn ("B"), K.McIlveen ("B"); **77-78** L.Johns (1sts); **82-83** P.Wilson (1sts), D.Faidley (4ths); **85-86** P.Weatherall (2nds); **90-91** D.Wallace (5ths); **92-93** M.D.O'Brien (3rds); **98-99** J.Young (1sts); **99-00** M.Bradley (1sts); **02-03** S.Cush (AWG); **03-04** M.Ridge (4ths); **07-08** B.Marciante (3rds); **18-19** C.Williams (1sts - no)

PROGRESSION OF CLUB RECORD SCORE

Date	Player	Score	Match	Venue
2.10.65	N.O'Neill	168	1sts v. St.George	Hurstville Oval
7.1.84	P.Weatherall	173 *	3rds v. North Sydney	North Sydney No.2
13.10.84	T.Iceton	179	4ths v. Parramatta	Coleman Park
14.11.92	T.Brennan	201 *	4ths v. Campbelltown	Raby No.2
13.12.97	P.Jaques	208	2nds v. Bankstown	Caringbah Oval
9.10.99	M.Bradley	212 *	1sts v. Hawkesbury	Caringbah Oval
3.2.07	P.Jaques	321	1sts v. North Sydney	North Sydney No.1

RECORD SCORES AT HOME GROUNDS

Date	Player	Score	Match	Venue
5.11.11	N.Maddinson	225	1sts v. Penrith	Glenn McGrath Oval
21.3.09	J.Rafique	172	4ths v. Northern District (Qualifying Final)	Sutherland Oval
13.11.17	M.Hughston	197 *	5ths v.Manly-Warringah	Tonkin Oval

PROGRESSION OF RECORD SCORES FOR EACH GRADE

Date	Player	Score	Match	Venue
2.10.65	N.O'Neill	168	1sts v. St.George	Hurstville Oval
9.10.99	M.Bradley	212 *	1sts v. Hawkesbury	Caringbah Oval
3.2.07	P.Jaques	321	1sts v. North Sydney	North Sydney No.1
16.10.65	S.Toolin	110 *	2nds v. Mosman	Mosman Oval
15.1.66	G.Chudleigh	153 *	2nds v. Balmain	Leichhardt Oval
7.11.87	D.Givney	162	2nds v. Balmain	Drummoyne Oval
25.10.97	J.Holley	183	2nds v. Penrith	Howell Oval
13.12.97	P.Jaques	208	2nds v. Bankstown	Caringbah Oval
14.11.09	D.Murphy	215	2nds v. Campbelltown-Camden	Glenn McGrath Oval
21.11.15	D.Rixon	272	2nds v. Hawkesbury	Owen Earle Oval
11.12.65	B.Teague	114	3rds v. North Sydney	North Sydney No.2
2.10.67	L.Ritchie	126 *	3rds v. Sydney	Rushcutters Bay
11.11.67	B.Hazell	141	3rds v. North Sydney	North Sydney No.2
16.12.67	P.Atkins	143	3rds v. Western Suburbs	Blick Oval
7.1.84	P.Weatherall	173 *	3rds v. North Sydney	North Sydney No.2
20.2.93	J.Holley	199	3rds v. Parramatta	Old King's Oval

PROGRESSION OF RECORD SCORES FOR EACH GRADE (cont'd)

Date	Player	Score	Match	Venue
9.10.65	G.Bailey	110 *	4ths v. Mosman	Tonkin Oval
7.10.69	A.Griffiths	115	4ths v. Bankstown	Sutherland Oval
5.12.70	M.Thompson	130 *	4ths v. Balmain	Ryde Oval
24.11.73	B.Handley	161	4ths v. Northern District	Waitara Oval
13.10.84	T.Iceton	179	4ths v. Parramatta	Coleman Park
14.11.92	T.Brennan	201 *	4ths v. Campbelltown	Raby No.2
6.3.71	P.Venn	117	5ths v. Manly A	Tonkin Oval
23.10.71	K.Hatherly	152 *	5ths v. Nthn District A	Tonkin Oval
15.12.84	J.Clark	158 *	5ths v. Northern District	Tonkin Oval
23.3.85	T.Harvey	165	5ths v. Balmain A (Semi-final)	Blick Oval
13.11.04	S.Duff	166 *	5ths v.Western Suburbs	Tonkin Oval
26.9.10	M.Bradley	174	5ths v.Mosman	Glenn McGrath Oval
29.10.11	M.Burg	176 *	5ths v.Manly-Warringah	Tonkin Oval
13.11.17	M.Hughston	197 *	5ths v.Manly-Warringah	Tonkin Oval
2.1.67	G.Bailey	100	P-G v. Western Suburbs	Caringbah Oval
26.12.67	C.Dodd	111	P-G v. Randwick	Caringbah Oval
27.1.69	B.Davison	116 *	P-G v. Bankstown	Caringbah Oval
10.12.72	A.Campbell	124	P-G v. Western Suburbs	Caringbah Oval
22.11.87	P.Weatherall	128	P-G v. University of NSW	Caringbah Oval
2.1.94	J.Holley	150	P-G v. Bankstown	Caringbah Oval
16.1.00	P.Jaques	170 *	P-G v. Western Suburbs	Pratten Park
10.1.16	T.Doyle	180	P-G v. Northern District	Glenn McGrath Oval
24.1.66	G.Bailey	109	AWG v. Western Suburbs	Caringbah Oval
9.1.69	I.Stephen	134 *	AWG v. Cumberland	Caringbah Oval
27.12.71	I.Everett	140	AWG v. Cumberland	Caringbah Oval
16.12.74	K.Hudson	151 *	AWG v. Nepean	Howell Oval
2.1.76	K.Hudson	158 *	AWG v. Petersham	Caringbah Oval
5.1.14	C.D'Arcy	166 *	AWG v. Eastern Suburbs	Glenn McGrath Oval
10.1.93	Justin Kenny	115	L/O v. Hawkesbury	Benson's Lane No.1
1.12.96	M.Bradley	118	L/O v. North Sydney (Semi-final)	North Sydney Oval
7.10.01	M.Bradley	121	L/O v. North Sydney	Caringbah Oval
7.1.06	P.Jaques	144	L/O v. Blacktown	Caringbah Oval
7.1.06	M.Hughston	155 *	L/O v. Blacktown	Caringbah Oval
10 12 17	S Watson	114 *	T20 v. Mosman (Quarter-final)	Allan Border Oval

10.12.17 S.Watson 114 * T20 v. Mosman (Quarter-final) Allan Border Oval

BOWLERS WITH 200 WICKETS IN ALL GRADES

	Matches	Overs	Maidens	Runs	Wickets	Average	5W Inns	10W Match
K.Meadows	346	5063	1555	11437	668	17.1	29	2
A.Clark	383	4852	1227	13065	639	20.4	26	2
G.Barry	333	4254	1102	11803	608	19.4	20	2
M.Black	247	3802	1116	8952	577	15.5	28	-
P.Weatherall	327	3266	649	10000	439	22.8	12	-
S.Clark	192	2578	581	7038	435	16.2	25	1
C.Macnamara	266	3405	843	9227	433	21.3	13	-
D.Mann	253	3475	906	9019	431	20.9	17	-
N.Fitzgerald	232	2892	613	9315	428	21.8	12	-
M.Chapman	257	3950	1047	10885	428	25.4	13	-
N.Whittingham	270	3407	763	9788	422	23.2	7	-
B.Gorman	166	2056	299	8002	399	20.1	18	1
L.Dudman	315	2981	460	10251	376	27.3	6	-
M.Carroll	222	2866	705	8187	366	22.4	18	1
D.Fallins	216	2359	228	9602	350	27.4	10	-
M.Gardner	151	2712	661	7503	336	22.3	17	-
J.Packer	287	2313	560	6310	327	19.3	14	-
J.Holley	311	2348	531	7031	324	21.7	6	-
H.Reus	170 128	1714 1669	284 329	6352 5125	318 315	20.0 16.3	12 16	- 1
J.Slattery G.Murphy	128	1571	283	5125	313	16.5	10	1
J.Tuccia	181	2108	261	8486	310	27.4	2	-
D.McLauchlan	185	2306	467	6593	309	27.4	14	-
J.Dunbar	156	1962	426	5454	301	18.1	11	_
R.Archibald	176	2529	613	6810	296	23.0	9	-
G.Kenny	230	2289	453	7019	293	24.0	6	-
A.Mann	175	2001	477	5628	279	20.2	6	-
D.Eaglesham	150	1604	299	5733	279	20.5	12	-
R.Mills	135	1682	412	4840	274	17.7	10	-
J.Bills	17	1865	15	5721	273	21.0	7	-
A.Fleming	181	1593	338	4895	271	18.1	11	1
D.Russell	121	1360	217	4915	267	18.4	10	1
J.Zywietz	225	1631	246	5774	253	22.8	1	-
S.Dawes	155	1787	460	4993	252	19.8	9	-
R.Wade	151	1213	168	5202	248	21.0	5	-
S.Manning	168	1787	365	5473	241	22.7	6	-
C.Gilmour	143	1713	349	5517	239	23.1	5	-
M.Jones	127	1791	418	4617	237	19.5	12	-
I.Napper	143	1024	168	3889	236	16.5	9	-
J.Derwent	149	1717	263	6511	235	27.7	4	-
S.Edmonds	81	915	159	3224	234	13.8 22 5	11	-
K.Rose G.Bailey	126 160	1328 1305	159 272	5274 4239	234 233	22.5 18.2	13 6	-
G.Coleman	215	1744	506	4239	233	18.2	10	-
C.Christie	177	1916	511	4249	233	19.6	8	1
N.Howard	147	1668	295	5467	233	23.7	11	2
T.Pinson	162	1583	226	6445	229	28.1	4	-
H.Watson	130	1313	255	4029	217	18.6	6	-
G.Glover	119	911	164	3105	213	14.6	12	1
B.Dwarshuis	199	1360	254	4461	204	21.9	2	-
E.Cotton	86	1018	243	2984	203	14.7	13	1
Steven Smith	138	1272	156	5211	202	25.8	6	1
A.Hale	58	1031	227	2883	201	14.3	19	2
D.Lawrence	76	835	150	2977	200	14.9	11	2
S.Willis	137	1588	392	4205	200	21.0	7	-

BOWLERS WITH 75 WICKETS IN ONE GRADE

First Grade
S.Clark 123 1955 437 5581 332 16.8 N.Fitzgerald 173 2107 437 7023 317 22.2 M.Chapman 166 2887 789 8035 305 26.3 M.Black 126 1679 407 4627 250 18.5 L.Dudman 197 1966 287 7006 247 28.4 D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.9 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175
N.Fitzgerald 173 2107 437 7023 317 22.2 M.Chapman 166 2887 789 8035 305 26.3 M.Black 126 1679 407 4627 250 18.5 L.Dudman 197 1966 287 7006 247 28.4 D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.8 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 </td
M.Chapman 166 2887 789 8035 305 26.3 M.Black 126 1679 407 4627 250 18.5 L.Dudman 197 1966 287 7006 247 28.4 D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.8 P.Weatherall 131 1786 383 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 4144 </td
M.Black 126 1679 407 4627 250 18.5 L.Dudman 197 1966 287 7006 247 28.4 D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.8 P.Weatherall 131 1786 833 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 28.9 J.Slattery 63 787 135 2560
L.Dudman 197 1966 287 7006 247 28.4 D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.8 P.Weatherall 131 1786 383 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560
D.Fallins 149 1787 176 7121 242 29.4 B.Gorman 112 1284 177 5118 235 21.8 P.Weatherall 131 1786 383 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354
B.Gorman 112 1284 177 5118 235 21.8 P.Weatherall 131 1786 383 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470
P.Weatherall 131 1786 383 5326 219 24.3 J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739
J.Tuccia 128 1424 154 6067 212 28.6 E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 <t< td=""></t<>
E.Cotton 84 987 236 2923 197 14.8 A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428
A.Fleming 90 1147 230 3624 196 18.5 G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428 108 31.7 J.Wilson 75 831 193 3087
G.Barry 119 1522 391 4468 182 24.5 D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428 108 31.7 J.Wilson 75 831 193 3087 106 29.1 G.Bailey 80 672 143 2187 10
D.McLauchlan 77 1335 265 4102 172 23.8 J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428 108 31.7 J.Wilson 75 831 193 3087 106 29.1 G.Bailey 80 672 143 2187 102 </td
J.Holley 183 1250 271 4175 151 27.6 B.Dwarshuis 117 997 194 3376 148 22.8 T.Pinson 101 987 134 4194 145 28.9 J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428 108 31.7 J.Wilson 75 831 193 3087 106 29.1 G.Bailey 80 672 143 2187 102 21.4 B.Guthrie 38 745 184 2205 102 21.4 B.Guthrie 38 745 184 2205 102
B.Dwarshuis117997194337614822.8T.Pinson101987134419414528.9J.Slattery63787135256014417.8R.Wade105733114307714421.4G.McGrath56964264235414016.8G.Roden54803142273912921.2Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Bla
T.Pinson101987134419414528.9J.Slattery63787135256014417.8R.Wade105733114307714421.4G.McGrath56964264235414016.8G.Roden54803142273912921.2Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard </td
J.Slattery 63 787 135 2560 144 17.8 R.Wade 105 733 114 3077 144 21.4 G.McGrath 56 964 264 2354 140 16.8 G.Roden 54 803 142 2739 129 21.2 Steven Smith 89 789 83 3470 117 29.7 D.Mann 108 1166 289 3428 108 31.7 J.Wilson 75 831 193 3087 106 29.1 G.Bailey 80 672 143 2187 102 21.4 B.Guthrie 38 745 184 2205 102 21.6 M.Gardner 52 926 254 2547 95 26.8 M.Brown 102 629 79 2499 85 29.4 H.Reus 51 447 59 1865 78 23.9 A.Zampa 54 595 82 207 78 28.3<
R.Wade105733114307714421.4G.McGrath56964264235414016.8G.Roden54803142273912921.2Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.McGrath56964264235414016.8G.Roden54803142273912921.2Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125.319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.Roden54803142273912921.2Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
Steven Smith8978983347011729.7D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
D.Mann1081166289342810831.7J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
J.Wilson75831193308710629.1G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.Bailey80672143218710221.4B.Guthrie38745184220510221.6M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
B.Guthrie 38 745 184 2205 102 21.6 M.Gardner 52 926 254 2547 95 26.8 M.Brown 102 629 79 2499 85 29.4 H.Reus 51 447 59 1865 78 23.9 A.Zampa 54 595 82 2207 78 28.3 D.Coppock 49 651 101 2179 77 28.3 G.Barron 62 654 130 2168 75 28.9 Second Grade U U U U U U U G.Barry 139 1947 533 4921 253 19.5 A.Clark 80 1243 291 3363 180 18.7 M.Carroll 88 1369 369 3805 149 25.5 M.Black 52 797 198 1733 140 12.4 N.Howard 75 1035 185 3276 139 <t< td=""></t<>
M.Gardner5292625425479526.8M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
M.Brown1026297924998529.4H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
H.Reus514475918657823.9A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
A.Zampa545958222077828.3D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
D.Coppock4965110121797728.3G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.Barron6265413021687528.9Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
Second GradeG.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
G.Barry1391947533492125319.5A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
A.Clark801243291336318018.7M.Carroll881369369380514925.5M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
M.Black52797198173314012.4N.Howard751035185327613923.6J.Packer1421011213289313122.1
N.Howard751035185327613923.6J.Packer1421011213289313122.1
J.Packer 142 1011 213 2893 131 22.1
H.Reus 69 764 147 2748 128 21.5
· · · · · · · · · · · · · · · · · · ·
N.Whittingham 91 1306 297 3997 128 31.2
K.Tuite 167 997 232 2689 121 22.2
J.Philip 33 461 78 1654 107 15.5
S.Boehm 57 582 92 1966 107 18.4
M.Gardner 36 806 182 2236 107 20.9
J.Slattery 42 555 117 1670 106 15.8
D.Russell 50 503 67 1993 105 19.0
F.Timbrell 52 563 100 2009 105 19.1
R.Waddington 53 413 39 1573 103 15.3
J.Bills 54 669 142 2146 96 22.4
R.Archibald 65 952 232 2431 94 25.9

BOWLERS WITH 75 WICKETS IN ONE GRADE (cont'd)

	Matches	Overs	Maidens	Runs	Wickets	Average
Second Grade (co						0 -
T.Freeburn	53	664	96	2648	91	29.1
K.Williams	56	736	127	2400	89	27.0
C.Gilmour	56	748	155	2439	89	27.4
D.Celep	78	584	54	2706	89	30.4
S.Manning	54	697	135	2272	87	26.1
C.Macnamara	61	873	186	2560	87	29.4
J.Derwent	56	786	126	2961	87	34.0
P.McCann	32	403	58	1663	85	19.6
C.Russell	44	512	83	1823	83	22.0
B.Gorman	30	436	66	1598	80	20.0
J.Holley	48	496	116	1341	77	17.4
G.Coleman	99	671	169	1733	77 76	22.5
A.Manzie	30	371	30	1508	70	19.8
Third Grade						
G.Murphy	121	1046	200	3442	209	16.5
G.Kenny	137	1415	286	4425	195	22.7
J.Zywietz	136	996	149	3588	149	24.1
K.Meadows	72	1068	298	2717	140	19.4
M.Black	37	792	302	1723	131	13.2
M.McDonald	45	454	84	1501	113	13.3
J.Derwent	71	721	105	2715	112	24.2
B.Davison	75	813	227	2016	103	19.6
P.Weatherall	73	721	138	2249	101	22.3
C.Gilmour	51	613	135	1793	100	17.9
A.Mann	62	733	163	2171	94	23.1
C.Macnamara	59	745	184	2066	93	22.2
K.Hatherly	51	502	68	1770	91	19.5
D.Holley	76	672	181	1846	88	21.0
D.Mann	32 34	556 437	152 119	1410 1059	81 77	17.4 13.8
A.Northridge P.Burns	34 39	437	88	1039	77 77	15.8 16.8
K.Rose	33	365	88 40	1290	75	10.8
N.NOSC	55	505	40	1440	75	15.5
Fourth Grade						
C.Macnamara	91	1197	308	3091	182	17.0
R.Mills	77	895	202	2701	148	18.3
D.Lawrence	52	581	99	2145	142	15.1
M.Jones	62	954	219	2453	128	19.2
S.McGrath	48	580	162	1396	111	12.6
R.Hobden	41	477	77	1835	110	16.7
R.Longbottom	30	362	38	1050	106	9.9
G.Coleman	49	698	227	1520	101	15.0
K.Meadows	54	798	260	1682	100	16.8
R.Barton	45	361	27	1688	96 05	17.6
J.Dunbar P.Mullane	58 40	682 509	136 110	1891 1381	95 90	19.9 15.3
G.Glover	40 57	411	85	1417	90 89	15.5
A.Hale	19	411	97	1165	89	13.9
M.Brennan	40	562	148	1469	84	17.5
K.Hatherly	38	357	54	1338	80	16.7
G.Kenny	70	642	127	1792	78	23.0
		J .=	;			

BOWLERS WITH 75 WICKETS IN ONE GRADE (cont'd)

	Matches	Overs	Maidens	Runs	Wickets	Average
Fifth Grade						•
K.Meadows	161	2505	836	5158	352	14.7
D.Eaglesham	91	1073	223	3649	201	18.2
C.Christie	130	1326	365	3072	182	16.9
N.Whittingham	72	940	241	2444	156	15.7
J.Dunbar	58	792	199	2089	125	16.7
R.Mills	51	704	196	1808	116	15.6
S.Dawes	55	682	200	1811	109	16.6
S.Kourouche	113	938	191	2833	108	26.2
M.Abbott	34	406	54	1589	99	16.1
M.Jones	51	693	177	1692	92	18.4
P.Purcell	21	408	83	1308	84	15.6
E.Behl	35	599	183	1152	79	14.6
"A" Shires						
P.Turner	34	430	42	1850	93	19.9

BOWLERS WITH 35 WICKETS IN POIDEVIN-GRAY SHIELD

	Matches	Overs	Maidens	Runs	Wickets	Average
D.Mann	32	450	126	1043	63	16.6
D.Russell	25	318	63	1092	58	18.8
D.Fallins	32	218	15	953	53	18.0
N.Howard	21	240	42	792	52	15.2
P.Byrom	17	191	34	511	48	10.6
G.Bailey	24	235	50	853	48	17.8
L.Talay	25	192	31	710	44	16.1
A.Humphries	18	184	38	565	41	13.8
D.McLauchlan	29	282	48	757	41	18.5
G.Barry	19	195	54	566	40	14.2
Jamie Brown	32	201	23	667	40	16.7
M.Gardner	17	275	75	691	40	17.3
S.Clark	17	146	26	385	39	9.9
M.Carroll	12	162	35	442	35	12.6
N.Brookes	19	186	36	550	35	15.7

BOWLERS WITH 30 WICKETS IN A.W.GREEN SHIELD

	Matches	Overs	Maidens	Runs	Wickets	Average
A.Hale	14	257	57	655	54	12.1
B.Booker	14	154	38	437	37	11.8
M.Gardner	14	223	55	634	37	17.1
N.Morando	16	177	45	468	35	13.4
S.Woodley	7	123	34	300	34	8.8
Daniel Simpson	16	147	26	463	32	14.5
W.Schofield	17	194	41	490	31	15.8
Justin Kenny	13	158	32	416	30	13.9

First Grade

65-66 M.Black, E.Cotton 31; **66-67** M.Black 41; **67-68** E.Cotton 33; **68-69** E.Cotton 48; **69-70** E.Cotton, J.Slattery 31; **70-71** J.Slattery 60; **71-72** B.Gorman 34; **72-73** G.Bailey 36; **73-74** B.Gorman 42; **74-75** B.Gorman 37; **75-76** B.Gorman 36; **76-77** M.Black 32; **77-78** E.Nix 40; **78-79** E.Nix 32; **79-80** R.Williams 23; **80-81** R.Buckland 35; **81-82** G.Barry 37; **82-83** R.Archibald 19; **83-84** P.Clark, M.Gardner 36; **84-85** G.Barry, D.Lang 24; **85-86** M.Chapman 32; **86-87** M.Chapman 31; **87-88** M.Chapman 37; **88-89** M.Chapman 35; **89-90** A.Clark 36; **90-91** M.Chapman, P.Weatherall 43; **91-92** P.Weatherall 35; **92-93** A.Clark 19; **93-94** A.Clark 43; **94-95** S.Clark 35; **95-96** S.MacGill 58; **96-97** B.Guthrie 44; **97-98** B.Guthrie 47; **98-99** S.Clark 46; **99-00** S.Clark 37; **00-01** D.McLauchlan 24; **01-02** G.Warren 32; **02-03** G.Roden 52; **03-04** G.Roden 33; **04-05** G.Roden 44; **05-06** L.Dudman 41; **06-07** L.Dudman 38; **07-08** J.Tuccia 49; **08-09** Steven Smith, J.Tuccia 27; **09-10** A.Adams 50; **10-11** A.Fleming 55; **11-12** N.Fitzgerald 36; **12-13** N.Fitzgerald 59; **13-14** N.Fitzgerald 36; **14-15** N.Fitzgerald 33; **15-16** D.Malone 32; **16-17** D.Fallins 39; **17-18** J.Wilson 29; **18-19** T.Pinson 35; **19-20** D.Fallins 27; **20-21** D.Fallins, T.Garg 23

Second Grade

65-66 J.Philip 37; 66-67 B.Stephen 44; 67-68 J.Philip 43; 68-69 J.Slattery 46; 69-70 P.McCann 38; 70-71 A.Manzie 41; 71-72 I.Napper 34; 72-73 I.Napper 30; 73-74 M.Black 51; 74-75 D.Russell 26; 75-76 R.Waddington 47; 76-77 F.Timbrell 28; 77-78 F.Timbrell 32; 78-79 J.Heath 24; 79-80 H.Reus 27; 80-81 H.Reus 27; 81-82 K.Rose 32; 82-83 K.Rose 21; 83-84 K.Meadows 26; 84-85 M.Chapman, D.Niu 20; 85-86 N.Howard 39; 86-87 N.Howard 44; 87-88 A.Clark, B.Connell 28; 88-89 G.Barry 21; 89-90 G.Coleman 42; 90-91 M.Gardner 43; 91-92 M.Gardner 44; 92-93 S.Clark 28; 93-94 D.Mann 19; 94-95 M.Carroll 33; 95-96 M.Carroll 37; 96-97 J.Dunbar 38; 97-98 S.Manning 24; 98-99 C.Lucas 14; 99-00 G.Warren 20; 00-01 A.Clark 36; 01-02 A.Clark 36; 02-03 A.Clark 37; 03-04 D.Celep 23; 04-05 P.Weatherall 22; 05-06 L.Fleming 27; 06-07 J.Derwent 24; 07-08 Daniel Simpson, L.Talay 18; 08-09 L.Fleming 27; 09-10 N.Rowe 43; 10-11 S.Dawes, C.Gilmour, N.Whittingham 19; 11-12 J.Bills 23; 12-13 J.Bills 31; 13-14 N.Whittingham 18; 14-15 D.Malone 19; 15-16 K.Brockley 28; 16-17 Jayden Brown 22; 17-18 S.Milliken 21; 18-19 D.Rixon 22; 19-20 P.Singh 20; 20-21 Justin Green 16

Third Grade

65-66 B.Stephen 38; **66-67** G.Chudleigh, K.Hatherly 25; **67-68** B.Hazell 30; **68-69** A.Kay 35; **69-70** A.Manzie 39; **70-71** S.Edmonds 43; **71-72** R.Waddington 40; **72-73** M.Black 46; **73-74** R.Vasek 33; **74-75** J.Slattery 39; **75-76** M.McDonald 53; **76-77** B.Booker 34; **77-78** A.Nix 37; **78-79** A.Peters 37; **79-80** C.Tomko 25; **80-81** K.Rose 54; **81-82** G.McBarron 37; **82-83** D.Cosgrove, K.Meadows 29; **83-84** M.Black 17; **84-85** M.Black 57; **85-86** B.Davison 29; **86-87** B.Davison, D.Mann 34; **87-88** A.Hale 27; **88-89** R.Archibald 26; **89-90** G.Kenny, K.Meadows 18; **90-91** D.Holley 37; **91-92** J.Campbell 24; **92-93** J.Packer 28; **93-94** K.Meadows 22; **94-95** K.Meadows 20; **95-96** B.James, A.Mann 19; **96-97** G.Barron 37; **97-98** B.James 32; **98-99** A.Northridge 35; **99-00** G.Kenny 27; **00-01** J.Hancock 27; **01-02** P.Weatherall 31; **02-03** R.Malas 27; **03-04** B.Harwin 21; **04-05** C.Gilmour 24; **05-06** C.Gilmour 26; **06-07** C.Gilmour 33; **07-08** J.Bills 24; **08-09** S.Newman 26; **09-10** N.Whittingham 19; **10-11** J.Derwent 26; **11-12** J.Roy 27; **12-13** J.Zywietz 23; **13-14** P.Burns, Trent Smith 29; **14-15** P.Burns 19; **15-16** Jayden Brown, A.Watkiss 16; **16-17** J.Horner 16; **17-18** J.Derwent 28; **18-19** J.Derwent 27; **19-20** B.Williams 18; **20-21** W.Straker, K.Weatherall 18

Fourth Grade

65-66 R.Longbottom 59; **66-67** R.Longbottom 42; **67-68** K.Hatherly 45; **68-69** D.Lawrence 34; **69-70** D.Lawrence 40; **70-71** C.Russell 42; **71-72** J.Sands 24; **72-73** Brian Dawson 30; **73-74** P.Mullane 56; **74-75** G.Glover 27; **75-76** R.Mills 26; **76-77** R.Mills 31; **77-78** R.Hobden 32; **78-79** R.Hobden 30; **79-80** K.Rose 40; **80-81** G.Chudleigh 38; **81-82** G.Platford 22; **82-83** John Kenny 35; **83-84** R.Mills 30; **84-85** G.Kenny 29; **85-86** A.Hale 45; **86-87** A.Hale 39; **87-88** G.Coleman 51; **88-89** G.Coleman 51; **89-90** M.Brennan 37; **89-90** M.Jones 36; **90-91** M.Carroll 29; **91-92** A.McDowell 21; **92-93** C.Blakeley 32; **93-94** J.Skinner 28; **94-95** A.Northridge 24; **95-96** D.Mann 27; **96-97** A.Craig 22; **97-98** C.Brownscombe, K.Meadows 27; **98-99** S.McGrath 26; **99-00** S.McGrath 37; **00-01** S.McGrath 24; **01-02** R.Malas 41; **02-03** A.Craig, J.McInnes 16; **03-04** R.Malas 17; **04-05** B.Harwin 21; **05-06** J.Dunbar 16; **06-07** D.Crawford, J.Dunbar 26; **07-08** C.Macnamara 34; **08-09** H.Watson 38; **09-10** J.Bills 33; **10-11** T.Nicoll 26; **11-12** C.Macnamara 25; **12-13** A.Watkiss 22; **13-14** C.Macnamara 29; **14-15** D.Lowy 18; **15-16** M.Burg 26; **16-17** T.Gilbert 11; **17-18** A.Ritchie 17; **18-19** K.Weatherall 12; **19-20** W.Straker 31; **20-21** T.Straker 37

Fifth Grade

69-70 E.Rollinson 61; **70-71** M.Abbott 42; **71-72** G.Glover 29; **72-73** P.Rae 28; **73-74** P.Mackey 28; **74-75** G.Fouracre 24; **75-76** G.Fouracre 26; **76-77** J.Hannigan 25; **77-78** J.Harris 36; **78-79** A.Lane 27; **79-80** R.Noyes 39; **80-81** R.Mills 41; **81-82** C.Christie 22; **82-83** C.Christie 33; **83-84** K.Kennedy 26; **84-85** M.Jones 33; **85-86** E.Behl 24; **86-87** J.Smith 30; **87-88** M.Jones 23; **88-89** K.Meadows 42; **89-90** M.Carroll 31; **90-91** J.Packer 31; **91-92** A.Mann 32; **92-93** P.Burg 23; **93-94** D.Eaglesham 41; **94-95** D.Lawless 19; **95-96** P.Purcell 73; **96-97** K.Meadows 22; **97-98** D.Eaglesham 39; **98-99** K.Meadows 31; **99-00** J.Dunbar 49; **00-01** K.Meadows 31; **01-02** D.Eaglesham 52; **02-03** K.Meadows 27; **03-04** K.Meadows 32; **04-05** K.Meadows 22; **05-06** J.Roy 19; **06-07** S.Dawes 20; **07-08** S.Dawes 29; **08-09** J.McKinley 28; **09-10** S.Dawes 19; **10-11** M.Burg 17; **11-12** P.Burns 21; **12-13** S.Kourouche 20; **13-14** S.Kourouche 19; **14-15** Jayden Brown 17; **15-16** P.Driscoll 19; **16-17** L.Maloney 19; **17-18** N.Whittingham 33; **18-19** N.Whittingham 43; **19-20** N.Whittingham 33; **20-21** N.Whittingham 16

Poidevin-Gray Shield

65-66 R.Wade 16; **66-67** I.Napper 16; **67-68** L.Ritchie 17; **68-69** G.Bailey 16; **69-70** A.Humphries 18; **70-71** A.Humphries 15; **71-72** H.Reus, C.Russell 9; **72-73** G.Barry, D.Russell 12; **73-74** D.Russell 13; **74-75** D.Russell 19; **75-76** D.Russell 15; **76-77** P.Mancell 9; **77-78** J.Heath 12; **78-79** I.Cranston, W.Moodie, M.Preddey 5; **79-80** R.Archibald 8; **80-81** M.Preddey 14; **81-82** M.Gardner 9; **82-83** R.Archibald, K.Meadows; **83-84** M.Gardner 12; **84-85** N.Brookes, M.Gardner 9; **85-86** D.Niu 6; **86-87** N.Brookes 11; **87-88** N.Howard, P.Weatherall 12; **88-89** N.Howard 28; **89-90** D.Mann 9; **90-91** D.Holley 21; **91-92** M.Carroll 15; **92-93** M.Carroll 20; **93-94** J.Hall 7; **94-95** J.Hall 17; **95-96** S.Clark; **96-97** J.Holley 8; **97-98** M.Bradley, C.Lucas 13; **98-99** P.Byrom 26; **99-00** P.Byrom 22; **00-01** A.Ezquerro 10; **01-02** N.Rosser 9; **02-03** A.Fleming 13; **03-04** L.Dudman 8; **04-05** S.Wallace 15; **05-06** J.Tuccia 12; **06-07** N.Rowe 8; **07-08** N.Rowe 11; **08-09** L.Talay 15; **09-10** L.Talay 16; **10-11** K.White 8; **11-12** K.White 14; **12-13** B.Dwarshuis 11; **13-14** Trent Smith 11; **14-15** Jamie Brown, T.Pinson 13; **15-16** D.Fallins 22; **16-17** J.Horner 14; **17-18** N.Amos 8; **18-19** A.Waugh 8; **19-20** F.Parker 8; **20-21** A.Ritchie 9

A.W.Green Shield

65-66 P.Lennon 16; **66-67** P.Cox 15; **67-68** S.Edmonds 21; **68-69** M.Abbott 20; **69-70** J.Sands 21; **70-71** D.Russell 29; **71-72** M.McDonald 11; **72-73** P.Mullane 15; **73-74** B.Handley, C.Freeman 15; **74-75** B.Booker 14; **75-76** B.Booker 23; **76-77** M.Preddey 12; **77-78** M.McCool 17; **78-79** R.Archibald 21; **79-80** M.Gardner 18; **80-81** J.Steed 19; **81-82** S.Woodley 34; **82-83** D.Berry, N.Brookes, M.Lawler 11; **83-84** R.Davison 13; **84-85** C.Peros 18; **85-86** A.Hale 17; **86-87** A.Hale 37; **87-88** W.Buttegieg 6; **88-89** N.Morando 16; 89-90 N.Morando 19; **90-91** T.Lawler 16; **91-92** C.Blakeley 17; **92-93** D.Eaglesham 24; **93-94** D.Adams 18; **94-95** S.Carlisle 23; **95-96** D.Reynolds 9; **96-97** M.Hadfield 16; **97-98** J.McInnes 16; **98-99** A.Wallis 12; **99-00** M.Hughston 13; **00-01** B.Mulheron 16; **01-02** T.Baraket 9; **02-03** Daniel Simpson 14; **03-04** Daniel Simpson 18; **04-05** A.Davis, Steven Smith 7; **05-06** C.Lewis 14; **06-07** N.Sharman 15; **07-08** P.Burns 12; **08-09** M.Henry, Dylan Smith 10; **09-10** S.Kar 14; **10-11** B.Drury 14; **11-12** Trent Smith 17; **12-13** N.Marciante 14; **13-14** D.Malone 17; **14-15** A.Lee 11; **15-16** A.Waugh 13; **16-17** T.Gilbert 15; **17-18** W.Straker, K.Weatherall 11; **18-19** D.Niumataiwalu 12; **19-20** S.Mustow 11; **20-21** L.Cutcliffe 7

BOWLERS WITH 40 WICKETS IN ONE SEASON (GRADE)

65-66 R.Longbottom 59 (4-59); J.Philip 53 (1-1, 2-37, 3-15); R.Longbottom 59 (4-59); J.Philip 53 (1-1, 2-37, 3-15); B.Druery 45 (B-45); R.Walls 44 (A-44); R.Barton 42 (4-42); P.Lennon 42 (4-32, A-10); P.Turner 41 (A-41); B.Stephen 40 (2-2, 3-38); R.Wade 40 (1-9, 3-1, 4-30); 66-67 E.Rollinson 52 (A-12, B-40); P.Lennon 45 (2-20, 3-12, 4-13); B.Stephen 44 (2-44); D.Lawrence 42 (3-12, 4-30); R.Longbottom 42 (4-42); M.Black 41 (1-41); 67-68 S.Edmonds 48 (4-6, A-13, B-29); K.Hatherly 45 (4-45); J.Philip 44 (1-1, 2-43); G.Murphy 41 (3-24, 4-14, A-3); P.Turner 40 (A-40); 68-69 J.Slattery 50 (1-4, 2-46); E.Cotton 48 (1-48); A.Kay 44 (2-9, 3-35); D.Lawrence 43 (3-9, 4-43); P.McCann 42 (1-2, 2-40); A.Humphries 42 (1-1, 2-9, 3-32); S.Gilchrist 41 (1-30, 2-11); 69-70 E.Rollinson 61 (5-61); A.Manzie 53 (2-14, 3-39); S.Edmonds 47 (3-22, 4-8, 5-17); A.Kay 45 (3-11, 4-34); P.Doherty 43 (5-43); P.McCann 41 (1-3, 2-38); D.Lawrence 40 (4-40); 70-71 J.Slattery 60 (1-60); C.Russell 53 (3-11, 4-42); S.Edmonds 47 (3-43, 4-4); M.Abbott 42 (5-42); A.Manzie 41 (2-41); 71-72 G.Barry 43 (4-18, 5-25); R.Waddington 42 (2-2, 3-40); D.Russell 41 (3-10, 4-12, 5-19); 72-73 M.Black 53 (2-7, 3-46); 73-74 P.Mackey 68 (4-40, 5-28); P.Mullane 56 (4-56); M.Black 51 (2-51); M.McDonald 45 (3-28, 4-13, 5-4); B.Gorman 42 (1-42); 75-76 M.McDonald 53 (3-53); R.Waddington 47 (2-47); 76-77 B.Booker 50 (3-34, 4-16); 77-78 E.Nix 40 (1-40); 79-80 K.Rose 46 (3-6, 4-40); R.Noyes 42 (4-3, 5-39); 80-81 K.Rose 57 (2-3, 3-54); R.Mills 41 (5-41); 81-82 M.Gardner 44 (1-35, 2-9); 82-83 D.Cosgrove 41 (2-2, 3-29, 4-10); 84-85 M.Black 57 (3-57); G.Kenny 46 (2-3, 3-14, 4-29); M.Jones 43 (4-10, 5-33); 85-86 A.Hale 49 (4-45, 5-4); 86-87 A.Hale 68 (3-29, 4-39); D.Mann 53 (2-4, 3-34, 4-15); N.Howard 44 (2-44); 87-88 G.Coleman 51 (4-51); 88-89 K.Meadows 42 (5-42); M.Brennan 40 (2-1, 3-2, 4-37); 89-90 K.Meadows 45 (3-18, 4-27); G.Coleman 42 (2-42); G.McGrath 41 (1-28, 2-13); 90-91 M.Chapman 43 (1-43); P.Weatherall 43 (1-43); M.Gardner 43 (2-43); J.Packer 40 (4-9, 5-31); 91-92 M.Gardner 44 (2-44); 93-94 D.Eaglesham 45 (4-4, 5-41); A.Clark 43 (1-43); 95-96 P.Purcell 73 (1-73); S.MacGill 58 (1-58); S.Clark 45 (1-45); A.Clark 40 (1-40); 96-97 B.Guthrie 44 (1-44); J.Dunbar 42 (2-38, 3-4); G.Barron 40 (2-3, 3-37); 97-98 B.Guthrie 47 (1-47); D.McLauchlan 46 (1-46); S.Clark 45 (1-45); 98-99 S.Clark 46 (1-46); 99-00 J.Dunbar 49 (4-0, 5-49); 01-02 D.Eaglesham 52 (5-52); R.Malas 46 (3-4, 4-41, 5-1); K.Meadows 45 (5-45); A.Mann 42 (3-4, 4-38, 5-0); S.Manning 41 (3-1, 4-40); 02-03 G.Roden 52 (1-52); A.Clark 50 (1-13, 2-37); A.Fleming 40 (1-40); 04-05 G.Roden 44 (1-44); 05-06 L.Dudman 41 (1-41); 06-07 J.Hudson 41 (4-14, 5-27); 07-08 J.Tuccia 49 (1-49); 08-09 H.Watson 42 (4-38, 5-4); **09-10** A.Adams 50 (1-50); N.Rowe 44 (1-1, 2-43); N.Fitzgerald 41 (1-22, 2-19); **10-11** A.Fleming 55 (1-55); 12-13 N.Fitzgerald 59 (1-59); 15-16 D.Malone 56 (1-32, 2-24); 18-19 N.Whittingham 43 (5-43)

HAT-TRICKS

First Gr	ade	Second	Grade	Third G	irade
65-66	E.Cotton	66-67	R.Hobden	65-66	B.Stephen
69-70	E.Cotton	67-68	G.Fanning	75-76	R.Richardson (SF)
74-75	M.Black	72-73	I.Napper	86-87	B.Davison
		87-88	G.Barry	90-91	D.Holley
		02-03	A.Clark	13-14	P.Burns **
					P.Burns (QF)
				15-16	J.Horner
				20-21	W.Straker
Fourth	Grade	Fifth Gr	Fifth Grade		in-Gray Shield
66-67	R.Longbottom	69-70	P.Doherty	70-71	S.Edmonds
68-69	G.Glover	71-72	G.Black	02-03	A.Fleming
	K.Hatherly	72-73	P.Mullane	10-11	N.Sharman
81-82	K.Meadows		P.Rae	16-17	S.Khan
82-83	John Kenny	94-95	D.McLauchlan		
85-86	M.Black (Final)	08-09	J.McKinley	A.W.G	reen Shield
86-87	M.Black			72-73	P.Mullane
08-09	H.Watson			75-76	B.Booker
09-10	J.Zywietz			01-02	C.Williams
18-19	W.Vandermaal			08-09	G.Wissam
		** Dou	ble hat-trick	14-15	H.Tattersall
		40.00.00			

10 OR MORE WICKETS IN A MATCH

First Gr	ade		Second	Grade		Third Grade	
68-69	E.Cotton	11-64	65-66	J.Philip	12-91	67-68 G.Stone	11-104
70-71	J.Slattery	13-72	66-67	J.Philip	11-50	69-70 A.Kay	10-60
78-79	E.Nix	* 13-67	68-69	P.McCann	* 15-79	70-71 S.Edmonds	11-88
	G.Barry	10-92	75-76	D.Russell	11-94	76-77 B.Booker	12-68
95-96	S.MacGill	11-95	84-85	B.Connell	10-85	82-83 D.Cosgrove	10-88
99-00	S.Clark	10-95	86-87	N.Howard	11-134	96-97 G.Barron	10-81
03-04	G.Roden	11-87		N.Howard	10-60	99-00 M.Carroll	11-80
08-09	S.Smith	10-133	87-88	A.Clark	* 14-84	08-09 S.Newman	10-63
10-11	A.Fleming	11-70		B.Connell	10-104		
			00-01	A.Clark	11-67		
			15-16	D.Malone	16-138		
Fourth	Grade		Fifth Gr	ade		A.W.Green Shield	
65-66	R.Barton	10-61	70-71	M.Abbott	* 12-29	81-82 S.Woodley	* 10-25
66-67	S.Gilchrist	11-54	76-77	M.Brindley	10-58		
	R.Longbotton		80-81	C.Christie	14-73		
	B.Hazell	* 10-53		S.Woodley	11-42	Best match figures for	
67-68	G.Murphy	* 12-49	89-90	G.Geraghty	11-97	Poidevin-Gray Shield	
	D.Lawrence	* 11-93	98-99	K.Meadows	11-88	92-93 M.Carroll	* 9-53
	D.Lawrence	12-97	02-03	J.Rafique	11-32		
	D.Harkness	10-91					
73-74	M.McDonald	10-23					
	P.Mackey	10-46					
	P.Mullane	10-57					
74-75	G.Barry	11-75					
82-83	John Kenny	* 10-53		* In one day			
85-86	A.Hale	11-32					
86-87	K.Meadows	13-94					
	A.Hale	11-172					

7 OR MORE WICKETS IN AN INNINGS

First Gra	ade		Third G	rade (cont'd)		Fourth	Grade (cont'd)	
	E.Cotton	7-77		M.McDonald	8-86		M.Brennan	8-66
68-69	E.Cotton	9-24	76-77	B.Booker	8-42		K.Meadows	7-31
	E.Cotton	7-39	77-78	G.Murphy	7-69		M.Jones	7-69
70-71	J.Slattery	9-66	78-79	I.Cranston	7-41		A.Craig	7-50
	J.Slattery	7-68	81-82		9-88		S.McGrath	7-32
74-75	M.Black	7-29	82-83		7-91		C.Price	7-45
78-79		7-41	83-84	M.Black	7-50		C.Lake	7-62
	G.Barry	9-82		A.Hale	7-30		J.Almond	7-25
	, M.Gardner	7-90		D.Mann	7-45			
90-91	P.Weatherall	7-57	88-89	R.Archibald	7-25	Fifth Gr	ade	
	M.Chapman	7-108		R.Archibald	7-39		P.Doherty	8-33
93-94	A.Clark	7-41	89-90	K.Meadows	8-74		É.Rollinson	7-59
	G.McGrath	7-47		K.Meadows	7-39		E.Rollinson	7-53
97-98	S.Clark	7-43		E.Behl	7-84	70-71	M.Abbott	8-6
	B.Guthrie	7-76	90-91	R.Archibald	7-37	71-72	G.Glover	7-25
	D.McLauchlan	7-97	99-00	M.Carroll	8-36		P.Mackey	8-41
03-04	G.Roden	7-52		S.Manning	8-41	77-78	J.Harris	7-38
04-05	G.Roden	7-51	04-05	C.Gilmour	7-28		C.Tomko	7-44
06-07	L.Fleming	7-20		S.McGrath	7-75	78-79	R.Mills	7-74
	N.Fitzgerald	9-102	06-07	J.Packer	7-26	80-81	C.Christie	8-27
	0			C.Gilmour (SF)	7-46		R.Mills	8-28
Second	Grade		08-09	S.Newman	8-54	83-84	C.Harvey	8-3
65-66	J.Philip	7-70	10-11	J.Bills	7-36	84-85	M.Jones	8-98
	J.Philip	8-10	11-12	M.Manton	7-29		P.Bland	7-31
	B.Stephen	7-63		J.Roy (QF)	7-30	85-86	S.Woodley	8-25
68-69	P.McCann	8-54	13-14		8-51	86-87		7-31
	P.McCann	7-25		P.Burns	7-24	89-90	G.Geraghty	9-43
69-70	P.McCann	8-16		P.Burns	7-32		M.Carroll	8-30
70-71	B.Gorman	8-32	18-19	J.Almond	7-18	91-92	A.Mann	8-72
71-72	I.Napper	7-15	20-21	K.Weatherall	7-43		C.Haran	7-38
	I.Napper	7-34		W.Straker	7-53	95-96	P.Purcell	7-103
72-73	I.Napper	7-29				96-97	T.Fenech	7-61
74-75	D.Russell	8-58	Fourth	Grade		97-98	S.McGrath (SF)	8-72
	M.Black	7-63	65-66	P.Lennon (F)	9-19		C.Brownscombe (F)	7-56
75-76	D.Russell	7-68	66-67	B.Hazell	7-16	01-02	D.Eaglesham	7-26
79-80	H.Reus	7-36		R.Longbottom	7-17		D.Eaglesham	7-40
81-82	K.Rose	7-32		S.Gilchrist	7-33	02-03	J.Rafique	8-17
	B.Roberts	7-49	67-68	G.Murphy	8-25	07-08	C.Streater	8-42
84-85	M.Connolly	7-30		D.Lawrence	7-36	09-10	S.Dawes	8-51
	M.Wood	7-61	68-69	G.Glover	7-39	18-19	J.Mohammed	7-54
87-88	B.Connell	8-50		D.Lawrence	7-39			
	A.Clark	7-33		G.Glover	7-44		n-Gray Shield	
	A.Clark	7-51		D.Gazzard	7-45		D.Wentworth	7-45
	M.Gardner	8-83	70-71	H.Reus	7-46		G.Barry	7-31
	M.Carroll	8-37	73-74		7-20	82-83	K.Meadows	7-42
	A.Clark	7-44		G.Murphy	7-37		R.Archibald	7-76
	J.Derwent	8-127	74-75	G.Barry	8-38	97-98	C.Lucas	7-36
15-16	D.Malone	10-115	75-76		8-54			
			80-81	0	7-36		een Shield	
Third G				G.Chudleigh	7-40		P.Mullane	7-25
	D.Lawrence	7-27		G.Chudleigh	7-78		B.Booker	7-23
68-69	•	8-67	82-83	John Kenny	8-42		M.McCool	7-32
69-70		7-32		A.Hale	7-37		J.Steed	7-67
70-71	P.McCann	9-45	86-87		7-41	81-82	S.Woodley	7-13
	S.Edmonds	7-23	00.00	G.Coleman	7-83			
12-13	M.Black (SF)	8-26	88-89	M.Brennan	9-32			

PROGRESSION OF CLUB RECORD BOWLING FIGURES

Date	Player	Figures	Match	Venue
25.9.65	P.Lennon	5-9	"A" Shires v. LIndfield	Birchgrove Oval No.2
2.10.65	E.Rollinson	8-64	"A" Shires v. LIndfield	Birchgrove Oval No.2
19.3.66	P.Lennon	9-19	4ths v. Cent Cumberland (Final)	Sutherland Oval
31.10.15	D.Malone	10-116	2nds v. Sydney University	Glenn McGrath Oval

RECORD BOWLING FIGURES AT HOME GROUNDS

Date	Player	Figures	Match	Venue
31.10.15	D.Malone	10-116	2nds v. Sydney University	Glenn McGrath Oval
19.3.66	P.Lennon	9-19	4ths v. Cent Cumberland Final)	Sutherland Oval
4.1.89	M.Brennan	9-32	4ths v. Mosman	Tonkin Oval

PROGRESSION OF RECORD BOWLING FIGURES FOR EACH GRADE

Date	Player	Figures	Match	Venue
9.10.65	M.Black	5-55	1sts v. Mosman	Caringbah Oval
4.12.65	M.Black	5-51	1sts v. University	University Oval
3.1.66	E.Cotton	6-35	1sts v. Randwick	Coogee Oval
18.2.67	E.Cotton	7-77	1sts v. Petersham-Marrickville	Marrickville Oval
22.3.69	E.Cotton	9-24	1sts v. Gordon	Chatswood Oval
4.10.65	G.Chudleigh	5-36	2nds v. Manly	Manly Oval
5.3.66	J.Philip	5-21	2nds v. St.George	Caringbah Oval
12.3.66	J.Philip	7-70	2nds v. St.George	Caringbah Oval
24.9.66	J.Philip	8-10	2nds v. St.George	Caringbah Oval
31.10.15	D.Malone	10-116	2nds v. Sydney University	Glenn McGrath Oval
9.10.65	D.Lawrence	6-25	3rds v. Mosman	Rawson Oval
4.12.65	D.Lawrence	7-27	3rds v. University	Sutherland Oval
7.10.68	А.Кау	8-67	3rds v. Bankstown-Canterbury	Jensen Oval
16.1.71	P.McCann	9-45	3rds v. North Sydney	Sutherland Oval
30.10.65	R.Wade	5-31	4ths v. Waverley	Tonkin Oval
20.11.65	P.Lennon	5-18	4ths v. Central Cumberland	Sutherland Oval
18.12.65	R.Barton	6-31	4ths v. North Sydney	Sutherland Oval
3.1.66	R.Barton	6-27	4ths v. Randwick	Kensington Oval
26.2.66	R.Longbottom	6-20	4ths v. Gordon	Sutherland Oval
12.3.66	R.Longbottom	6-17	4ths v. Manly-Warringah	Sutherland Oval
19.3.66	P.Lennon	9-19	4ths v. Cent Cumberland (Final)	Sutherland Oval

PROGRESSION OF RECORD BOWLING FIGURES FOR EACH GRADE (cont'd)

Date	Player	Figures	Match	Venue
6.10.69	P.Doherty	6-45	5(A) v. Central Cumberland	King's School
8.11.69	E.Rollinson	7-53	5(B) v. Sydney	Tonkin Oval
13.12.69	P.Doherty	8-33	5(A) v. Manly-Warringah A	Weldon Oval
5.10.70	M.Abbott	8-6	5ths v. Manly-Warringah A	Tonkin Oval
26.11.83	C.Harvey	8-3	5ths v. University of NSW B	Tonkin Oval
7.10.89	G.Geraghty	9-43	5ths v. Gordon	Sutherland Oval
27.12.65	L.Ritchie	5-32	P-G v. Bankstown-Canterbury	Caringbah Oval
26.12.67	R.Wade	6-59	P-G v. Randwick	Caringbah Oval
27.1.69	D.Wentworth	7-45	P-G v. Bankstown-Canterbury	Caringbah Oval
4.1.75	G.Barry	7-31	P-G v. Bankstown-Canterbury	Caringbah Oval
5.1.66	P.Lennon	5-12	AWG v. Central Cumberland	Caringbah Oval
17.1.68	S.Edmonds	6-24	AWG v. Waverley	Caringbah Oval
23.12.70	G.Barry	6-10	AWG v. Randwick	Caringbah Oval
11.1.71	P.Aasa	6-9	AWG v. Petersham-Marrickville	Caringbah Oval
3.1.73	P.Mullane	7-25	AWG v. Western Suburbs	Caringbah Oval
30.12.75	B.Booker	7-23	AWG v. Nepean	Howell Oval
22.12.81	S.Woodley	7-13	AWG v. Waverley	Waverley Oval
2.11.69	E.Cotton	5-23	L/O v. Sydney	Caringbah Oval
21.10.73	I.Napper	5-6	L/O v. Waverley	Caringbah Oval
19.10.75	B.Gorman	8-29	L/O v. Central Cumberland	Old King's
9.11.08	T.Freeburn	4-22	T20 v. Bankstown	Bankstown Oval
6.11.11	M.Brown	4-21	T20 v. Hawkesbury	Glenn McGrath Oval
3.11.13	B.Dwarhuis	4-14	T20 v. Illawarra	Glenn McGrath Oval
18.10.15	D.Fallins	4-9	T20 v. Illawarra	North Dalton Park

WICKETKEEPERS WITH 100 DISMISSALS IN ALL GRADES

	Matches	Total	Catches	Stumpings
D.Rixon	344	498	396	102
Linton Ball	218	437	375	62
E.Atkins	215	373	309	64
S.Duff	187	272	228	44
R.Bain	151	270	220	50
A.Campbell	124	244	222	22
S.Hair	115	233	185	48
B.Johnson	251	232	184	48
K.Lamb	149	222	157	65
T.Moreland	119	209	170	39
G.Bannon	103	204	182	22
B.Miller	102	186	160	26
G.Davison	125	185	120	65
T.Reynolds	106	177	120	57
J.Brockley	171	175	141	34
E.Terone	97	153	119	34
N.Loder	157	152	138	14
J.Biviano	188	142	114	28
M.McLeay	66	138	72	66
M.Morgan	83	138	124	14
C.McGinn	81	137	105	32
J.Rose	88	129	95	34
M.Heslehurst	126	128	104	24
G.Arnold	61	127	88	39
W.Croese	60	122	102	20
J.Ford	89	122	86	36
S.Rixon	72	122	91	31
E.Deal	88	120	106	14
R.Cartwright	54	118	74	44
Graham Goodman	58	111	83	28
R.Bennison	69	109	88	21

WICKETKEEPERS WITH 50 DISMISSALS IN ONE GRADE

	Matches	Total	Catches	Stumpings
First Grade				
D.Rixon	274	441	359	82
E.Atkins	127	231	198	33
R.Bain	129	223	183	40
Linton Ball	96	217	202	15
A.Campbell	99	193	180	13
S.Rixon	69	117	89	28
S.Duff	52	103	95	8
J.Biviano	122	69	52	17
A.Bariol	43	54	45	9
G.Errington	39	50	47	3
Second Grade				
Linton Ball	86	167	133	34
J.Brockley	95	123	100	23
B.Johnson	110	117	94	23
R.Cartwright	50	109	68	41
S.Duff	60	100	87	13
G.Bannon	34	82	73	9
J.Rose	40	74	57	17

WICKETKEEPERS WITH 50 DISMISSALS IN ONE GRADE (cont'd)

	Matches	Total	Catches	Stumpings				
Second Grade (con	Second Grade (cont'd)							
E.Terone	43	71	61	10				
W.Croese	31	61	48	13				
T.Moreland	31	58	48	10				
Third Grade								
G.Davison	55	75	55	20				
S.Hair	31	70	60	10				
B.Johnson	65	65	47	18				
B.Miller	34	64	56	8				
T.Moreland	34	62	55	7				
M.Andersson	35	62	54	8				
N.Loder	59	62	55	7				
M.Tehira	28	58	50	8				
M.McLeay	33	56	34	22				
Fourth Grade								
K.Lamb	66	100	60	40				
M.McLeay	31	79	35	44				
B.Miller	37	75	65	10				
M.Heslehurst	43	54	48	6				
T.Reynolds	39	54	41	13				
E.Atkins	27	51	42	9				
Fifth Grade								
K.Lamb	50	77	59	18				

WICKETKEEPERS WITH 30 DISMISSALS IN AGE COMPETITIONS

	Matches	Total	Catches	Stumpings
Poidevin-Gray Shield				
T.Moreland	27	45	39	6
J.Brockley	30	44	35	9
G.Bannon	22	41	36	5
S.Hair	22	41	35	6
R.Bain	16	32	29	3
D.Rixon	23	30	18	12
A.W.Green Shield				
G.Davison	15	33	9	24
T.Moreland	16	31	16	15

50 CATCHES IN ALL GRADES

180 L.Dudman 166 M.Bradley 160 J.Holley 159 Justin Kenny 157 C.Williams 155 D.Givney 155 D.Holley 154 G.Barry 154 B.Davison 153 M.Hughston 150 A.Clark 150 M.D.O'Brien 147 M.Ridge 140 P.Jaques 139 M.Duff 136 D.Mann 127 A.Craig 126 J.Burnett 120 J.Packer 114 C.Macnamara 111 N.Whittingham 109 G.Warry 106 D.Fallins 100 M.Chapman 100 A.Mann 99 J.Young 98 G.Murphy

97 S.Dawes 95 M.Carroll 93 Jamie Brown 92 J.Dyson 92 Steven Smith 92 K.Tuite 92 P.Weatherall 91 K.Humphreys 90 G.Coleman 87 G.Hilzinger 87 A.Phillips 87 J.Zywietz 84 T.Brennan 84 T.Dovle 84 G.Marston 81 L.Fleming 80 G.Horner 80 G.Kenny 78 D.Eaglesham 78 T.Iceton 76 J.Dunbar 76 B.Hard 76 L.Malin 75 S.Boehm 75 C.Lake 75 M.Lumb 74 D.Celep

73 L.Casev 73 J.Rafique 72 S.Cush 72 R.Davison 71 N.Howard 70 B.Malbon 69 B.Dwarshuis 69 A.Griffiths 68 G.Bailey 68 J.Clark 68 K.Meadows 68 C.Parsons 67 N.Fitzgerald 67 A.Hilditch 67 K.Rynne 66 I.Everett 65 P.Clark 65 T.Freeburn 65 S.Pickering 62 P.Saroukos 62 D.Watson 61 B.Hazell 61 A.Fleming 60 R.Archibald 60 S.Clark 60 M.Probert 59 Bryan Dawson 59 M.Gardner 58 P.Cox 58 T.Harvey 57 J.Bills 57 S.Hall 57 A.Northridge 57 H.Reus 56 B.O'Dowd 56 P.Venn 55 K.Symons 54 B.Pratt 54 Dylan Smith 54 T.Woodhill 53 E.Cotton 53 J.Horner 53 K.Hudson 53 S.Newman 52 L.Ritchie 52 R.Shepherd 52 A.Whatley 51 S.Manning 50 C.Dodd 50 P.Fisher 50 C.Hockey

30 CATCHES IN ONE GRADE

First Grade

116 P.Jaques 115 L.Dudman 115 Justin Kenny 108 M.D.O'Brien 98 J.Young 85 J.Holley 84 M.Bradley 84 M.Hughston 79 A.Clark 77 C.Williams 70 D.Fallins 69 M.Chapman 64 J.Dyson 57 G.Warry 54 Steven Smith 53 E.Cotton 53 D.Mann 53 B.O'Dowd 47 Jamie Brown 47 N.Fitzgerald 46 B.Davison 44 T.Doyle 41 G.Barry 41 S.Cush

40 M.Ridge 38 L.Johns 37 C.Dodd 36 P.Weatherall 35 P.Clark 40 B.Dwarshuis 34 S.Clark 34 R.Davison 32 G.Bailey 32 A.Hilditch 32 P.Saroukos 30 M.Black 30 R.Wade

Second Grade

81 G.Barry 66 M.Ridge 61 D.Holley 61 J.Packer 60 D.Celep 50 J.Burnett 49 D.Givney 48 K.Tuite 44 M.Bradlev 43 C.Williams 38 M.Carroll 37 S.Boehm 37 G.Coleman 37 B.Davison 36 A.Clark 36 S.Pickering 35 T.Freeburn 35 N.Howard 33 J.Hollev 31 I.Everett 31 G.Marston 31 A.Northridge 31 R.Waddington

Third Grade

79 M.Duff 69 G.Murphy 67 A.Phillips 57 J.Zywietz 52 B.Davison 45 D.Holley 45 K.Humphreys 45 G.Kenny

50 D.McLauchlan

40 A.Mann 35 G.Hilzinger 34 Bryan Dawson 34 D.Watson 33 B.Hopkin 30 M.Condon

Fourth Grade

83 A.Craig 52 T.Iceton 45 C.Macnamara 40 S.Dawes 35 L.Casey 34 J.Burnett

Fifth Grade

88 D.Givnev 65 D.Eaglesham 57 S.Hall 43 N.Whittingham 42 C.Christie 38 J.Dunbar 38 K.Rynne

15 CATCHES IN AGE COMPETITIONS

Poidevin-Gray Shield

19 D.Fallins 17 T.Brennan 17 D.Holley 16 M.D.O'Brien 15 R.Davison 15 M.Hughston

LIMITED OVERS RECORDS

(For matches played in First Grade Limited Overs competitions)

Highest Team Score	4/364 v. Blacktown	05-06
Highest Individual Score	155 * M.Hughston	05-06
Best Bowling Figures	8-29 B.Gorman	75-76
Highest Batting Aggregate	399 P.Jaques	09-10
Highest Bowling Aggregate	15 E.Cotton	69-70
Most Wicketkeeping Dismissals	17 D.Rixon	11-12
Most Catches by Fieldsman	8 L.Dudman	03-04
	8 M.D.O'Brien	04-05

Partnerships

FIRST: SECOND:	M.Bradley-M.Probert P.Jaques-M.Hughston
THIRD:	P.Jaques-M.Bradley
FOURTH:	J.Holley-J.Young
FIFTH:	M.D.O'Brien-L.Dudman
SIXTH:	M.Hughston-D.Rixon
SEVENTH:	D.Mann-E.Atkins
EIGHTH:	S.Clark-D.McLauchlan
NINTH:	D.Tuffey-G.Roden
TENTH:	A.Clark-G.Warren

185	v. North Sydney	01-02
232	v. Blacktown	05-06
177 [°]	* v. Fairfield-Liverpool	09-10
133	v. University of N.S.W.	02-03
152	v. Northern District	04-05
103	v. Sydney University	14-15
62 [•]	* v. St.George	92-93
97	v. St.George	00-01
67	v. Western Suburbs	02-03
65 [•]	* v. Penrith	01-02

MOST MATCHES PLAYED

87	D.Rixon
71	M.Hughston
69	L.Dudman
64	M.Bradley
64	P.Jaques
64	M.D.O'Brien
57	N.Fitzgerald
52	J.Young
49	J.Holley

- 45 J.Tuccia 43 A.Clark 42 C.Williams 41 S.Cush 37 A.Fleming 33 D.Fallins 29 M.Brown 27 D.Murphy 26 J.Biviano
- 26 S.Clark 26 T.Doyle 25 Jamie Brown 25 Steven Smith 24 T.Pinson 23 D.McLauchlan 21 L.Fleming 20 L.Ball 20 S.Duff
- 20 G.Roden 19 B.Dwarshuis 19 J.Packer 19 A.Zampa 18 N.Maddinson 17 M.Chapman 16 E.Atkins 16 Justin Kenny

MOST MATCHES CAPTAINED

28 M.Hughston10 P.Jaques21 C.Williams9 N.Fitzgerald20 J.Young8 E.Atkins15 S.Duff7 J.Holley11 M.D.O'Brien7 I.Napper

LIMITED OVERS RECORDS (cont'd)

MOST RUNS SCORED

	Matches	Innings	Not Out	H.Score	Runs	Average
P.Jaques	64	63	4	144	2400	40.7
M.Hughston	71	70	9	155 *	2043	33.5
M.D.O'Brien	64	63	3	88	1918	32.0
M.Bradley	64	62	6	121	1741	31.1
J.Young	52	49	8	82 *	1426	34.8
L.Dudman	69	59	10	94 *	1422	29.0
C.Williams	42	42	5	104 *	1362	36.8
S.Cush	41	37	4	149 *	1137	34.5
Steven Smith	25	24	3	134 *	1070	51.0
J.Holley	49	44	4	90	859	21.5

MOST WICKETS TAKEN

	Matches	Overs	Maidens	Runs	Wickets	Average
N.Fitzgerald	57	420	62	1758	77	22.8
L.Dudman	69	426	24	1798	69	26.1
A.Fleming	37	279	32	1124	55	20.4
A.Clark	43	342	37	1406	53	26.5
J.Tuccia	45	357	25	1680	51	32.9
J.Holley	49	215	19	1002	45	22.3
D.Fallins	33	284	13	1298	44	29.5
S.Clark	26	212	29	698	41	17.0
D.McLauchlan	23	198	20	739	38	19.4
Steven Smith	25	193	3	885	30	29.5

MOST WICKETKEEPING DISMISSALS

	Matches	Total	Catches	Stumpings
D.Rixon	87	117	83	34
Linton Ball	20	28	27	1
S.Duff	20	28	22	6
R.Bain	11	27	21	6
E.Atkins	16	23	20	3
A.Campbell	7	21	21	0

MOST CATCHES

35 L.Dudman	21 M.Hughston	14 A.Clark	12 A.Fleming
34 M.D.O'Brien	17 D.Fallins	14 N.Fitzgerald	10 S.Cush
26 P.Jaques	17 C.Williams	13 M.Bradley	
22 J.Holley	15 J.Young	13 Steven Smith	

LIMITED OVERS RECORDS (cont'd)

HIGHEST SCORES

					_			
M.Hughston	155 *	05-06	C.Williams	91	17-18	P.Jaques	77 *	99-00
S.Cush	149 *	08-09	J.Holley	90	02-03	M.Probert	77	01-02
P.Jaques	144	05-06	M.Hughston	89 *	12-13	M.Bradley	77 *	09-10
J.Biviano	143	16-17	C.Dodd	88	68-69	L.Dudman	77 *	11-12
P.Jaques	136	09-10	M.D.O'Brien	88	04-05	J.Arnold	77 *	20-21
Steven Smith	134 *	09-10	M.D.O'Brien	88	05-06	M.D.O'Brien	76	97-98
P.Jaques	128	09-10	A.Hilditch	87	75-76	P.Jaques	75 *	00-01
D.Murphy	125 *	07-08	M.D.O'Brien	86	01-02	J.Young	75 *	00-01
M.Bradley	121	01-02	Steven Smith	86	07-08	P.Jaques	75 *	03-04
P.Jaques	120	12-13	B.Dwarshuis	86 *	12-13	C.Williams	75 *	16-17
M.Bradley	118	96-97	J.Biviano	86	19-20	Jamie Brown	75	16-17 (QF)
P.Jaques	116	02-03	G.Bailey	85	69-70	L.Dudman	74	04-05
Justin Kenny	115	92-93	M.D.O'Brien	85	05-06	S.Cush	74	12-13
M.Bradley	114 *	02-03	J.Leaning	85	13-14	D.Fallins	74	20-21
P.Jaques	114 *	09-10	Steven Smith	85	18-19	J.Henry	73	74-75
M.Powell	109 *	03-04	N.Maddinson	84	08-09	P.Dugmore	73	05-06
Jamie Brown	109	17-18	J.Young	82 *	03-04	S.Cush	73	11-12
T.Doyle	109	20-21	L.Dudman	81	06-07	P.Jaques	73	13-14
C.Williams	104 *	19-20	P.Jaques	81 *	09-10	D.McLauchlan	72	00-01
Jamie Brown	101	17-18	S.Cush	80	12-13 (QF)	M.D.O'Brien	72	01-02
M.Hughston	100 *	06-07	C.Williams	80 *	16-17	M.Hughston	72	14-15
T.Doyle	100	18-19	A.Clark	79	95-96	M.Bradley	71	00-01
G.Warry	98	73-74	Justin Kenny	79	97-98	M.Hughston	71 *	09-10
P.Jaques	98	99-00	J.Young	79	04-05	S.Cush	71	11-12
Steven Smith	98	07-08	M.Hughston	79 *	14-15	C.Williams	71 *	14-15
L.Dudman	94 *	05-06	Steven Smith	78	06-07	L.Hawksworth	71	17-18
C.Williams	94	18-19	M.Maclennan	78 *	08-09	P.Dugmore	70	05-06
J.Leaning	92	19-20	S.Cush	78 *	12-13	S.Cush	70	10-11
Steven Smith	91	05-06	M.D.O'Brien	77	96-97			

BEST BOWLING FIGURES

B.Gorman	8-29	75-76	G.Bailey	4-16	72-73	J.Holley	4-32	98-99
D.McLauchlan	6-27	99-00	E.Cotton	4-17	69-70 (F)	P.Byrom	4-33	99-00
C.Belshaw	6-41	03-04	Steven Smith	4-17	05-06	N.Fitzgerald	4-34	12-13
I.Napper	5-6	73-74	T.Bresnan	4-20	05-06	Steven Smith	4-38	08-09
J.Holley	5-8	99-00	A.Clark	4-21	96-97	N.Fitzgerald	4-39	14-15
G.Barron	5-21	93-94	M.Brown	4-21	11-12	J.Wilson	4-39	17-18
E.Cotton	5-23	69-70	H.Reus	4-23	73-74	B.Stephen	4-41	69-70 (SF)
D.McLauchlan	5-28	08-09	G.Bailey	4-24	69-70 (F)	D.Tuffey	4-41	07-08
D.Malone	5-30	15-16	E.Cotton	4-24	69-70	J.Leaning	4-41	13-14
A.Fleming	5-31	04-05	A.Fleming	4-24	02-03	L.Ritchie	4-42	69-70
I.Napper	5-32	73-74	A.Clark	4-25	94-95	D.McLauchlan	4-44	99-00
A.Fleming	5-39	10-11	S.Clark	4-25	99-00	J.Holley	4-45	94-95
D.Fallins	5-41	16-17	A.Zampa	4-25	12-13	J.Tuccia	4-45	09-10
M.Brown	5-44	15-16	G.Barry	4-26	75-76	R.Every	4-46	67-68
A.Fleming	5-46	01-02	A.Adams	4-26	09-10 (F)	A.Clark	4-49	98-99
C.Belshaw	5-53	04-05	J.Slattery	4-28	71-72	N.Rowe	4-52	08-09
K.White	4-5	11-12	Dylan Smith	4-29	14-15	L.Dudman	4-53	09-10
A.Fleming	4-10	02-03	G.Barron	4-30	93-94	D.Fallins	4-55	20-21
J.Wilson	4-12	16-17	J.Holley	4-31	95-96	N.Fitzgerald	4-58	05-06
L.Dudman	4-13	03-04	N.Rowe	4-31	07-08	S.Gilchrist	4-66	68-69

TWENTY20 RECORDS

(For matches played in First Grade Twenty20 & National Premier Twenty20 competitions)

Highest Team Score	6/227	v. Randwick Petersham	08-09
Highest Individual Score	114 '	* S.Watson	17-18
Best Bowling Figures	4-9	D.Fallins	15-16
Highest Batting Aggregate	274	Steven Smith	18-19
Highest Bowling Aggregate	15	D.Fallins	18-19
Most Wicketkeeping Dismissals	7	D.Rixon	08-09
Most Catches by Fieldsman	6	L.Dudman	12-13
	6	P.Saroukos	17-18
	6	T.Doyle	18-19
	6	A.Waugh	18-19

Partnerships

FIRST: SECOND: THIRD: FOURTH: FIFTH: SIXTH: SEVENTH: EIGHTH: NINTH:	S.Watson-J.Biviano M.Bradley-Steven Smith S.Cush-L.Dudman Jamie Brown-C.Williams Steven Smith-C.Williams B.Dwarshuis-E.Deal J.Brockley-Jamie Brown D.Fallins-T.Pinson	121 79 77 63 62 105 36	v. Mosman v. Sydney (Semi-final)	17-18 08-09 11-12 17-18 18-19 20-21 14-15 17-18 12-13
EIGHTH: NINTH:	D.Fallins-T.Pinson D.Rixon-J.Tuccia		v. Sydney (Semi-final) v. North Sydney	17-18 12-13
TENTH:	D.Rixon-N.Fitzgerald		* v. Penrith	10-11

MOST MATCHES PLAYED

45 D.Rixon	28 T.Doyle	22 J.Wilson	12 J.Brockley
38 Jamie Brown	25 T.Pinson	16 M.Hughston	12 L.Hawksworth
35 J.Biviano	24 S.Cush	15 L.Dudman	12 P.Jaques
35 D.Fallins	23 C.Williams	14 Steven Smith	12 D.Murphy
30 B.Dwarshuis	22 M.Brown	14 A.Whatley	
29 P.Saroukos	22 N.Fitzgerald	13 A.Bariol	

MOST MATCHES CAPTAINED

19 B.Dwarshuis	7 P.Jaques
11 M.Hughston	7 Steven Smith
11 C.Williams	4 N.Fitzgerald

MOST RUNS SCORED

	Matches	Innings	Not Out	H.Score	Runs	Average
Jamie Brown	38	33	6	74 *	703	26.0
J.Biviano	35	32	3	103 *	696	24.0
S.Cush	24	23	2	73	590	28.1
Steven Smith	14	14	5	85 *	552	61.3
C.Williams	23	21	4	58 *	539	31.7
T.Doyle	28	25	4	44	467	22.2
M.Brown	22	22	2	72	418	20.9
P.Saroukos	29	28	4	61	398	16.6
P.Jaques	12	12	2	81 *	337	33.7
D.Rixon	45	27	15	58 *	307	25.6

TWENTY20 RECORDS (cont'd)

MOST WICKETS TAKEN

	Matches	Overs	Maidens	Runs	Wickets	Average
B.Dwarshuis	30	81	3	497	37	13.4
D.Fallins	35	126	0	780	36	21.7
T.Pinson	25	78	0	640	24	26.7
N.Fitzgerald	22	77	1	499	21	23.8
J.Wilson	22	75	0	633	21	30.1
L.Dudman	15	54	0	325	19	17.1
Jamie Brown	38	56	0	381	19	20.1
M.Brown	22	47	0	345	17	20.3
D.Rixon	45	26	0	158	15	10.5
Steven Smith	14	49	1	355	15	23.7

MOST WICKETKEEPING DISMISSALS

	Matches	Total	Catches	Stumpings
D.Rixon	45	29	17	12
A.Bariol	13	10	8	2

MOST CATCHES

17 D.Fallins	11 L.Dudman	7 J.Biviano	6 C.Williams
16 Jamie Brown	11 B.Dwarshuis	6 S.Cush	5 B.Marciante
16 T.Doyle	9 A.Waugh	6 P.Jaques	5 D.Rixon
12 P.Saroukos	8 M.Hughston	6 Steven Smith	5 J.Wilson

HIGHEST SCORES

S.Watson	114 *	17-18 (Q-F)	S.Cush	72 *	12-13	D.Rixon	58 *	14-15
J.Biviano	103 *	18-19 (NPT20)	M.Brown	72	15-16	C.Williams	58 *	18-19
J.Biviano	91 *	20-21	S.Cush	71	11-12	N.Maddinson	57	09-10
J.Leaning	87 *	19-20	S.Cush	70	10-11	C.Williams	57 *	20-21
Steven Smith	85 *	08-09 (Q-F)	S.Cush	67	11-12	M.Bradley	56	08-09 (Q-F)
P.Jaques	81 *	09-10	Jamie Brown	66 *	16-17	Steven Smith	56 *	18-19
J.Holley	80	08-09	J.Brockley	65	14-15	Steven Smith	55	12-13 (Q-F)
Shayne Smith	80 *	15-16	M.Hughston	63 *	11-12	P.Jaques	55	13-14
D.Murphy	78	08-09	Steven Smith	61 *	08-09	M.Hughston	54	10-11
L.Dudman	77 *	11-12	Steven Smith	61	18-19 (Q-F)	C.Williams	52	16-17
Jamie Brown	74 *	17-18	P.Saroukos	61	18-19 (NPT20)	P.Jaques	50 *	12-13
S.Cush	73	11-12	B.Dwarshuis	58 *	20-21	A.Whatley	50	15-16

BEST BOWLING FIGURES

D.Fallins	4-9	15-16	Jamie Brown	3-9	12-13 (S-F)	C.Gilmour	3-25	10-11
D.Rixon	4-13	18-19 (NPT20)	B.Dwarshuis	3-11	18-19	T.Doyle	3-27	19-20
B.Dwarshuis	4-14	13-14	N.Fitzgerald	3-14	12-13	N.Rowe	3-29	08-09
D.Fallins	4-20	18-19	L.Dudman	3-15	10-11	L.Dudman	3-29	12-13
M.Brown	4-21	11-12	A.Fleming	3-17	09-10	L.Talay	3-29	08-09
T.Freeburn	4-22	08-09	N.Fitzgerald	3-17	13-14	N.Fitzgerald	3-29	12-13 (S-F)
J.Wilson	4-23	17-18 (Q-F)	B.Dwarshuis	3-18	13-14	D.Fallins	3-29	18-19
B.Dwarshuis	4-23	20-21	T.Pinson	3-20	17-18	Jamie Brown	3-34	16-17
B.Dwarshuis	4-25	17-18	L.Dudman	3-21	11-12	M.Brown	3-37	11-12
B.Dwarshuis	4-31	18-19	Jamie Brown	3-22	12-13	T.Freeburn	3-44	08-09
D.Fallins	3-8	18-19 (NPT20)	D.Fallins	3-22	18-19 (F)	Steven Smith	3-48	08-09

BEST T20 PERFORMANCES AGAINST EACH CLUB

CLUB	HIGHEST SCORES	S	BEST	BOWLING FIGU	IRES
ACT	Never played			Never played	
Bankstown	73 S.Cush	11-12	4-22	T.Freeburn	08-09
Blacktown	Never played			Never played	
Campbelltown	77 * L.Dudman	11-12	2-22	N.Fitzgerald	11-12
Central Coast	Never played			Never played	
Eastern Subs	70 S.Cush	10-11	4-20	D.Fallins	18-19
Fairfield	35 M.Brown	13-14	3-9	Jamie Brown	12-13
Gordon	91 * J.Biviano	20-21	3-18	B.Dwarshuis	13-14
Hawkesbury	63 * M.Hughston	11-12	4-21	M.Brown	11-12
Illawarra	80 * Shayne Smith	15-16	4-9	D.Fallins	15-16
Manly	52 C.Williams	16-17	3-21	S.Khan	16-17
Mosman	114 * S.Watson	17-18	4-23	J.Wilson	17-18
Newcastle	69 Jamie Brown	17-18	3-20	T.Pinson	17-18
North Sydney	85 * Steve Smith	08-09	3-22	Jamie Brown	12-13
Nthn District	72 * S.Cush	12-13	1-10	B.Dwarshuis	12-13
Parramatta	Never played			Never played	
Penrith	28 S.Cush	10-11	3-15	L.Dudman	10-11
Rand Petes	80 J.Holley	08-09	4-25	B.Dwarshuis	17-18
St.George	57 * C.Williams	20-21	4-31	B.Dwarshuis	18-19
Sydney	72 M.Brown	15-16	3-17	A.Fleming	09-10
Sydney Uni	81 * P.Jaques	09-10	3-29	N.Fitzgerald	12-13
Uni of NSW	87 * J.Leaning	19-20	4-23	B.Dwarshuis	20-21
Western Subs	54 M.Hughston	10-11	1-14	A.Ezquerro	10-11

HIGHEST SCORES

CLUB	1	ALL GRAD	ES		1ST GRADE				2ND GRADE		3RD GRADE			
All Clubs	321	P.Jaques	1sts	06-07	321	P.Jaques	06-07	272	D.Rixon	15-16	199	J.Holley	92-93	
Bankstown	208	P.Jaques	2nds	97-98	128	P.Jaques	09-10	208	P.Jaques	97-98	120	G.Fitzgerald	87-88	
Blacktown	163	J.Packer	2nds	03-04	158	Steven Smith	08-09	163	J.Packer	03-04	117	S.Cush	06-07	
Campbelltown	215	D.Murphy	2nds	09-10	183*	C.Williams	16-17	215	D.Murphy	09-10	132	T.Harvey	85-86	
Eastern Subs	166	M.Hughston	1sts	09-10	166	M.Hughston	09-10	121	J.Steed	85-86	139	G.Marston	68-69	
	166*	C.D'Arcy	AWG	13-14										
Fairfield	149	R.Davison	1sts	95-96	149	R.Davison	95-96	115	A.Whatley	14-15	113	B.Johnson	79-80	
Gordon	155	R.Davison	1sts	95-96	155	R.Davison	95-96	144*	A.Walsh	84-85	124*	A.Phillips	08-09	
								144	M.O'Brien	99-00				
Hawkesbury	272	D.Rixon	2nds	15-16	212*	M.Bradley	99-00	272	D.Rixon	15-16	137	J.Rafique	05-06	
Manly	197*	M.Hughston	5ths	16-17	131*	M.Hughston	08-09	173	J.Holley	09-10	164	G.Davies	11-12	
Mosman	174	M.Bradley	5ths	10-11	143	J.Biviano	16-17	150*	G.Horner	87-88	127*	L.Dudman	08-09	
North Sydney	321	P.Jaques	1sts	06-07	321	P.Jaques	06-07	161	B.Roach	03-04	173	P.Weatherall	83-84	
Nthn District	180	T.Doyle	P-G	15-16	128	D.Mitchell	95-96	151	J.Brockley	09-10	138*	B.Kirby	91-92	
Parramatta	199	J.Holley	3rds	92-93	183*	P.Jaques	06-07	125	P.Lynam	01-02	199	J.Holley	92-93	
Penrith	225	N.Maddinson	1sts	11-12	225	N.Madinson	11-12	183	J.Holley	97-98	123	W.Cary	95-96	
Petersham	158*	K.Hudson	AWG	75-76	143	J.Young	96-97	109	K.Symons	68-69	107	C.Maggs	81-82	
Randwick	166	D.Mitchell	1sts	94-95	166	D.Mitchell	94-95	121*	K.Tuite	86-87	111*	G.Horner	86-87	
Rand Petes	162*	M.Hughston	2nds	02-03	136	Steven Smith	07-08	162*	M.Hughston	02-03	93	J.Burnett	02-03	
St.George	184	S.Watson	1sts	17-18	184	S.Watson	17-18	164	S.Pickering	07-08	113*	K.Medway	18-19	
Sydney	126*	L.Ritchie	3rds	67-68	123	N.O'Neill	67-68	92*	M.Ridge	80-81	126*	L.Ritchie	67-68	
					123*	P.Clark	81-82							
Sydney (ex- Balmain)	165	T.Harvey	5ths	84-85	134	Steven Smith	07-08	162	D.Givney	87-88	132	T.Harvey	87-88	
Sydney Uni	184	M.Hughston	1sts	09-10	184	M.Hughston	09-10	144*	L.Dudman	08-09	114	B.Johnson	87-88	
Uni of NSW	158	D.Murphy	2nds	06-07	134	J.Kenny	90-91	158	D.Murphy	06-07	141	M.Carroll	01-02	
Western Subs	170*	P.Jaques	P-G	99-00	166	L.Johns	84-85	151	M.Bradley	96-97	154	A.Phillips	03-04	
	1													

BEST BOWLING IN AN INNINGS

CLUB	ALL GRADES					1ST GRADE			2ND GRADE		3RD GRADE		
All Clubs	10-115	D.Malone	2nds	15-16	9-24	E.Cotton	68-69	10-115	D.Malone	15-16	9-45 P.McCann	70-71	
Bankstown	8-67	A.Kay	3rds	68-69	7-51	G.Roden	04-05	7-44	A.Clark	00-01	8-67 A.Kay	68-69	
Blacktown	7-26	J.Packer	3rds	06-07	5-36	A.Fleming	04-05	6-5	S.Pickering	05-06	7-26 J.Packer	06-07	
Campbelltown	8-51	S.Dawes	5ths	09-10	6-58	G.Roden	04-05	6-53	J.Zywietz	06-07	7-30 A.Hale	86-87	
Eastern Subs	7-13	S.Woodley	AWG	81-82	7-68	J.Slattery	70-71	6-15	A.Clark	02-03	7-25 R.Archibald	88-89	
Fairfield	9-88	G.McBarron	3rds	81-82	6-20	S.Clark	96-97	5-19	D.Celep	02-03	9-88 G.McBarron	81-82	
Gordon	9-24	E.Cotton	1sts	68-69	9-24	E.Cotton	68-69	7-36	H.Reus	79-80	8-40 S.Manning	99-00	
Hawkesbury	7-38	C.Haran	5ths	91-92	6-22	S.Manning	02-03	6-35	J.Bills	12-13	6-14 G.Barron	88-89	
Manly	8-6	M.Abbott	5ths	70-71	6-27	M.Gardner	83-84	8-16	P.McCann	69-70	7-75 S.McGrath	04-05	
Mosman	9-32	M.Brennan	4ths	88-89	7-52	G.Roden	03-04	8-58	D.Russell	74-75	7-36 J.Bills	10-11	
North Sydney	9-45	P.McCann	3rds	70-71	7-47	G.McGrath	93-94	7-15	I.Napper	71-72	9-45 P.McCann	70-71	
Nthn District	8-26	M.Black	3rds	72-73	6-43	M.Chapman	93-94	6-62	A.Clark	01-02	8-26 M.Black	72-73	
Parramatta	9-19	P.Lennon	4ths	65-66	7-39	E.Cotton	68-69	8-54	P.McCann	68-69	8-86 M.McDonald	75-76	
Penrith	8-25	S.Woodley	5ths	85-86	7-29	M.Black	74-75	7-68	D.Russell	75-76	8-74 K.Meadows	89-90	
Petersham	8-32	B.Gorman	2nds	70-71	7-77	E.Cotton	66-67	8-32	B.Gorman	70-71	8-42 B.Booker	76-77	
Randwick	9-66	J.Slattery	1sts	70-71	9-66	J.Slattery	70-71	7-63	M.Black	74-75	6-37 S.Edmonds	70-71	
Rand Petes	7-32	P.Burns	3rds	13-14	6-19	T.Freeburn	04-05	6-23	A.Fleming	07-08	7-32 P.Burns	13-14	
St.George	8-42	C.Streater	5ths	07-08	6-63	B.Guthrie	96-97	7-70	J.Philip	65-66	7-18 J.Almond	18-19	
Sydney	9-82	G.Barry	1sts	81-82	9-82	G.Barry	81-82	8-10	J.Philip	66-67	6-65 P.Mullane	80-81	
Sydney (ex-	9-102	N.Fitzgerald	1sts	14-15	9-102	N.Fitzgerald	14-15	7-61	M.Wood	86-87	7-43 K.Weatherall	20-21	
Balmain)													
Sydney Uni	10-115	D.Malone	2nds	15-16	7-41	A.Clark	93-94	10-115	D.Malone	15-16	7-27 D.Lawrence	65-66	
Uni of NSW	8-3	C.Harvey	5ths	83-84	6-68	D.McLauchlan	97-98	6-51	K.Williams	79-80	6-26 E.Nix	76-77	
Western Subs	7-20	L.Fleming	1sts	06-07	7-20	L.Fleming	06-07	7-29	I.Napper	72-73	6-133 B.Hazell	67-68	

AGAINST EACH CLUB

	4TH GRADE			5TH GRADE		POIDEVIN-GRAY SHIELD			Α.	W.GREEN SHIE	LD	LIMITED OVERS			
201*	T.Brennan	92-93	197*	M.Hughston	16-17	180	T.Doyle	15-16	166*	C.D'Arcy	13-14	155*	M.Hughston	05-06	
141	G.Coleman	86-87	121	G.Davies	05-06	150	J.Holley	93-94	113*	T.Cadden	93-94	128	P.Jaques	09-10	
90	R.Chivers	06-07	71	K.Wilmott	06-07	71	B.Dwarshuis	13-14	116	M.Rice	07-08	155*	M.Hughston	05-06	
201*	T.Brennan	92-93	164	K.Wilmott	06-07	113*	Jamie Brown	15-16	103*	C.Lake	94-95	66	C.Williams	17-18	
128	K.Humphreys	77-78	127	T.Owsnett	98-99	110	M.O'Brien	94-95	166*	C.D'Arcy	13-14	84	N.Maddinson	08-09	
145	Dylan Smith	14-15	134	D.Givney	01-02	76	M.Probert	99-00	83*	J.Sheehy	91-92	77*	P.Jaques	99-00	
147	M.Duff	87-88	150	R.Chivers	04-05	108*	B.Handley	74-75	89*	J.Horner	13-14	107	C.Williams	18-19	
151	R.Fenech	97-98	134	D.Wallace	90-91	91	M.Probert	00-01	141	S.Pickering	02-03	115	J.Kenny	92-93	
100	M.Elliott	02-03	197*	M.Hughston	16-17	107*	A.Whatley	14-15	117	J.Horner	13-14	125*	D.Murphy	07-08	
164	M.Rice	10-11	174	M.Bradley	10-11	96*	B.Dwarshuis	12-13	92	C.McCarron	01-02	143	J.Biviano	16-17	
									92	M.Rice	07-08				
165*	S.McInnes	07-08	157	L.Miller	15-16	109	J.Brockley	11-12	98	Shayne Smith	09-10	121	M.Bradley	01-02	
						109	Jamie Brown	14-15		-			-		
172	J.Rafique	08-09	158*	J.Clark	84-85	180	T.Doyle	15-16	123	T.Doyle	12-13	88	M.O'Brien	04-05	
179	T.Iceton	84-85	158	J.Zywietz	06-07	93	A.Fleming	02-03	140	I.Everett	71-72	91	Steven Smith	05-06	
111	D.Studholme	05-06	129	D.Howard	97-98	85	M.Hughston	01-02	151*	K.Hudson	74-75	101	Jamie Brown	17-18	
114*	G.Coleman	68-69	95	A.Craig	87-88	96	P.Jaques	97-98	158*	K.Hudson	75-76	67	R.Davison	95-96	
86	T.Brennan	89-90	105	D.Givney	95-96	111	C.Dodd	67-68	137*	M.Probert	94-95	85	G.Bailey	69-70	
100*	J.Green	18-19	142	G.Richards	07-08	87*	B.Dwarshuis	12-13	59	J.Rafique	01-02	72	M.O'Brien	01-02	
142*	L.Dudman	99-00	125	M.Chapman	81-82	113	A.Hilditch	74-75	110	I.Stephen	69-70	149*	S.Cush	08-09	
120*	G.Hilzinger	70-71	25	R.Jordan	69-70	55	R.Every	65-66		Never Played		34*	L.Ritchie	69-70	
				G.McCaughan	69-70										
130*	M.Thompson	70-71	165	T.Harvey	84-85	92*	J.Kenny	85-86	140	Shayne Smith	09-10	98	G.Warry	73-74	
103	A.El-Daher	12-13	140	N.Bettiss	02-03	70*	M.Heslehurst	00-01	52	A.Whatley	08-09	86	Steven Smith	07-08	
105	J.Prendergast	78-79	134*	A.Quinn	83-84	128	P.Weatherall	87-88	105*	L.Dudman	98-99	90	J.Holley	02-03	
104*	G.Kenny	93-94	166*	S.Duff	04-05	170*	P.Jaques	99-00	116	B.Handley	73-74	100	T.Doyle	18-19	

AGAINST EACH CLUB

4TH GRADE		5TH GRADE		POIDEVIN-GRAY S	HIELD	A.W.GREEN SHIE	LD	LIMITED OVERS			
9-19 P.Lennon	65-66	9-43 G.Geraghty	89-90	7-31 G.Barry	74-75	7-13 S.Woodley	81-82	8-29 B.Gorman	75-76		
7-16 B.Hazell	66-67	6-34 K.Meadows	88-89	7-31 G.Barry	74-75	6-47 A.Hale	86-87	5-8 J.Holley	99-00		
5-22 D.Crawford	06-07	5-8 N.Wilson	18-19	5-12 L.Talay	09-10	5-15 J.Horner	12-13	4-24 A.Fleming	02-03		
6-34 A.Northridge	94-95	8-51 S.Dawes	09-10	5-41 J.Horner	16-17	5-14 C.Lucas	92-93	4-10 A.Fleming	02-03		
7-36 D.Lawrence	67-68	7-26 D.Eaglesham	01-02	7-42 K.Meadows	82-83	7-13 S.Woodley	81-82	5-6 I.Napper	73-74		
8-66 M.Brennan	88-89	6-51 K.Meadows	88-89	6-27 P.Byrom	98-99	6-68 A.Hale	86-87	4-44 D.McLauchlan	99-00		
		6-51 D.Eaglesham	93-94								
7-44 G.Glover	68-69	9-43 G.Geraghty	89-90	5-33 B.Dawson	73-74	6-52 A.Hale	85-86	5-53 C.Belshaw	04-05		
7-41 K.Meadows	86-87	7-38 C.Haran	91-92	5-29 C.Parsons	89-90	5-13 Steven Smith	03-04	6-41 C.Belshaw	03-04		
6-17 R.Longbottom	65-66	8-6 M.Abbott	70-71	5-37 Jamie Brown	14-15	3-15 M.Earley	03-04	4-17 E.Cotton	69-70		
9-32 M.Brennan	88-89	8-41 P.Mackey	73-74	4-18 J.Tuccia	04-05	4-36 D.Smith	07-08	5-41 D.Fallins	16-17		
7-78 G.Chudleigh	80-81	8-30 M.Carroll	89-90	5-18 N.Rosser	01-02	4-8 A.Davis	04-05	4-45 J.Holley	94-95		
8-42 John Kenny	82-83	6-36 J.Dunbar	95-96	6-53 D.Mann	88-89	5-13 M.Marien	70-71	5-31 A.Fleming	04-05		
9-19 P.Lennon	65-66	7-38 J.Harris	77-78	4-9 G.Bailey	70-71	6-17 B.Handley	73-74	8-29 B.Gorman	75-76		
7-20 M.McDonald	73-74	8-25 S.Woodley	85-86	4-16 B.Handley	75-76	7-23 B.Booker	75-76	5-21 G.Barron	93-94		
7-46 H.Reus	70-71	5-8 W.Schofield	92-93	7-36 C.Lucas	97-98	6-9 P.Aasa	70-71	6-27 D.McLauchlan	99-00		
8-38 G.Barry	74-75	8-72 S.McGrath	97-98	7-76 R.Archibald	82-83	7-32 M.McCool	77-78	4-24 E.Cotton	69-70		
5-26 D.Nelson	04-05	4-21 S.Dawes	07-08	4-32 J.Zywietz	06-07	6-32 M.Smith	01-02	5-46 A.Fleming	01-02		
8-54 R.Richardson	75-76	8-42 C.Streater	07-08	6-74 M.McCool	80-81	6-31 S.Milliken	13-14	5-28 D.McLauchlan	08-09		
6-34 C.Russell	70-71	7-53 E.Rollinson	69-70	4-31 M.Gardner	83-84	Never Played		5-23 E.Cotton	69-70		
8-25 G.Murphy	67-68	8-17 J.Rafique	02-03	4-9 N.Brookes	88-89	4-19 M.Hughston	99-00	4-25 A.Clark	94-95		
6-12 D.Lawrence	66-67	8-27 C.Christie	80-81	4-10 M.Gardner	80-81	5-12 Steven Smith	04-05	4-5 K.White	11-12		
6-12 F.Timbrell	74-75										
7-32 S.McGrath	98-99	8-3 C.Harvey	83-84	6-25 M.Carroll	92-93	3-2 S.Pickering	02-03	4-12 J.Wilson	16-17		
7-33 S.Gilchrist	66-67	6-30 K.Meadows	96-97	5-45 C.Parsons	90-91	7-25 P.Mullane	72-73	4-58 N.Fitzgerald	05-06		

CURRENT GRADE PLAYERS - CAREER RECORDS WITH S.D.C.C.

	Matches	Innings	Not Out	H.Score	Runs	Average	W/K	ζ.	Catches	Overs	Maidens	Runs	Wickets	Average
			_			. – –	Ct	St						
Joel Almond	118	108	8	110	1593	15.9			46	848	144	2830	145	19.5
Nick Amos	104	101	9	129	2250	24.5			30	577	64	2283	75	30.4
James Arnold	161	161	22	103	3153	22.7			36	526	67	2031	66	30.8
Lachlan Ball	14	15	2	44	241	18.5	21	0						
Ronak Bedi	38	29	8	32	276	13.1			8	345	58	1014	54	18.8
Christian Bennett	64	58	14	50 *	765	17.4			19	435	96	1223	68	18.0
Jarryd Biviano	188	175	11	143	4650	28.4	114	28	24	1	0	4	0	-
Tim Brandt	18	14	0	79	203	14.5			8	72	6	248	8	31.0
Reaf Bremer	46	49	3	116	1176	25.6			13	100	11	323	20	16.2
Jayden Brown	117	96	33	51	909	14.4			31	1190	176	4745	177	26.8
Richie Bull	53	38	7	41	323	10.4	73	10						
Luke Cutcliffe	11	10	3	34	142	20.3			4	87	9	279	12	23.3
Ethan Deal	88	88	4	136	2299	27.4	106	14	6					
Tom Doyle	208	207	15	180	6014	31.3			84	334	15	1680	52	32.3
Pat Driscoll	109	75	31	31	306	7.0			32	1048	229	2980	150	19.9
Ben Dwarshuis	199	181	36	162	4297	29.6			69	1360	254	4461	204	21.9
Daniel Fallins	216	158	37	111 *	2713	22.4			106	2359	228	9602	350	27.4
Sam FitzGibbon	7	6	1	30	72	14.4			2	38	6	136	5	27.2
Zac Franken	14	11	1	38	108	10.8			3	78	4	375	6	62.5
Ashton Frazer	8	8	0	43	132	16.5			1					
Kobey Freer	8	7	1	36	95	15.8			3	17	2	62	3	20.7
Tushaar Garg	20	13	3	33 *	124	12.4			5	182	27	724	28	25.9
Chad Gilmour	143	85	38	33	280	6.0			22	1713	349	5517	239	23.1
Cameron Goodger	9	8	0	14	47	5.9	2	0	2					
Fletcher Graham	65	66	3	81	1023	16.2	6	0	23	56	1	233	2	116.5
Jarrod Graham	19	11	5	21 *	51	8.5			11	100	6	419	23	18.2
Justin Green	78	77	11	106 *	1667	25.3			19	397	75	1298	63	20.6
James Hawksworth	65	67	10	124	1776	31.2			30	141	19	487	18	27.1
Luke Hawksworth	144	139	15	173 *	3325	26.8	56	13	40					
Liam Hehir	85	72	20	48	573	11.0			33	637	89	2348	71	33.1
Dylan Holdstock	83	88	15	95 *	1732	23.7			27	178	24	678	21	32.3
Jason Holley	311	313	37	199	8165	29.6			160	2348	531	7031	324	21.7
Michael Holmes	64	50	15	38	390	11.1			13	559	78	2011	76	26.5
Josh Horner	148	131	21	117	2510	22.8			53	505	77	1727	93	18.6
Tavish Humphreys-Jones	48	43	3	82	391	9.8			12	223	21	866	32	27.1
Josh Johnston	72	71	5	93	1148	17.4	38	1	8	25	2	125	1	125.0
Steve Kourouche	119	99	27	68	919	12.8	4	0	24	957	194	2906	113	25.7
Patrick Leate	11	3	1	4	7	3.5			2	56	6	221	11	20.1

CURRENT GRADE PLAYERS - CAREER RECORDS WITH S.D.C.C.

	Matches	Innings	Not Out	H.Score	Runs	Average	W/K Ct	St	Catches	Overs	Maidens	Runs	Wickets	Average
Ben Letton	48	51	5	89	944	20.5	Cl	51	8	5	1	20	1	20.0
Hayden Lindsay	25	23	3	71 *	525	26.3			5	31	2	127	5	25.4
Sam McCulloch	24	25	1	67	614	25.6			10	13	3	77	1	77.0
Dom Michalak	50	43	5	59	710	18.7	2	0	17	368	41	1390	40	34.8
Steven Milliken	126	92	40	33	444	8.5			26	1038	149	3966	149	26.6
Javed Mohammed	49	49	8	51 *	616	15.0			5	303	40	1006	55	18.3
David Niumataiwalu	22	17	7	24	99	9.9			9	163	18	631	31	20.4
Sam Niumataiwalu	8	7	5	31 *	65	32.5			0	40	6	127	4	31.8
Richard Nolan	31	26	5	38	266	12.7			6	251	40	852	42	20.3
Will Norris	24	18	5	38 *	200	15.4			7	161	12	592	29	20.4
Jake O'Connell	18	13	2	78	186	16.9			6	136	14	477	22	21.7
Flynn Parker	66	33	17	24 *	121	7.6			17	332	41	1911	72	26.5
Cody Philipson	35	36	8	64	432	15.4	45	5						
Zac Philipson	36	27	11	51	413	25.8			9	256	48	773	46	16.8
Brendon Piggott	51	48	9	120	1043	26.7	23	0	12	2	0	33	1	33.0
Tom Pinson	162	93	34	55 *	788	13.4			31	1583	226	6445	229	28.1
Aiden Rider	9	9	0	53	143	15.9	9	0						
Andrew Ritchie	80	66	11	56	721	13.1			18	656	89	2432	94	25.9
Luke Ritchie	26	21	3	46	320	17.8			6	102	15	393	15	26.2
Daniel Rixon	344	297	58	272	5947	24.9	396	102	34	323	52	1209	60	20.2
Pushpinder SIngh	30	19	5	46 *	165	11.8			3	290	44	1098	43	25.5
Steven Smith	138	142	18	171 *	5619	45.3			92	1272	156	5211	202	25.8
Saul Spyrides	9	9	1	47	136	17.0			2	23	5	80	3	26.7
Tom Straker	30	20	4	36	200	12.5			6	243	39	815	46	17.7
Will Straker	40	22	4	28	246	13.7			14	384	79	1037	76	13.6
Shaun Thornton	95	100	5	104	2031	21.4			28	3	0	13	1	13.0
Jackson Turner	24	21	2	68	401	21.1			6	37	2	148	9	16.4
Ihsan Ul-Haq	7	6	2	8	25	6.3			4	63	8	238	13	18.3
Tom Vandermaal	43	29	16	11	50	3.8			17	343	68	1074	50	21.5
Will Vandermaal	106	104	10	134 *	2241	23.8			42	325	28	1324	33	40.1
Alex Watkiss	146	120	16	143	2208	21.2	2	0	35	1022	157	3753	146	25.7
Callum Weatherall	114	118	6	145	2272	20.3			32	75	21	246	6	41.0
Kieran Weatherall	73	51	12	45	306	7.8			25	477	58	1753	89	19.7
Jamie Weaver	11	11	1	38	163	16.3	19	1						
Nathan Whittingham	270	190	53	127	2591	18.9			111	3407	763	9788	422	23.2
Ben Williams	62	38	11	30 *	145	5.4			16	601	159	1656	80	20.7
Chris Williams	356	366	43	183 *	10539	32.6			157	213	31	882	39	22.6

YOUNGEST FIRST GRADE PLAYERS

Name	Debut Age			
Justin Kenny	18 December 1982	16 years 86 days		
Luke Hawksworth	19 December 2015	16 years 93 days		
Steven Smith	19 November 2005	16 years 171 days		
Graeme Marston	21 January 1968	16 years 178 days		
Rodney Davison	29 December 1985	16 years 187 days		
Devlin Malone	10 January 2015	16 years 237 days		
Nic Maddinson	27 September 2008	16 years 281 days		
Kyle Brockley	13 October 2012	16 years 288 days		
Glen Bailey	12 November 1966	16 years 296 days		
Daniel McLauchlan	19 November 1994	16 years 342 days		
Ben Connell	20 October 1985	16 years 356 days		

YOUNGEST FIRST GRADE CAPTAINS

Name	Date first captained	Age		
Justin Kenny	20 October 1985	19 years 26 days		
Steven Smith	27 September 2008	19 years 117 days		

ITEMS OF STATISTICAL INTEREST

- Phil Weatherall has captained the Club in the most grades 6: 1sts (4), 2nds (1), 3rds (1), 4ths (1), 5ths (1) and P-G (5) – total 16. Barry Davison and Bryan Hazell both captained the Club in 5 grades. Barry captained in 1sts (8), 2nds (39), 3rds (49), 5ths (2) and P-G (5) – total 103. Bryan captained in 1sts (7), 2nds (17), 3rds (25), 4ths (30) and 5ths (16) – total 95.
- Rodney Davison has scored centuries in the most grades 6.
 He scored centuries in 1sts (8), 2nds (2), 3rds (1), 4ths (1), P-G (1) and AWG (1).
- Players who have scored the most centuries in each grade:

,	0
1st Grade	– 22 Phil Jaques
1st Grade L/O	– 6 Phil Jaques
2nd Grade	 – 6 Jason Holley & Kevin Tuite
3rd Grade	 4 Joel Burnett, Aaron Phillips & Phil Weatherall
4th Grade	– 5 Geoff Coleman
5th Grade	– 6 David Givney
Poidevin-Gray	 2 Jamie Brown, Tom Doyle, Matthew Hughston, Phil Jaques & Adam Whatley
A.W.Green	 – 3 Ken Hudson & Chris Lake

- Players who have scored 4 centuries in a season: Les Johns 1985-86 (1sts); Justin Kenny 1990-91 (1sts); Matthew Bradley 1996-97 (L/O 1, 2nds 2, P-G 1); Grant Davies 2005-06 (5ths 2, AWG 2); Phil Jaques 2005-06 (1sts); Jamie Brown 2015-16 (2nds 3, P-G 1); Jamie Brown 2017-18 (1sts)
- Grahame Barry has taken five wickets in an innings in the most grades 7.
 He has taken five wickets in an innings in 1sts (8), 2nds (6), 3rds (2), 4ths (1), 5ths (1), P-G (1) and AWG (1).
- Players who have taken five wickets in an innings the most times in a season: Anthony Hale – 10 in 1986-87 (3rds 2, 4ths 4, AWG 4); Anthony Hale – 8 in 1985-86 (4ths 6, AWG 2); Ted Rollinson – 7 in 1969-70 (5ths); Jack Slattery – 6 in 1970-71 (1sts)

REPRESENTATIVE HONOURS

Australia – Test Matches in Australia

Andrew Hilditch: v.Eng 1978-79; v. Pak 1978-79

Steve Rixon: v.WI 1984-85

Glenn McGrath: v.Ban 2003; v.Eng 1994-95, 1998-99, 2002-03, 2006-07; v.Ind 1999-00; v.NZ 1993-94, 1997-98, 2001-02, 2004-05; v.Pak 1995-96, 1999-00, 2004-05; v.SA 1993-94, 1997-98, 2001-02, 2005-06; v.SL 1995-96, 2004; v.WI 1996-97, 2000-01, 2005-06; v.World XI 2005-06

Phil Jaques: v.Ind 2007-08; v.SA 2005-06; v.SL 2007-08

Shane Watson: v.Eng 2010-11, 2013-14; v.Ind 2014-15; v.Pak 2009-10; v.SA 2012-13; v.SL 2012-13; v.WI 2009-10

Steve Smith: v.Eng 2010-11, 2013-14, 2017-18; v.Ind 2014-15, 2020-21; v.NZ 2015-16, 2019-20; v.Pak 2016-17, 2019-20; v.SA 2016-17; v.WI 2015-16

Australia – Test Matches Overseas

Andrew Hilditch: v.Ind 1979

Glenn McGrath: v.Eng 1997, 2001, 2005; v.Ind 1996, 2001, 2004; v.NZ 1999-00, 2004-05; v.Pak 1994, 1998, 2002 (in SL & Sharjah); v.SA 1993-94, 1996-97, 2001-02; v.SL 1999; v.WI 1995, 1999, 2003; v.Zim 1999

Phil Jaques: v.Ban 2006; v.WI 2008

Shane Watson: v.Eng 2013; v.Ind 2010, 2013; v.NZ 2009-10; v.Pak 2010 (in Eng); v.SA 2013-14; v.WI 2012, 2015

Steve Smith: v. Ban 2017; v.Eng 2013, 2015, 2019; v.Ind 2013, 2017; v. NZ 2015-16; v.Pak 2010 (in Eng), 2014 (in Sharjah); v.SA 2013-14, 2017-18; v.SL 2016; v.WI 2015

Australia A – in Australia

Stuart Clark: v.Eng 2002-03; v.NZ 2001-02, v.SA 2001-02, 2002-03; Phil Jaques: v.Ind 2006, v.Pak 2006; Steve Smith: v.Eng 2010-11, v.NZ 2011-12, v.SA 2012-13; Nic Maddinson: v.NZ 2011-12

Australia A – Overseas Tours

Stuart Clark: to SA 2002; Phil Jaques: to Pak 2005, 2007; Steve Smith: to Eng 2012, 2013; Nic Maddinson: to Zim 2011, to Eng 2013, to SA 2013

Prime Minister's XI

Stuart Clark 2001-02 (v.NZ); Matthew Bradley 2002-03 (v.Eng), 2003-04 (v.Ind); Phil Jaques 2005-06 (v.WI), 2006-07 (v.Eng); Ben Dwarshuis 2018-19 (v.SA); Daniel Fallins 2019-20 (v.SL)

AIS Cricket Academy/CA Centre of Excellence

Darrell Mann 1989; Glenn McGrath 1992, 1993; Stuart Clark 1995; Daniel McLauchlan 1997; Phil Jaques 2000; Adam Fleming 2002; Steve Smith 2008, 2009; Nic Maddinson 2010, 2011, 2012; Adam Zampa 2011; Daniel Fallins 2017

Australia Under 19

Rodney Davison 1987-88; Darrell Mann 1988-89, 1989-90; Matthew Bradley 1995-96; Daniel McLauchlan 1996-97; Paul Byrom 1999; Adam Fleming 2001-02; David Murphy 2006-07; Steve Smith 2007-08; Nic Maddinson 2008-09, 2009-10; Riley Ayre 2014-15; Austin Waugh 2016-17, 2017-18

Australia Under 17 Development Squad

Darrell Mann 1986-87, 1987-88; Matthew Bradley 1994-95, Daniel Godkin 1995-96

Australia Under 16

Austin Waugh 2015-16

New South Wales

Norm O'Neill 1965-66, 1966-67; John Dyson 1975-76, 1976-77, 1988-89, 1989-90; Andrew Hilditch 1976-77, 1977-78, 1978-79, 1979-80, 1980-81; Andy Roberts 1976-77; Steve Rixon 1979-80, 1980-81, 1981-82, 1982-83, 1983-84, 1984-85, 1987-88; Len Pascoe 1982-83; Justin Kenny 1988-89, 1990-91; Glenn McGrath 1992-93, 1993-94, 1994-95, 1995-96, 1996-97, 1997-98, 1998-99, 1999-00, 2000-01, 2001-02, 2002-03, 2003-04, 2004-05, 2005-06, 2006-07; Rodney Davison 1995-96, 1996-97; Stuart Clark 1997-98, 1998-99, 1999-00, 2000-01, 2001-02, 2002-03, 2003-04; Brad Guthrie 1997-98; Phil Jaques 2000-01, 2001-02, 2003-04, 2004-05, 2005-06, 2006-07, 2007-08, 2008-09, 2009-10, 2010-11, 2011-12; Steve Smith 2007-08, 2008-09, 2009-10, 2010-11, 2011-12, 2012-13, 2013-14, 2015-16, 2016-17, 2017-18, 2019-20, 2020-21; Nic Maddinson 2010-11, 2011-12, 2012-13, 2013-14; Shane Watson 2010-11, 2011-12, 2012-13, 2014-15, 2015-16; Adam Zampa 2012-13; Daniel Fallins 2017-18, 2018-19

NSW 2nd XI

Paul Clark 1983-84, 1984-85; Mark Chapman 1986-87; Rodney Davison 1988-89, 1989-90, 1990-91, 1995-96, 1996-97; Justin Kenny 1988-89, 1989-90, 1990-91, 1991-92; Glenn McGrath 1991-92, 1992-93; Stuart MacGill 1995-96; Stuart Clark 1996-97, 1997-98, 1999-00, 2000-01, 2003-04; Brad Guthrie 1996-97, 1997-98; Jason Young 1996-97; Paul Byrom 1998-99, 1999-00; Daniel Godkin 1998-99; Phil Jaques 1999-00, 2001-02, 2002-03, 2003-04, 2009-10, 1010-11, 2011-12; Paul Sutherland 1999-00; Adam Fleming 2002-03, 2010-11, 2011-12; Grant Roden 2004-05; Luke Dudman 2005-06, 2006-07; Steve Smith 2006-07, 2007-08; Nic Maddinson 2008-09, 2009-10, 2010-11; Stephen Cush 2010-11; Matthew Hughston 2010-11, 2011-12; Adam Zampa 2010-11, 2011-12, 2012-13

NSW Futures League (Under 23)

Nic Maddinson 2009-10, 2010-11, 2011-12, 2012-13; Stephen Cush 2010-11, 2011-12, 2012-13; Matthew Hughston 2010-11; Adam Zampa 2010-11, 2011-12, 2012-13; Phil Jaques 2011-12; Ben Dwarshuis 2013-14, 2014-15, 2016-17; Daniel Fallins 2016-17

NSW Metropolitan 2nd XI/Futures League (Introduced 2017-18; 2nd XI from 2019-20) Ben Dwarshuis 2017-18; Daniel Fallins 2017-18, 2018-19, 2019-20

ACT/NSW Country 2nd XI/Futures League (Introduced 2017-18; 2nd XI from 2019-20)

Tom Pinson 2017-18, 2018-19, 2019-20

NSW Colts

Mike Coleman 1966-67; Colin Dodd 1967-68, 1968-69, 1971-72; Robert Thomas 1969-70; John Dyson 1974-75, 1975-76; Andrew Hilditch 1976-77, 1977-78; Mark Preddey 1979-80; Paul Clark 1982-83, 1983-84; Mark Gardner 1984-85; Justin Kenny 1986-87, 1988-89; Mark Chapman 1986-87, 1987-88; Rodney Davison 1988-89, 1989-90, 1990-91; Stuart Clark 1994-95, 1995-96; Matthew D.O'Brien 1995-96; Matthew Bradley 1995-96, 1996-97, 1997-98; Daniel McLauchlan 1997-98, 1998-99; Paul Byrom 1998-99, 1999-00; Daniel Godkin 1998-99; Phil Jaques 1998-99, 1999-00, 2001-02; Paul Sutherland 1998-99; Matthew Probert 2000-01; Adam Fleming 2002-03, 2003-04, 2004-05; Grant Roden 2002-03; Tim Freeburn 2004-05; Daniel Rixon 2006-07

NSW Under 19

Justin Kenny 1982-83, 1983-84, 1994-85; Steve Funnell 1984-85; David Niu 1994-85; Kevin Tuite 1984-85; Phil Weatherall 1985-86; Nigel Brookes 1986-87; Rodney Davison 1986-87, 1987-88; Darrell Mann 1988-89, 1989-90; Jason Holley 1993-94, 1994-95; Matthew Bradley 1995-96; Phil Jaques 1996-97; Daniel McLauchlan 1996-97; Daniel Godkin 1997-98; Paul Byrom 1998-99; Matthew Probert 1998-99; Adrian Ezquerro 1999-00; Luke Dudman 2001-02; Adam Fleming 2001-02; Matthew Hughston 2002-03; Daniel Rixon 2004-05; Ashley Doolan 2006-07; David Murphy 2006-07, 2007-08; Steve Smith 2006-07, 2007-08; Nic Maddinson 2008-09, 2009-10; Adam Zampa 2010-11; Kerrod White 2011-12; Ben Dwarshuis 2012-13; Riley Ayre 2013-14; Daniel Fallins 2013-14

NSW Metropolitan Under 19 (Introduced 2014-15)

Daniel Fallins 2014-15; Jonathan Rose 2014-15; James Arnold 2016-17; Austin Waugh 2017-18, 2018-19; Aiden Bariol 2018-19

ACT/NSW Country Under 19 (Introduced 2014-15)

Riley Ayre 2014-15

Cricket Australia XI Under 19 (Introduced 2014-15)

Austin Waugh 2016-17

NSW Under 17

Darrell Mann 1986-87, 1987-88; Greg Davison 1987-88; Jason Holley 1992-93; Matthew Bradley 1993-94; Daniel McLauchlan 1994-95; Daniel Godkin 1995-96; Luke Dudman 1999-00; Matthew Hughston 2000-01; Daniel Simpson 2004-05; Steve Smith 2005-06; Matthew Morgan 2006-07; Shayne Smith 2010-11; Adam Whatley 2010-11; Jamie Brown 2011-12; Kyle Brockley 2012-13; Daniel Fallins 2012-13; Jonathan Rose 2012-13, 2013-14; Tom Doyle 2013-14

NSW Metropolitan Under 17 (Introduced 2014-15)

Devlin Malone 2014-15; James Arnold 2015-16; Austin Waugh 2016-17; Ethan Deal 2019-20

Cricket Australia XI Under 17 (Introduced 2014-15)

Austin Waugh 2015-16

NSW Under 16

Kevin Tuite 1981-82; Davyd Berry 1982-83; Phil Weatherall 1982-83; Nigel Brookes 1983-84; Tony Clark 1983-84; Jonathan Clark 1983-84; Richard Bennison 1984-85; Ben Connell 1984-85; Rodney Davison 1984-85; Chris Fox 1984-85; Trent Harvey 1984-85

Metropolitan XI v. England Paul Clark 1984-85

INTERNATIONAL PLAYERS WHO HAVE PLAYED FOR S.D.C.C.

	Overall Matches Played			Matches Played as a SDCC Player		
	<u>Tests</u>	<u>ODIs</u>	<u>T20Is</u>	<u>Tests</u>	<u>ODIs</u>	<u>T20Is</u>
Andre Adams (NZ)	1	42	4			
Tim Bresnan (Eng)	23	85	34			
Stuart Clark	24	39	9			
John Dyson	30	29				
Lockie Ferguson (NZ)	1	37	13		7	1
James Franklin (NZ)	31	110	38	1	4	
Andrew Hilditch	18	8		9	4	
Phil Jaques	11	6		11	6	
Wayne Larkins (Eng)	13	25		5	6	
Stuart MacGill	44	3				
Nic Maddinson	3		6			1
Glenn McGrath	124	250	2	124	250	2
Norm O'Neill	42					
Len Pascoe	14	29				
Steve Rixon	13	6		3	4	
Andy Roberts (WI)	47	56				
Steve Smith	77	128	45	77	128	45
Daryl Tuffey (NZ)	26	94	3	4	19	
Shane Watson	59	190	58	48	112	51
Adam Zampa		61	41			

NATIONAL SELECTORS WHO HAVE PLAYED FOR S.D.C.C.

Andrew Hilditch 1996-11 (Chairman 2006-11); Andy Roberts (WI) 2006-08

NATIONAL TEAM COACHING STAFF WHO HAVE PLAYED FOR S.D.C.C.

Jock Campbell (Aust) – Fitness Trainer 2000-05; Shane Duff (SL) – Fitness Trainer 2003-05; John Dyson (SL) – Team Coach 2003-05, (WI) – Team Coach 2007-09; Steve Rixon (NZ) – Team Coach 1996-99, (Aust) Fielding Coach 2011-14, (Pak) Fielding Coach 2016-18, (SL) Fielding Coach 2018-19; Andy Roberts (WI) – Team Coach 1995-96; Trent Woodhill (NZ) – Assistant Coach 2010-12, (Pak) Batting Coach 2013

FIRST CLASS PLAYERS WHO HAVE PLAYED FOR S.D.C.C.

James BenningLeicestershire, SurreyNottinghamshire, SomersetTim BresnanEngland, England A, England Lions,Nic MaddinsonAustralia A, NSW, Victoria
MCC, Warwickshire, Yorkshire Glenn McGrath Australia, NSW, Middlesex,
Stuart Clark Australia, Australia A, NSW, Worcestershire
Hampshire, Middlesex Daniel McLauchlan Western Australia
Ted CottonNSWPeter MancellTasmaniaRodney DavisonNSWNorm O'NeillAustralia, International Cavaliers,
Rodney DavisonNSWNorm O'NeillAustralia, International Cavaliers,John DysonAustralia, Australian XI, NSWNSW
Daniel Fallins Cricket Australia XI, NSW Kerry Owen NSW
Lockie Ferguson New Zealand, New Zealand A, Auckland Len Pascoe Australia, NSW
Will Fraine Nottinghamshire, Yorkshire, Mark Powell Northamptonshire
Durham MCCU Paul Prichard England A, Essex
James Franklin New Zealand, New Zealand A, Mark Ray NSW, Tasmania
Wellington, Glamorgan, Steve Rixon Australia, Australian XI, NSW
Gloucestershire, Middlesex, Andy Roberts West Indies, Leeward Islands,
Nottinghamshire Combined Islands, Hampshire, Don Harkness Worcestershire Leicestershire. NSW
Don Harkness Worcestershire Leicestershire, NSW Andrew Hilditch Australia, NSW, South Australia Doddapaneni Raj Hyderabad
Shaun Humphries Sussex Jack Shantry Worcestershire
Justin Inglis Mashonaland (Zimbabwe) Robert Smith Otago
Phil Jaques Australia, Australia A, NSW, Steven Smith Australia, Australia A, NSW
Northamptonshire, Nottinghamshire, Daryl Tuffey New Zealand, New Zealand A,
Worcestershire, Yorkshire Auckland, Northern Districts
Harold Joseph West Indies, Trinidad & Tobago Shane Watson Australia, Australia A, NSW,
Justin Kenny NSW Queensland, Tasmania, Hampshire
Richard King Auckland, Central Districts, Richard Williams MCC, Northamptonshire
Otago Jason Young NSW
Greg LambertYorkshireJoseph YovichNorthern DistrictsWayne LarkinsEngland, MCC, Durham,Adam ZampaNSW, South Australia
Wayne Larkins England, MCC, Durham, Adam Zampa NSW, South Australia Northamptonshire, Eastern Province

WINNERS OF THE ALLAN BORDER MEDAL (Australian Player of the Year)

Glenn McGrath 1999-00; Shane Watson 2009-10, 2010-11; Steven Smith 2014-15; 2017-18, 2020-21

WINNERS OF THE STEVE WAUGH MEDAL (NSW Player of the Year)

Phil Jaques 2005-06; Steven Smith 2009-10, 2011-12

WINNERS OF PLAYER OF THE FINAL AWARDS

First Grade (Benaud Medal): Glenn McGrath 1995-96; Jason Holley 1997-98 First Grade Limited Overs (Michael Bevan Medal): Andre Adams 2009-10 First Grade Twenty20: Jamie Brown 2018-19 Fourth Grade (David Givney Medal): Tom Straker 2020-21 Fifth Grade (James Rodgers Medal): Nathan Whittingham 2018-19 Poidevin-Gray Shield (Shane Lee Medal): Joel Brockley 2011-12, Jack Leaning 2014-15, Jamie Brown 2015-16

S.C.A. CAPTAIN OF THE YEAR AWARDS

Second Grade: Matthew Parker 2005-06; Jason Holley 2008-09; Joel Burnett 2009-10 Fourth Grade: Adrian Craig 2001-02, 2002-03 Fifth Grade: Nathan Whittingham 2018-19, 2019-20

Season Captains

1967-68	Norm O'Neill (1sts), Grant Le Huray (2nds), Bryan Hazell (3rds), Ken Hatherly (4ths)
1986-87	Paul Prichard (1sts), Grahame Barry & Brett Johnson (2nds), Barry Davison (3rds),
	Tom Iceton (4ths), Mick Jones (5ths), Justin Kenny (P-G)
1997-98	Jason Young (1sts), Martin Carroll (2nds), Gavin Kenny (3rds), Adrian Craig (4ths),
	David Costigan (5ths), Matthew Bradley (P-G), Tim Moreland (AWG)
2001-02	Shane Duff (1sts), Tony Clark (2nds), Mathew Duff (3rds), Adrian Craig (4ths), David Givney (5ths), Adrian Ezquerro & Brendan White (P-G), Jasem Rafique (AWG)

PREMIERSHIPS

Season	Team	Captain
1965-66	Fourth Grade	Ross Longbottom
1967-68	Second Grade	Grant Le Huray
	Third Grade	Bryan Hazell
	Fourth Grade	Ken Hatherly
1969-70	First Grade - Rothmans L/O Knockout	Ted Cotton
1970-71	A.W. Green Shield	Ken Rose
1975-76	Third Grade	Grant Murphy
1978-79	Fifth Grade	Ken Lamb
1984-85	A.W. Green Shield	Trent Harvey
1985-86	A.W. Green Shield	Jeff Smith
1986-87	Third Grade	Barry Davison
	Fourth Grade	Tom Iceton
	Fifth Grade	Mick Jones
4007.00	A.W. Green Shield (Joint Premiers)	Darrell Mann
1987-88	Poidevin-Gray Shield	Phillip Weatherall
1988-89	Third Grade	Greg Fitzgerald
1000.00	Poidevin-Gray Shield	Tony Clark
1989-90	A.W. Green Shield	Nathan Morando
1992-93	A.W. Green Shield	Matthew Bradley
1993-94 1995-96	Fourth Grade First Grade	Dominic Watson
1992-90	Second Grade	Rodney Davison Kevin Tuite
1996-97	Second Grade	Kevin Tuite
1990-97	First Grade	Jason Young
1998-99	Third Grade (draw - washed out)	Gavin Kenny
1556-55	Poidevin-Gray Shield	Daniel Godkin
1999-00	Fourth Grade	Blake Hard
1999 00	Fifth Grade	David Givney
2000-01	Fifth Grade	David Givney
2001-02	Fourth Grade	Adrian Craig
2002-03	First Grade Limited Overs	Shane Duff
2006-07	Third Grade	Jason Packer
	Fourth Grade	Joel Burnett
2009-10	First Grade Limited Overs	Matthew Hughston
	Fourth Grade	Chris Macnamara
2011-12	Third Grade	Aaron Phillips
	Fourth Grade	Chris Macnamara
	Poidevin-Gray Shield	Adam Zampa
2014-15	Poidevin-Gray Shield	Jack Leaning
2015-16	Poidevin-Gray Shield	Jamie Brown
2018-19	First Grade Twenty20	Ben Dwarshuis / Steven Smith
2020.24	Fifth Grade	Nathan Whittingham
2020-21	Fourth Grade	James Hawksworth

FINALISTS

Season	Team	Captain
1965-66	Poidevin-Gray Shield	Bruce Hopkin
1966-67	First Grade	Norm O'Neill / Ted Cotton
	Fourth Grade	Ross Longbottom
1968-69	Second Grade	Grant Le Huray
1969-70	Third Grade (draw - washed out)	Barry Pratt
	Poidevin-Gray Shield	Glen Bailey
1970-71	Fifth Grade (draw - washed out)	Stuart Hall
1971-72	Second Grade	Barry Pratt
1972-73	Third Grade	Ross Longbottom (Jnr)
1973-74	Fourth Grade	Grant Murphy
1974-75	Poidevin-Gray Shield	John Dyson
1978-79	A.W. Green Shield	Bill Perrott
1984-85	Fifth Grade	Kevin Rynne
1985-86	Fourth Grade	Tom Iceton
1987-88	Fifth Grade	Mick Jones
1989-90	Fourth Grade (draw - washed out)	Tom Iceton
1992-93	Third Grade	Brett Johnson
	Fourth Grade	Mick Jones
1994-95	A.W. Green Shield	Daniel Godkin
1996-97	First Grade Limited Overs	Jason Young
2000-01	Third Grade	Mathew Duff
2002-03	Poidevin-Gray Shield	Adam Fleming
2006-07	Fifth Grade	David Givney
2009-10	First Grade	Matthew Hughston
	Second Grade	Joel Burnett
2012-13	First Grade	Phil Jaques / Adam Zampa
	A.W. Green Shield	Jonathan Rose
2013-14	A.W. Green Shield	Josh Horner

SEMI-FINALISTS (Top four introduced 1971-72)

Season Team

Captain

1972-73	Second Grade	lan Napper
1973-74	Second Grade (draw - washed out)	Paul McDougall / Merv Black
1975-76	Second Grade	Barry Davison
1976-77	Second Grade	Bryan Dawson
1978-79	First Grade	Alan Campbell / Brian O'Dowd
1980-81	Fifth Grade	Bob Mills
1981-82	Third Grade	Grant Murphy
1984-85	Third Grade	Barry Davison
1985-86	Second Grade	Brett Johnson / Grahame Barry
	Fifth Grade	Craig Holden
1989-90	First Grade	John Dyson
1990-91	First Grade	John Dyson
1991-92	Second Grade	David Givney
	Third Grade	Paul Bourke
	Fifth Grade	Colin Christie
1993-94	Fifth Grade	Bob Duff
	A.W. Green Shield	Ben Kennis
1995-96	Fifth Grade	David Givney
1997-98	Second Grade	Martin Carroll
	Third Grade	Gavin Kenny
	Fourth Grade	Adrian Craig
	Fifth Grade	David Costigan
1999-00	Poidevin-Gray Shield	Phil Jaques
	A.W. Green Shield	Matthew Hughston
2000-01	Second Grade	Tony Clark
2001-02	Second Grade	Tony Clark
	Fifth Grade	David Givney

SEMI-FINALISTS (cont'd)

Season	Team	Captain
2002-03	A.W. Green Shield	Scott Pickering
2004-05	Poidevin-Gray Shield	Matthew Hughston
2005-06	First Grade	Matthew O'Brien
2007-08	Third Grade	Chris Williams
	Fourth Grade	Aaron Phillips
	Fifth Grade	David Givney / John Straker
2008-09	First Grade Twenty20	Steven Smith
	Second Grade	Jason Holley
	Fourth Grade	Ryan Chivers
2010-11	Third Grade	Aaron Phillips
2011-12	Fifth Grade	Greg Horner
	A.W. Green Shield	Trent Smith
2012-13	First Grade Twenty20	Phil Jaques / Adam Zampa
	Third Grade	Joshua Zywietz
2013-14	Fourth Grade	Chris Macnamara
	Fifth Grade	Greg Horner / Hayden Watson
2014-15	First Grade	Nathan Fitzgerald
2015-16	Second Grade	Nathan Whittingham / Scott Pickering
2016-17	First Grade Limited Overs	Ben Dwarshuis / Chris Williams
2017-18	First Grade Twenty20	Chris Williams
	Fifth Grade	Nathan Whittingham
2018-19	National Premier Twenty20	Chris Williams

QUALIFYING FINALISTS (Top six introduced 1998-99)

Season	Team	Captain
1998-99	First Grade	Jason Young
	Fifth Grade	David Givney
2001-02	Third Grade	Mathew Duff
2003-04	A.W. Green Shield	Matthew Cork
2004-05	Fifth Grade	David Givney
2005-06	Third Grade	Lee Malin
	Fourth Grade	Brett Johnson
	A.W. Green Shield	Matthew Morgan
2009-10	A.W. Green Shield	Joel D'Imperio
2010-11	A.W. Green Shield	Jamie Brown
2013-14	Third Grade	Joshua Zywietz
2014-15	Third Grade	Kurt Brown
2015-16	Fifth Grade	Steve Kourouche
2017-18	First Grade	Chris Williams
2018-19	First Grade	Chris Williams
2019-20	Fifth Grade (cancelled)	Nathan Whittingham

QUARTER-FINALISTS (First Grade T20 introduced 2008-09, First Grade L/O, P-G Shield & AWG Shield introduced 2012-13)

Season Team

Captain

2011-12	First Grade Twenty20	Matthew Hughston
2012-13	First Grade Limited Overs	Phil Jaques
	Poidevin-Gray Shield	Adam Zampa / Jamie Brown
2013-14	First Grade Twenty20	Phil Jaques
	Poidevin-Gray Shield	Ben Dwarshuis / Nathan Loder
2014-15	First Grade Limited Overs	Nathan Fitzgerald
2015-16	First Grade Limited Overs	Nathan Fitzgerald / Jack Leaning
	A.W. Green Shield	Luke Hawksworth /
		Austin Waugh / Nick Amos
2016-17	Poidevin-Gray Shield	Daniel Fallins / Tom Doyle
2017-18	First Grade Limited Overs	Chris Williams
2020-21	First Grade Twenty20	Ben Dwarshuis / Daniel Fallins

SUTHERLAND DCC - 1ST GRADE PLAYER NUMBERS

No.	Name	Debut	No.	Name	Debut	No.	Name	Debut
1	Norm O'Neill	25.9.65	56	Chris Russell	2.10.72	111	Gary Richardson	2.10.82
2	Bob Bain	25.9.65	57	Howard Reus	9.12.72	112	Harold Joseph	13.11.82
3	Merv Black	25.9.65	58	Alan Campbell	29.9.73	113	Graham Errington	27.11.82
4	Ted Cotton	25.9.65	59	Andrew Hilditch	29.9.73	114	Justin Kenny	18.12.82
5	Stan Gilchrist	25.9.65	60	Geoff Hilzinger	22.12.73	115	Gavin Kenny	29.1.83
6	Don Harkness	25.9.65	61	Ted Terone	22.12.73	116	Ken Williams	26.3.83
7	Bryan Hazell	25.9.65	62	Geoff Coleman	31.12.73	117	Tim Griffiths	24.9.83
8	Grant Le Huray	25.9.65	63	Bob Waddington	30.3.74	118	George Gazy	5.11.83
9	Ron Neill	25.9.65	64	John Henry	28.9.74	119	Jeff Steed	7.1.84
10	Jack Slattery	25.9.65	65	Peter Cox	28.12.74	120	Keith Meadows	28.1.84
11	Dick Taylor	25.9.65	66	Les Johns	27.9.75	121	Kevin Tuite	3.3.84
12	Bob Cartwright	23.10.65	67	Graham Rose	27.9.75	122	Phil Weatherall	24.3.84
13	Bruce Hopkin	23.10.65	68	Grahame Barry	29.11.75	123	Scott Willis	24.3.84
14	Gary Parker	23.10.65	69	David Russell	13.3.76	124	John Boyd	29.9.84
15	Stuart Toolin	6.11.65	70	Andy Roberts	4.12.76	125	David Niu	29.9.84
	Laurie de Ville	3.1.66	71	Peter Mancell	12.2.77	126	Steve Funnell	3.11.84
	Bevan Gardner	29.1.66	72	Lindsay Joyce	19.3.77	127	John O'Shaughnessy	5.1.85
	John Philip	29.1.66	73	Warren Moodie	24.9.77	128	Mark Chapman	19.1.85
	Les Ritchie	12.2.66	74	Eugene Nix	24.9.77	129	Andrew Walsh	26.1.85
	Bob Wade	12.2.66	75	Alistair Daley	22.10.77	130	Evan Atkins	28.9.85
	Colin Dodd	19.2.66	76	Bruce Malbon	22.10.77	131	David Coppock	28.9.85
	Bob Every	5.3.66	77	lan Everett	17.12.77	132	Nigel Brookes	20.10.85
	Gordon Shrubsole	5.3.66	78	Ken Hudson	17.12.77	133	Ben Connell	20.10.85
	Mike Coleman	24.9.66	79	Fred Timbrell	4.3.78	134	David Simpson	2.11.85
	Bryan Dawson	24.9.66	80	Paul Fisher	2.10.78	135	Richard Bennison	29.12.85
	Barry Pratt	5.11.66	81	Bill Moffatt	2.10.78	136	Rohan Shawl	3.11.85
	Glen Bailey	12.11.66	82	Wayne Larkins	20.1.79	137	Rodney Davison	29.12.85
	Ron Erickson	26.11.66	83	Mark Ridge	27.1.79	138	David Givney	29.12.85
	Kerry Owen	2.10.67	84 85	Mark Preddey	17.2.79	139	Nick Howard	29.12.85
	Graeme Stone	18.11.67	85	Steve Rixon	29.9.79	140	Paul Prichard	11.1.86
	Graeme Marston	20.1.68	86 97	Bob Jordan	20.10.79	141	Tony Clark	22.2.86
	Brian Stephen	20.1.68	87 00	Wayne Heathcote Richard Williams	1.12.79	142 143	Jason Horn	26.10.86
	Barry Davison	28.9.68	88		1.12.79		Martin Wood	13.12.86
	Warren Smith Kel Symons	28.9.68 7.12.68	89 90	Kerry Richards	29.12.79 2.2.80	144 145	Greg Fitzgerald Jonathan Clark	17.1.87 20.12.87
	Phil Atkins			Wayne Wishart	27.9.80			
	Allen Humphries	11.1.69 11.1.69	91 92	Bob Buckland Peter Ferguson	27.9.80	146 147	Greg Horner Geoff Barron	24.1.88 24.9.88
	Adrian Worrell	11.1.69	92 93	David Pratt	18.10.80	148	Paul Bourke	24.9.88 24.9.88
	Paul McCann	1.2.69	94	lan Moore	15.11.80	149	Darrell Mann	24.9.88
	Alan Griffiths	27.9.69	95	Malcolm McCool	22.11.80	150	Greg Davison	14.10.89
	Peter Carpenter	6.10.69	96	lan Stephen	22.11.80	151	Glenn McGrath	16.12.89
	Paul Venn	19.10.69	97	Paul Clark	13.12.80	152	Shane Duff	3.11.90
	Robert Thomas	8.11.69	98	Kevin Humphreys	14.3.81	153	Craig Parsons	2.2.91
	Graeme Warry	10.1.70	99	Matt Appleton	26.9.81	154	Trent Woodhill	16.11.91
	John Bolster	3.10.70	100	Stephen Bray	17.10.81	155	Blake Hard	4.1.92
	Bruce Warwick	3.10.70	101	Brett Johnson	24.10.81	156	Brett Kirby	15.2.92
	Jim Ford	2.1.71	102	Mark Gardner	31.10.81	157	Tom Iceton	14.3.92
	Paul McDougall	16.1.71	103	Robert Archibald	28.11.81	158	Stuart Clark	10.10.92
	Bryan Gorman	23.1.71	104	Duncan Lang	28.11.81	159	Martin Carroll	28.11.92
	Bob Duff	25.9.71	105	Peter Wilson	28.11.81	160	Jock Campbell	20.2.93
	lan Napper	7.11.71	106	Stuart Keers	9.1.82	161	Tim Brennan	25.9.93
	Alan Manzie	20.11.71	107	Darren Smith	13.2.82	162	Matthew O'Brien	17.10.93
	Steve Boehm	11.12.71	108	Graham Arnold	6.3.82	163	Jason Holley	30.10.93
54	John Dyson	2.10.72	109	Ken Rose	20.3.82	164	Jason Packer	31.10.93
55	Brian O'Dowd	2.10.72	110	Len Pascoe	2.10.82	165	Linton Ball	27.11.93

SUTHERLAND DCC - 1ST GRADE PLAYER NUMBERS

No.	Name	Debut	No.	Name	Debut	No.	Name	Debut
166	Jamie Hall	3.1.94	205	Mark Powell	15.11.03	244	Kyle Brockley	13.10.12
167	Danny Johnson	30.1.94	206	Nathan Fitzgerald	29.11.03	245	Jamie Brown	14.10.12
168	Darren Holley	12.2.94	207	Daniel Rixon	21.12.03	246	Ben Dwarshuis	14.10.12
169	Duncan Coots	24.9.94	208	Tim Freeburn	25.9.04	247	Grant Davies	4.11.12
170	Darren Mitchell	24.9.94	209	Michael Hansen	25.9.04	248	Daniel Fallins	28.9.13
171	Daniel McLauchlan	19.11.94	210	James Benning	7.11.04	249	Michael Holmes	28.9.13
172	Matthew Bradley	4.2.95	211	Shane Wallace	7.11.04	250	Peter Saroukos	28.9.13
173	Stuart MacGill	23.9.95	212	Matthew Parker	13.11.04	251	Riley Ayre	12.10.13
174	Mathew Duff	9.3.96	213	Joel Tuccia	12.3.05	252	Jack Leaning	27.10.13
175	Daniel Godkin	9.3.96	214	Peter Dugmore	24.9.05	253	Adam Whatley	3.11.13
176	Brad Guthrie	28.9.96	215	Tim Bresnan	15.10.05	254	Tom Pinson	14.12.13
177	Jason Young	28.9.96	216	Steven Smith	19.11.05	255	Jonathan Rose	8.3.14
178	Phil Jaques	4.10.97	217	John Derwent	25.3.06	256	Dylan Smith	20.12.14
179	Scott Manning	2.11.97	218	David Binggeli	14.10.06	257	Devlin Malone	10.1.15
180	Paul Byrom	11.10.98	219	Chris Williams	14.10.06	258	Jarryd Biviano	26.9.15
181	Chris Lake	18.10.98	220	Anthony Clarke-Bruce	29.10.06	259	Lachlan Ferguson	26.9.15
182	Matthew Probert	12.12.98	221	David Murphy	29.10.06	260	Tom Doyle	27.9.15
183	David Celep	9.1.99	222	Nathan Rowe	22.9.07	261	Jason Hayward	27.9.15
184	Paul Sutherland	25.9.99	223	Joel Burnett	18.11.07	262	Luke Hawksworth	19.12.15
185	Graeme Warren	29.1.00	224	Jasem Rafique	9.12.07	263	Michael Barry	24.9.16
186	Adrian Ezquerro	12.2.00	225	Louis Talay	15.12.07	264	Jack Shantry	22.10.16
187	Andrew Northridge	12.2.00	226	Stephen Cush	16.2.08	265	Sibghat Khan	31.10.16
188	Adam Fleming	24.2.01	227	Scott Pickering	1.3.08	266	Jake Wilson	19.11.16
189	Richard King	22.9.01	228	Nic Maddinson	27.9.08	267	Jayden Brown	4.12.16
190	Robert Smith	22.9.01	229	Michael Maclennan	27.9.08	268	Austin Waugh	23.9.17
191	Nathan Rosser	20.10.01	230	Joe Yovich	27.9.08	269	Nick Amos	14.10.17
192	Luke Dudman	3.11.01	231	Ben Marciante	26.10.08	270	Steven Milliken	11.11.17
193	Greg Lambert	2.12.01	232	Chad Gilmour	15.11.08	271	Aiden Bariol	22.9.18
194	Kurt Thessman	2.12.01	233	Nathan Whittingham	28.2.09	272	Flynn Parker	22.9.18
195	Jess Hancock	8.12.01	234	Andre Adams	5.10.09	273	Liam Hehir	28.9.19
196	Grant Roden	28.9.02	235	Adam Zampa	25.9.10	274	Pushpinder Singh	27.10.19
197	Peter Wooden	28.9.02	236	Joel Brockley	9.10.10	275	James Arnold	2.11.19
198	Daryl Tuffey	5.10.02	237	Kurt Brown	18.10.10	276	Josh Horner	9.1.20
199	Matthew Hughston	9.11.02	238	Matthew Hopkins	22.1.11	277	Andrew Ritchie	14.3.20
200	Brad Roach	10.11.02	239	Mitch Brown	24.9.11	278	Ethan Deal	26.9.20
201	Wes Croese	27.9.03	240	James Bills	22.10.11	279	Tushaar Garg	26.9.20
202	James Franklin	27.9.03	241	Kerrod White	23.10.11	280	Callum Weatherall	28.11.20
203	Luke Fleming	4.10.03	242	Shayne Smith	4.12.11	281	Justin Green	6.12.20
204	Cameron Belshaw	12.10.03	243	Shane Watson	11.2.12			

NORM O'NEILL CUP & MEDAL WINNERS

Season	Winner	Match Result	Medal Winner
2008-09	Sutherland	Sutherland won by 143 runs (L/O)	Stephen Cush (Suth – 149*)
2009-10	Sutherland	Sutherland won by 53 runs on 1st inns	Steven Green (StG – 7-43)
2010-11	Sutherland	Match drawn (Cup retained by Suth)	Phillip Wells (StG – 134*)
2011-12	St.George	St.George won by 28 runs on 1st inns	Trent Copeland (StG – 33 & 6-46)
2012-13	Sutherland	Sutherland won by 9 wickets (L/O)	Phil Jaques (Suth – 120)
2013-14	N/A	No match played	
2014-15	Sutherland	Sutherland won by 3 wickets (L/O)	Matthew Hughston (Suth – 79*)
2015-16	St.George	St.George won by 3 wickets	Rory Burns (StG – 118)
2016-17	St.George	St.George won by 4 wickets (L/O)	Nathan Ellis (StG – 5-17)
2017-18	Sutherland	Sutherland won by 153 runs	Shane Watson (Suth – 184)
2018-19	Sutherland	Sutherland won by 9 wickets	Jake Wilson (Suth – 6-42)
2019-20	N/A	No match played	
2020-21	St.George	St.George won by 126 runs (L/O)	Tom Engelbrecht (StG – 58 & 2-40)

SUTHERLAND DCC - 1ST GRADE CAPTAINS

No.	Name	1st Season	Matches Captained			ned
		Captained	1sts	L/O *	T20 *	Total
1	Norm O'Neill	1965-66	28	1		29
2	Bryan Hazell	1965-66	7	_		7
3	Ted Cotton	1966-67	42	5		47
4	John Bolster	1970-71	30	2		32
5	Jack Slattery	1971-72	2			2
6	Barry Pratt	1972-73	15	3		18
7	lan Napper	1973-74	45	7		52
8	Alan Campbell	1975-76	45			45
9	Brian O'Dowd	1978-79	22			22
10	Peter Ferguson	1980-81	15			15
11	Steve Rixon	1981-82	35	2		37
12	Grahame Barry	1981-82	8			8
13	Barry Davison	1982-83	8			8
14	Graham Errington	1983-84	33			33
15	Len Pascoe	1985-86	13			13
16	Justin Kenny	1985-86	1	4		5
17	Paul Prichard	1986-87	14	2		16
18	Mark Chapman	1987-88	3			3
19	John Dyson	1988-89	77	3		80
20	Phil Weatherall	1989-90	4			4
21	Evan Atkins	1993-94	15	8		23
22	Rodney Davison	1995-96	15	4		19
23	Darren Mitchell	1995-96	14			14
24	Jason Young	1996-97	66	10		76
25	Shane Duff	2001-02	39			39
26	Phil Jaques	2003-04	40		7	47
27	Matthew Bradley	2003-04	15			15
28	Matthew O'Brien	2003-04	37			37
29	Michael Hansen	2004-05	19			19
30	Jason Holley	2006-07	19			19
31	Steven Smith	2008-09	6		7	13
32	Michael Maclennan	2008-09	3			3
33	Matthew Hughston	2008-09	61		2	63
34	Adam Fleming	2010-11	1			1
35	Adam Zampa	2012-13	7		2	9
36	Mitch Brown	2013-14	1			1
37	Nathan Fitzgerald	2014-15	26		4	30
38	Ben Dwarshuis	2015-16	17		19	36
39	Jack Leaning	2015-16	1		-	1
40	Chris Williams	2016-17	69		11	80
41	Daniel Fallins	2020-21			1	1
	_					

* Limited overs & T20 matches not part of main 1st Grade competition. Includes National Premer T20 introduced 2018-19.

AWARD WINNERS EACH SEASON

James A. Daly Memorial Award (Player of the Year)

1974-75 Alan Campbell	1975-76 Geoff Glover	1976-77 Bruce Booker	1977-78 Steve Wishart	1978-79 Gary Rose
1979-80 Robert Noyes	1980-81 Ken Rose	1981-82 Grahame Barry	1982-83 Paul Clark	1983-84 Paul Clark
1984-85 Barry Davison	1985-86 Barry Davison	1986-87 Geoff Coleman	1987-88 Geoff Coleman	1988-89 Kevin Tuite
1989-90 Blake Hard	1990-91 Phil Weatherall	1991-92 Tony Clark	1992-93 Tony Clark	1993-94 Tony Clark

	Tom lceton Club Person of the Year Award	Ted Cotton Memorial Award (Players' Player of the Year)	•	Margaret Mann Memorial Award (Under 21 Player of the Year)	Ken Gardner Memorial Award (Under 16 Player of the Year)	"Tradies" SDCC AW Green Shield Encouragement Award	Bob Every Encouragement Award
1994-95 1995-96 1996-97 1997-98 1998-99 1999-00	Ian Lumb Kevin Tuite Tom Iceton Greg Ball Geoff & Maureen		Jason Packer Phil Purcell Adrian Craig Jason Holley Andrew Northridge Jason Dunbar	Jamie Hall Andrew Northridge Matthew Bradley Daniel McLauchlan Philip Jaques Philip Jaques	Troy Fenech Michael Culkoff Luke Dudman Luke Dudman Matthew Hughston		
2000-01 2001-02 2002-03 2003-04 2004-05 2005-06 2006-07	Bradley John Houston Tony Clark Tom Iceton Ray Brennan Grant Roden Bob Manning Allan & Helen Morgan	David Eaglesham Tony Clark Brody Harwin Matthew O'Brien Luke Dudman Mathew Earley	Tony Clark David Eaglesham Tony Clark David Celep Steven Smith Luke Dudman Steven Smith	Adrian Ezquerro Luke Dudman Adam Fleming Luke Dudman Steven Smith Steven Smith Steven Smith	Michael Elliott Chris McCarron Jay Davis Daniel Simpson Steven Smith Grant Davies Ben Marciante	Alec Judd Nick Sharman	
2007-08 2008-09 2009-10 2010-11 2011-12 2012-13 2013-14 2014-15 2015-16 2016-17	Tom Iceton Philip Jaques Nathan Fitzgerald Lee Prescott Kylie Smith Allison Brockley Paul Brockley Susan Whatley Phil Kendall Tracey Doyle & Jackie Fallins	Steven Smith Matthew Bradley Scott Dawes Adam Fleming Luke Dudman Nathan Fitzgerald Chris Macnamara Mitch Brown Matthew Hughston Joel Almond	Steven Smith Steven Smith Scott Dawes Adam Fleming Joel Brockley Matthew Hughston Chris Macnamara Mitch Brown Devlin Malone Daniel Fallins	Steven Smith Ben Marciante Joel Brockley Kerrod White Joel Brockley Ben Dwarshuis Jack Leaning Jamie Brown Devlin Malone Daniel Fallins	Mark Rice Dylan Smith Shayne Smith Jamie Brown Trent Smith Tom Doyle Josh Horner James Arnold Nick Amos Tyson Gilbert	Shayne Smith Adam Whatley Ben Dwarshuis Brendan Drury Daniel Fallins Jonathan Rose Colin D'Arcy Alex Lee Cameron Creighton Lachlan Johnson	Joel Tuccia Chad Gilmour Joel Brockley Liam Casey Shayne Smith Ben Dwarshuis Tom Pinson Jamie Brown Daniel Fallins Tom Doyle
2017-18 2018-19 2019-20 2020-21	Phil Weatherall Jarryd Biviano Steve Kourouche Malcolm Trees	Nathan Whittingham Daniel Rixon Ben Williams Zac Philipson	Nathan Whittingham Daniel Rixon Daniel Fallins Daniel Fallins	Nick Amos Aiden Bariol Ethan Deal Justin Green	Justin Green Ethan Deal Hayden Lindsay Luke Cutcliffe	Kieran Weatherall David Niumataiwalu Luke Ritchie Sam FitzGibbon	Jarryd Biviano James Arnold Nick Amos Andrew Ritchie

OFFICE BEARERS

PATRON

2015-21

1965-67	Arthur Mailey	
1967-77	Arthur Bombell	
1977-88	Ross Cribb	
1988-02	Alan Cramond	
2002-12	Geoff Coleman	
2012-21	Bob Every	
PRESIDEN	т	
1965-66	Don Stewart	
1966-76	Bryan Hazell	
1976-88	Alan Cramond	
1988-94	Tom Iceton	
1994-00	Geoff Coleman	
2000-06	Brett Johnson	
2006-15	Steve Rixon	

Mathew Duff

DEPUTY PRESIDENT

1966-68 Arthur Bombell

1969-72 Mort Edson

1976-78 Bryan Hazell

1978-79 Grant Murphy 1979-80 Gordon Anderson

1980-92 Geoff Glover 1992-94 Kevin Humphreys

2015-19 Evan Atkins

1965-66

1968-69

1972-76

1994-95

1995-00

2000-04

2004-15

2019-21

Bryan Hazell

Gordon Anderson

Ron Neill

John Dyson

Harry Peters

Mathew Duff

Bob Duff

Paul Burg

SECRETARY

TREASURER

1965-79	John Smythe	1965-71	Len Gillam
1979-81	Grant Murphy	1971-78	Kevin Fennell
1981-82	Ken Lamb	1978-79	Reg Hobden
1982-83	Don Masters	1979-80	Fred Malbon
1983-88	Tom lceton	1980-83	Tom Iceton
1988-92	Kevin Humphreys	1983-84	John Hannigan
1992-94	Kevin Holley	1984-89	Stan Steed
1994-95	Colin Christie	1989-95	David Givney
1995-06	David Givney	1995-02	Adrian Craig
2006-09	Mark Chapman	2002-04	Tom Iceton
2009-11	Craig Rice	2004-06	Bob Manning
2011-15	Evan Atkins	2006-21	Tom Iceton
2015-21	David Cush		

DELEGATES TO N.S.W.C.A. / S.C.A.

N.S.W.C.A		S.C.A.	
1965-67	Don Harkness	1986-89	Geoff Glover
1965-78	Bryan Hazell	1986-21	Tom Iceton
1967-68	Norm O'Neill	1989-90	John Dyson
1968-69	Ted Cotton	1990-92	Mark Chapman
1969	Ron Neill	1992-95	Kevin Humphreys
1969-79	John Smythe	1995-01	Mathew Duff
1978-84	Alan Cramond	2001-10	Ray Brennan
1979-85	Grant Murphy	2010-11	Craig Rice
1984-86	Tom Iceton	2011-21	Evan Atkins
1985-86	Geoff Glover		

1990-21 Tom lceton

There were no delegates from clubs to N.S.W.C.A. from 1986-87 to 1989-90. Tom Iceton served as a delegate from S.C.A. to N.S.W.C.A. 1987-90.

CHAIRMAN OF SELECTORS

1970-72	Mort Edson	1982-83	Steve Rixon
1972-73	Ross Longbottom, Snr	1983-84	Ken Lamb
1973-76	Gordon Anderson	1984-92	Tom Iceton
1976-77	Bob McDonald	1992-94	John Dyson
1977-79	Gordon Anderson	1994-04	Bob Duff
1979-81	Grant Murphy	2004-13	Evan Atkins
1981-82	Barry Davison	2013-21	Phil Weatherall

OTHER COMMITTEE POSITIONS

Roy Amos Gordon Anderson Brian Ansell Evan Atkins	2019-21 1976-79 1968-69 1990-94, 2000-11	John Hannigan Don Harkness Ken Hatherly Andrew Hilditch	1982-83, 1984-86 1965-68, 1969-71 1966-70 1979-81
Bill Bailey	1970-71	Reg Hobden	1965-68
Bob Bain	1969-70	Jason Holley	2007-10
Linton Ball	1994-95	John Houston	2001
Grahame Barry	1982-90	Matthew Hughston	2011-13
Merv Black	1967-69	Kevin Humphreys	1987-88
Geoff Blundell	1965-69	Tom Iceton	1978-80, 1994-02, 2004-06
Steve Boehm	1973-74	Brett Johnson	1993-94
John Bolster	1971-72	Lindsay Joyce	1978-81
Arthur Bombell	1965-66	John Kenny	1983-87, 1988-89
Geoff Bradley	1997-00	Rex King	1965-67
Matthew Bradley	2007-08	Ken Lamb	1980-81, 1982-84
Ray Brennan Paul Burg	1995-98, 2000-10 2013-19	Duncan Lang Des Lawrence	1988-89
Joel Burnett	2013-19 2009-14		1968-69
	1975-77	Grant le Huray Ian Lumb	1967-70 1995-97
Alan Campbell Peter Carpenter	1971-75	Fred Malbon	1974-78
Mark Chapman	1989-94, 2002-06	Claude Mann	1989-94
Ryan Chivers	2015-16	Bob Manning	2002-04, 2010-15
Colin Christie	1990-93	Geoff Marston	1971-75
Graham Chudleigh	1972-73, 1980-81	Graeme Marston	1971-73
Stuart Clark	2018-21	Bob McDonald	1974-79
Geoff Coleman	1978	Paul McDougall	1972-73
Malcolm Condon	1994-95	Carl McGinn	1969-71, 1973-75
Ben Connell	2017-18	George Merritt	1967-70
Ted Cotton	1965-71	Grant Murphy	1974-78
Andrew Cover	1979-80	lan Napper	1971-76
David Cush	2010-15	Ron Neill	1965-68
Jim Daly	1965-72	Brian O'Dowd	1973-74, 1979-81
Barry Davison	1986-88	Norm O'Neill	1965-68
Bryan Dawson	1973-75 <i>,</i> 1976-77	Peter O'Rourke	1995
Bob Duff	1993-00 <i>,</i> 2004-05	Harry Peters	1994-95
Mathew Duff	1995-04	Barry Pratt	1972-74
Shane Duff	2016-21	Ken Prendergast	1970-75
Jason Dunbar	1998-01	Lance Ray	1969-70
John Dyson	1989-93	Howard Reus	1975-76
Mort Edson	1968-69	Les Ritchie	1968-70, 1972-73
John Fleming	2001-02	Steve Rixon	1979-81, 1989-90
Murray French	1970-71	Kevin Rynne	1986-89
Bob Gamble	1969-70	Gordon Shrubsole	1970-71
Ken Gardner	1982-86	Jack Slattery	1970-72
David Gazzard Stan Gilchrist	1970-71 1965 66 1969 70	Peter Smith	2006-11
	1965-66, 1969-70	Kel Symons Paul Venn	1969-70
David Givney Geoff Glover	1987-89, 2006-07 1974-76, 1978-80	Graham Warry	1977-78, 2005-07 1972-74
Bryan Gorman	1974-70, 1978-80	Rod Whatley	2015-17
Brian Hall	2011-21	Nathan Whittingham	2013-17
Stuart Hall	1969-72		
Staart nuit	100072		

Filename: Directory:	Full report 2021.docx
	/Users/graphicdesigner3/Library/Containers/com.microsoft.Word/D
ata/Documents	
Template:	/Users/graphicdesigner3/Library/Group
Containers/UBF8T3	346G9.Office/User
Content.localized/1	Femplates.localized/Normal.dotm
Title:	
Subject:	
Author:	Tom Iceton
Keywords:	
Comments:	
Creation Date:	09/12/2021 08:37:00
Change Number:	2
Last Saved On:	09/12/2021 08:37:00
Last Saved By:	Jarryd Biviano
Total Editing Time:	1 Minute
Last Printed On:	09/12/2021 08:37:00
As of Last Complete Pri	nting
Number of Pages:	116
Number of Words:	17,332 (approx.)
Number of Charact	ers: 98,797 (approx.)



